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PREFACE

In the years that I have spent both as an accountancy student and as a
lecturer to accountancy students, I have consulted a good many ac-
countancy textbooks. Unfortunately, no single textbook has ever met
my specific requirement, which is to summarise concisely the subject
of financial accounting within a reasonable space. My opportunity to
remedy this situation has now arrived! The technique that I have adopted
as far as possible is to summarise the objective of each technique covered,
set out the special accounts required and the purpose of each, summarise
the double entry of normal transactions involved, and provide a worked
example to bring the whole together. In order to make the information
most easily assimilated, I have used charts to set out the purpose of
special accounts and summarise the double entry.

The text takes into account the Companies Act 1985, and at the time
of writing SSAP 23 is the most recent Accounting Standard. I have
deliberately excluded those areas that I consider to be advanced financial
accounting such as merger accounting, inflation and current cost ac-
counting, deferred tax, and the details of earnings per share. At the other
extreme, the text commences with a consideration of book-keeping tech-
niques so far as the examination student is concerned; it is not intended
to be a full treatise on the subject of book-keeping in practice.

I trust that the final work will prove invaluable to examination students
at all levels, as well as enlightening to those to whom accountancy is a
mystery! Finally, I wish to acknowledge the assistance of my former
colleagues Steve Lumby, in getting the project off the ground, and Peter
Bruff, in teaching me the greater part of what I know; also to thank
Ellen and Sophia for their secretarial abilities.

London A.K.J.S.



GLOSSARY

GLOSSARY

ACCOUNT PAYABLE - an alternative term for ‘creditor’.

ACCOUNT RECEIVABLE - an alternative term for ‘debtor’.

ACCRUAL -an amount recognised in the Profit and loss account of a
period which differs from the period in which the item is settled.

ALLOTMENT - the assignment of shares to particular holders. At this
stage the holder acquires the unconditional right to be entered in the
register of members.

AMORTISATION - depreciation of an asset with a definite useful life,
e.g. alease.

ASSET - an item of property or a resource that is expected to confer an
economic benefit.

AUTHORISED SHARE CAPITAL - the term usually used to describe the
maximum number of shares at nominal value which a company may
issue, as stated in its Memorandum of Association.

BAD DEBT - a debt which, it is assumed, will never be paid.

BASIC RESEARCH - an alternative term for ‘pure research’.

BONUS ISSUE -an issue of bonus shares, normally to existing share-
holders and in proportion to their existing holdings.

BOOK VALUE -the amount at which an item is stated in accounts.

CALL -a demand by a company for the payment of part or all of unpaid
nominal share capital.

CALLED-UP SHARE CAPITAL - the nominal value of shares allotted by
a company, including the amount of any calls made but not yet paid.

CAPITAL EMPLOYED - a general term used to describe funds invested in
a business. Alternatives include shareholders’ capital employed (i.e.
share capital and reserves) and total capital employed (i.e. shareholders’
capital employed plus long-term loans).

CAPITAL EXPENDITURE - expenditure to acquire or add to fixed assets,
or which increases the capacity, efficiency or useful life of an existing
fixed asset.

CAPITALISATION ISSUE - an alternative term for ‘bonus issue’.

CARRYING AMOUNT - an alternative term for ‘book value’.

CONSERVATISM - an alternative term for ‘prudence’.

CONTINGENCY - a condition which exists, the outcome of which depends



XV

upon an uncertain future event. The key element of a contingency is
that it may or may not happen.

CONTRA -the process of netting two equal and opposite entries or
balances.

CURRENT ASSET - an asset which is not intended for use on a continuing
basis. Such an asset is expected to be sold or consumed in the ordinary
course of business and within one year.

CURRENT LIABILITY - a financial obligation or liability falling due for
payment within one year.

DEFALCATION - the misappropriation of property by a person entrusted
with that property. The term normally extends to false accounting
entries made to cover the loss.

DELINQUENT ACCOUNT RECEIVABLE -an alternative American term
for a bad or overdue account.

DISTRIBUTABLE PROFITS - profits or reserves which are available to
a company for the payment of dividends.

DOUBTFUL DEBT - an alternative term for ‘bad debt’.

EQUITY - the residue left after subtracting liabilities of a business from
assets. Equity capital is that contributed in return for a share in any
distribution, either by way of dividend or on a winding-up, and norm-
ally carries votes.

EXTENDED TRIAL BALANCE -a Trial balance to which additional
columns are added to allow for adjustments, and the preparation of
Profit and loss account and Balance sheet.

FAIR VALUE - the amount at which an asset could be exchanged in an
arm’s-length transaction.

FIXED ASSET -an asset intended for use on a continuing basis in a
business’s activities.

FOLIO -two facing pages of an account book, normally given the same
reference number.

HISTORIC COST -the actual cost of acquiring or producing an asset.
INTANGIBLE ASSET - an asset in action (as opposed to a physical asset),
e.g. know-how, goodwill, right to the use of a process.

INVENTORY - an alternative term for ‘stocks and work-in-progress’.

LIABILITY - an obligation or claim against a business which will be
settled by the transfer of assets.
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MONETARY -an asset or liability whose value is dependent on the unit
of currency in which it is measured, rather than upon any future
purchase or selling prices.

NET WORKING CAPITAL -the excess of current assets over current
liabilities. In the context of a funds statement it may exclude cash.

PAID-UP SHARE CAPITAL - the amount of allotted and called-up share
capital for which payment has been made.

PROVISION -the estimate of a liability where the exact amount or
timing of payment is uncertain. The term is also used in relation to
periodic charges such as depreciation or bad debts.

RECOVERABLE AMOUNT - the amount which is recovered from an
asset; it is the higher of the asset’s net realisable value and the value
arising from its use (or economic value).

RESERVE - profits or surpluses set aside by a company in excess of its
known liabilities and which have not been distributed to shareholders.

REVENUE EXPENDITURE - expenditure which is expected to benefit
only the current period.

SCRIP ISSUE - an alternative term for ‘bonus issue’.
TANGIBLE ASSET - a physical asset.
WORKING CAPITAL -a general term describing stocks, debtors, cash

and creditors, i.e. those items used to conduct the day-to-day operations
of a business.
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CHAPTER 1 3

ACCOUNTING OBJECTIVES

1.1 BUSINESS STRUCTURES

So! You think you’re interested in accountancy! You should be warned
at this early stage that your interest may have two serious consequences.
The first is that you may end up earning a living from it. The second is
that people may class you as the Brain of Britain. This latter effect stems
from the public at large refusing to have anything whatsoever to do with
adding up (let alone taking away!). It was something they could not under-
stand at school, and assumed it could be avoided thereafter. Accountancy
appears to them as a closed book. Unfortunately the day does arrive when
the closed book is needed, together with an interpreter (and come to that
an author as well!).

This is where the accountant finds his enviable role in society, earning a
living from doing something that the general public have told themselves
they cannot possibly do!

What, in a nutshell, does an accountant do?

This book is concerned with financial accounting. This in essence is
the preparation of accounts for various classes of business. All courses in
accountancy will have some element of financial accounting, although it
may be referred to as ‘bookkeeping’ or simply ‘accounts’. We can identify
three distinct areas of study. These are:

1 Preparation and maintenance of accounting records;
2 Preparation of final accounts; and
3 Interpretation of the final accounts.

This last area is often overlooked by students, as well as in practice. Since
the accountant is the person who prepares the accounts, he or she is in
the unique position to understand what they mean. Without the expla-
nation, the figures themselves are rather pointless.



Thus, the accountant’s task extends well beyond how to add up and
take away. It must start with an understanding of the business with which
he or she is dealing.

This is to be our starting-point. This chapter examines the different
kinds of business structures commonly encountered as a foundation upon
which to understand their accounts.

1.1.1 Sole trader

The simplest type of business structure. A single private individual decides
to set up a business. There are no legal formalities to set up, carry on or
terminate the business. The name used may be that of the proprietor or
some other name. Legally there is no distinction between the proprietor
and the business, and an aggrieved customer claiming ‘I'll take you for
every penny you’ve got’ could certainly try. One outside interested party
would be H. M. Inspector of Taxes, who would maintain a more than
healthy interest in any profit that the business made. Such profit would
be part of the proprietor’s personal taxable income.

1.1.2 Partnership

Two or more private individuals join together in business, e.g. solicitors.
The partners must agree the management and financial arrangements
between themselves, and this is normally written down in case of disagree-
ment. An Act of Parliament does exist (The Partnership Act 1890), but is
applied only when the partners have failed to cover some point in their
written agreement, so that subject to their own agreement the partneis
may set up, carry on and terminate their business without legal formalities.
The name of the business may be the names of all the partners strung
together, e.g. Smith, Smith, Jones and Smith, or some other name, e.g.
The School of Accountancy. As with a sole trader there is no legal dis-
tinction between the business and the partners, any of whom are privately
liable for the business debts. H. M. Inspector of Taxes will wish to know of
any profit earned in order to tax it, and will share the burden of tax
between the partners.

1.1.3 Limited companies

A limited company, or more properly limited liability company, is a
separate legal person in its own right. There is a wealth of legislation,
contained in the various Companies Acts, governing the formation, continu-
ation and termination of a company. The ‘owners’ of the company are
the shareholders, whose personal liability for the debts of the company is



limited to the shares they have purchased, hence the term ‘limited liability
company’. An aggrieved customer could sue the company, but could not
sue the shareholders. The shareholders may be directly involved in the
company’s management; this is more likely if the company is small.
However, in a larger company the shareholders will take no part in day-
to-day management. This is delegated to the directors, who are paid fees
and possibly a salary. The company’s name will always include the word
‘limited’, e.g. J. Smith (Butcher) Limited, Marks & Spencer Plc. Plc stands
for ‘public limited company’. The distinction between ‘limited’ and ‘Plc’
is dealt with in Chapter 8.

As regards taxation the company is dealt with as a separate taxable
person, liable to pay tax (called corporation tax) on its profits. The
shareholders receive a dividend each year, and it is that on which they will
account for personal income tax.

1.2 PURPOSE OF ACCOUNTS

Once we have identified the people interested in each business we can
identify why they are interested and, more particularly, why they are
interested in financial information.

Business Interested person Reason
structure
Sole trader Proprietor Has a profit or a loss been made?

How much can be withdrawn?
What is the business worth?
H. M. Inspector of Taxes How much tax must be paid?
Bank manager Is the business a safe risk for
lending money?

Partnership Partners Has a profit or a loss been made?
How is it to be shared out be-
tween the partners? How much can
each partner withdraw? What is
the business worth?

H. M. Inspector of Taxes How much tax must be paid? How
is it to be shared out between the
partners?

Bank manager Is the business a safe risk for

lending money?

Limited Directors How are we managing the company?
company Have our decisions resulted in a

profit or loss? How much dividend

do we recommend to the shareholders?
What is the company worth?




Business Interested person Reason
structure

Shareholders How are the directors managing
the company? Is our investment
secure? Does our investment show
a good return?

H. M. Inspector of Taxes How much tax must be paid?
General public Who is responsible for the
company’s actions?
Bank manager Is the company a safe risk for
(and other lenders lending money?
of money)
Employees/unions Can the company afford to give us
a pay rise?

In the case of the sole trader and the partnership accounts are not generally
available to the public. However, in the case of a limited company accounts
are placed on public file at Companies House, and may be viewed by the
public.

1.3 TYPES OF FINANCIAL STATEMENT

The term ‘financial statement’ covers any statement of financial infor-
mation. Various forms have been developed to answer the questions raised
in the previous section. At this stage we are particularly interested in two
forms of statement. These are the Profit and loss account, and the Balance
sheet. Once these have been grasped, other forms will be considered.

Financial Structure Supplementary statements
statement i
Profit and loss List of revenues and expenses in Trading a/c
a/c order to show the net profit or Manufacturing a/c
loss in a specified period of time Appropriation a/c
Balance sheet List of assets and liabilities in order

to show the net value of the busi-
ness at a specific point in time, and
to identify the claims of any outside
parties on those assets.

It can be seen that the first statement, the Profit and loss account, covers
a period of time which is called the ‘accounting period’; it shows whether
the business has been a financial success or failure. The second statement,
the Balance sheet, shows the position at one specific point in time, norm-



ally the last day of the accounting period; it is rather like a financial
photograph.

These two financial statements form the basis of a ‘set of accounts’.
In the next two chapters we will consider the preparation of Profit and
loss accounts and Balance sheets of sole traders.



8 CHAPTER 2

DOUBLE-ENTRY

BOOK KEEPING

2.1 THE ACCOUNTING EQUATION
2.1.1 The basic equation

For the past 500 years a system called ‘double entry’ has been in oper-
ation. All modern accounts use this system. It recognises that each trans-
action has two aspects. Let’s start at the beginning of a business. At the
outset of a business the proprietor introduces cash (say £1,000). The
business now has an ASSET (the £1,000 cash); and the proprietor has
introduced CAPITAL (of £1,000). The two are equal. Thus we can say:

ASSETS = CAPITAL

Cash £1,000 = Capital introduced £1,000

Suppose now that £600 of the cash is used to buy a van. The business
now has two assets. One asset has decreased; cash decreases to £400.
Another asset increases; the van is worth £600. The equation still stands.

ASSETS CAPITAL

Cash £400 + Van £600 Capital introduced £1,000

Total £1,000

Suppose now that the proprietor borrows £300 from the bank. An asset
is increased; cash increases by £300 to £700. However, the business now
owes the bank £300. This £300 owed to the bank is called a LIABILITY,
and enters our equation thus:



ASSETS CAPITAL + LIABILITIES

Cash £700 + Van £600 = Capital introduced Loan owed
£1,000 +:to bank £300

Total £1,300 Total £1,300

Alternatively, we could write the equation

ASSETS — LIABILITIES CAPITAL
Cash £700 + Van £600 — Capital introduced £1,000
Loan owed to bank £300

Total £1,000

It is in this form that the equation is normally written.

To increase an asset we can *  increase capital

or * increase a liability

or #* reduce another asset
To reduce an asset we can  * reduce capital

or * reduce aliability

or * increase another asset

Provided we do the same thing to both sides of the equation, or equal and
opposite things to the same side, it will continue to balance.

2.1.2 Debit and credit

For convenience we will adopt a convention in order to tell more easily
what individual changes are doing. Any item which appears positive on
the left side of the equation, i.e. assets, are deemed DEBIT items. Any
item which appears negative on the left side of the equation, i.e. liabilities,
are deemed CREDIT items. Any item which appears positive on the right
side of the equation, i.e. capital, is deemed a CREDIT item.

DEBIT appears on the LEFT as a POSITIVE
or the RIGHT as a NEGATIVE

CREDIT appears on the RIGHT as a POSITIVE
or the LEFT as a NEGATIVE
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Now if we wish to increase or decrease any item we can simply refer to
the item affected, and by stating whether the change is a debit or credit
change we will know whether it was an increase or a decrease.

Item Change Debit or credit?
Asset Increase Debit
Decrease Credit
Liability Increase Credit
Decrease Debit
Capital Increase Credit
Decrease Debit

2.2 CASH TRANSACTIONS
2.2.1 The cash account

In Section 2.1.1 we took a simple example involving:

Capital introduced £1,000
Purchase of van £ 600
Loan from bank £ 300

Each item affected cash. In order to keep a running total of cash at any
instant we use a two-sided account. Since cash is an asset, debits (increases)
will appear on the left. Credits (decreases) to cash appear on the right.
The amount by which the debits exceed the credits represents the excess
of cash received over cash paid, or the amount of cash now held by the
business. In financial terms we call this cash the BALANCE. The account
appears thus:

Cash account

(Debits) £ (Credits) £
Capital introduced 1,000 Purchase of motor-van 600
Loan from bank 300

The account can then be ‘closed off’ and the balance identified. This is
done by inserting the total of the largest side on both sides of the account
and inserting the balancing figure on the small side thus:
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Cash account

£ £
Capital introduced 1,000 |Purchase of motor-van 600
Loan from bank 300 | Balance carried forward (c/f) 700
£1,300 £1,300
Balanced brought forward (b/f)£700

This £700 balance is a debit balance. It is carried forward from the credit
side and brought forward in the next period to the debit side.
This type of account is called a ‘T account’ because of its appearance.
The use of T accounts can be applied to any jtem whether asset, liability
or capital.

2.2.2 Revenue and expenses

So far we have only considered increasing capital by introducing cash.
Consider the following example:

Capital introduced £1,000

Purchase stock for £1,000

Sell all stock for £1,200
The Cash account will appear thus:

Cash account

(Debits) £ (Credits) £
Capital introduced 1,000 Purchase of stock 1,000
Sale of stock 1,200
Balance carried forward
(c/f) 1,200
£2,200 £2,200

Balance brought for-
ward (b/f) 1,200

The only asset now held by the business is cash of £1,200. There are
no liabilities. The equation must still balance. The answer is that capital
has increased to £1,200. The increase of £200 is attributable to PROFIT
on selling the stock, and is an increase (credit entry) to the Capital account.
The profit is made up of a sales item of £1,200, which would appear
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initially in a Sales account less a purchase item of £1,000, which would
appear initially in a Purchases account. The sale is referred to as revenue;
the purchase is an expense.

The Sales account and Purchases account are netted off to find the
profit, and this is added to the Capital account.

2.2.3 Recording the entries
Example 1

Joe decided to set up a grocery business on 1 January. The following
transactions relate to the month of January.

1Jan Joe paid £1,000 into the business
2 Jan Purchased goods for resale (stock) for £400
3Jan Purchased a delivery van for £350
4 Jan Borrowed £200 from the bank

10Jan Sold all stock for £550

12 Jan Purchased more stock for £425

14 Jan Paid motor expenses of £20

15 Jan Paid rates of £60

17 Jan Paid rent of £30

20 Jan Sold all stock for £580

26 Jan Paid motor expenses of £15

The transactions can be recorded in the accounts. Note that each entry
indicates where the balancing entry appears. The word ‘account’ is ab-
breviated to a/c.

Capital account
£ £
1Jan Cash a/c capital 1,000
introduced
Cash account
£ £
1 Jan Capitala/c-cash 1,000 | 2 Jan Purchases a/c - goods 400
introduced purchased
4 Jan Loan a/c -bank 200 | 3Jan Van a/c - purchase of 350
loan delivery van
10 Jan Sales a/c ~ goods 550 |12 Jan Purchases a/c - goods 425

sold



20 Jan Sales a/c - goods 580| 14 Jan Motor expenses a/c 20
sold expenses

15Jan Ratesa/c - rates 60

17 Jan Rent a/c - rent 30

26 Jan Motor expenses a/c - 15
expenses

Purchases account

£ £
2 Jan Cash a/c - goods 400
purchases
12 Jan Cash a/c - goods 425
purchased
Van account
£ £
3 Jan Cash a/c - pur- 350

chase of delivery van

Loan account

4 Jan Cash a/c - bank loan 200

Sales account

10 Jan Cash a/c - goods sold 550
20 Jan Cash a/c - goods sold 580

Motor expenses account

14 Jan Cash a/c - ex- 20
penses

26 Jan Cash a/c - ex- 15
penses

Rates account

15 Jan Cash a/c - rates 60
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Rent account

17 Jan Cash a/c -rent

30

2.3 TRIAL BALANCE

After all entries are safely recorded the next stage is to identify the balance
on each account. Once this is done we will list all the debit and credit
balances together. This is called a TRIAL BALANCE. It serves two func-
tions. First, we can check that the debits equal the credits. Second, it is a
useful summary from which to proceed to the next stage. The following
rules are important:

Assets and
liabilities
Revenues and
expenses

Capital

Balances carried forward are included in the Trial
balance and brought forward in the next period.

Balances included in the Trial balance are not carried
forward, but will eventually be included in capital.

Balance is included in Trial balance, but is adjusted
later for any profit, loss or drawings.

Cash account (ASSET)

£
1 Jan Capitala/c - cash 1,000
introduced

4 Jan Loan a/c - bank 200
loan

10 Jan Sales a/c - goods 550
sold

20 Jan Salesa/c - goods 580
sold

£2,330

1 Feb Balance b/f

2 Jan

3 Jan
12 Jan

14 Jan
15Jan
17 Jan
26 Jan

31 Jan

£

Purchases a/c - goods 400
purchased
Van a/c - delivery van 350
Purchases a/c - goods 425
purchased
Motor expenses a/c - ex- 20
penses
Rates a/c - rates 60
Rent a/c - rent 30
Motor expenses a/c - 15
expenses
Balance c/f 1,030

£2,330




Purchases account (EXPENSE)
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£ £
2 Jan Cash a/c - goods 400
purchased
12 Jan Cash a/c - goods 425
Purchased
31 Jan Balanced transferred 825
£825 £825
Van account (ASSET)
£ £
3 Jan Casha/c - pur- 350
chase of van 31 Jan Balance c/f 350
£350 £350
1 Feb Balance b/f 350
Loan account (LIABILITY)
£ £
31 Jan Balance c¢/f 200 [ 4 Jan Cash a/c - bank loan 200
£200 £200
1 Feb Balance b/f 200
Sales account (REVENUE)
£ £
10Jan Cash a/c - goods sold 550
20 Jan Cash a/c - goods sold 580
31 Jan Balance trans- 1,130
ferred
£1,130 £1,130
Motor expenses account (EXPENSE)
£
14 Jan Cash a/c - expenses 20
26 Jan Cash a/c - expenses 15
31 Jan Balance transferred 35
£35 £35
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Rates account (EXPENSE)
£ £
15 Jan Cash a/c - rates 60
31 Jan Balance transferred 60
60 60
Rent account (EXPENSE)
£ £
17 Jan Cash a/c - rent 30
31 Jan Balance transferred 30
£30 Eﬁ)

TRIAL BALANCE at 31 January

Capital a/c

Cash a/c

Purchases a/c

Van a/c

Loan a/c

Sales a/c

Motor expenses a/c
Rates a/c

Rent a/c

Debit Credit
balances balances
£ £
- 1,000
1,030 -
825 -
350 -
- 200
- 1,130
35 -
60 -
30 -
£2,320 £2,330

2.4 TRADING, PROFIT AND LOSS ACCOUNT

This is the first stage in preparing the final accounts. From the Trial
balance we identify all the revenue and expense items. In our example
these are purchases, sales, motor expenses, rates and rent.

First we compare sales and purchases, the result being GROSS PROFIT.

Sales
Purchases

Gross profit

£
1,130
(825)

£305
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This is called the TRADING ACCOUNT. Below gross profit the remaining
expense items are listed, subtotalled and deducted from gross profit; the
result is called the NET PROFIT.

£
Sales 1,130
Purchases (825)
Gross profit £305
£
Motor expenses (35)
Rates (60)
Rent 30)
(125)
Net profit £180

The section from gross profit to net profit is called the PROFIT AND LOSS
ACCOUNT.

The whole financial statement is called the TRADING, PROFIT AND
LOSS ACCOUNT.

Note that revenue items appear positive, and expense items negative.

2.5 BALANCE SHEET

This is the second stage in preparing the final accounts. The Balance sheet
is prepared in two sections. The first lists assets, and deducts liabilities.

Assets: £

Van 350

Cash 1,030
1,380

Liabilities:

Loan from bank (200)

Total assets less liabilities £1,180

Note that assets appear positive, and liabilities negative.

The second section deals with capital.

£
Capital introduced 1,000
Net profit 180

Capital at 31 January £1,180
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There are two methods of presentation:

VERTICAL PRESENTATION
Assets: £
Van 350
Cash 1,030
1,380
Liabilities:
Loan from bank (200)
Total assets less liabilities £1,180
Representing: £
Capital introduced 1,000
Net profit 180
Total capital £1,180
HORIZONTAL PRESENTATION
£ £
Van 350 Capital introduced 1,000
Cash 1,030 Net profit 180
1,180
Loan from bank 200
£1,380 £1,380

The vertical presentation is preferred since it is most widely used in
practice, and will be used throughout this book.

The Capital account can now be closed off after the net profit has
been entered.

Capital account
£ £
31 Jan Balance c/f 1,180 ] 1Jan Cash a/c - capital 1,000
introduced
31 J an Net profit for period 180
£1,180 £1,180
1 Feb Balance b/f 1,180
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2.6 DRAWINGS

If a proprietor takes cash or goods out of the business for private use,
we call the value taken out DRAWINGS. A Drawings account is opened,
and the entries are as follows:

Type of drawings Debit entry Credit entry

Cash Drawings a/c Cash a/c (reducing the
cash balance)

Goods Drawings a/c Purchases a/c (reducing

the amount taken into
the Trading a/c)

The final balance on the Drawings account (debit balance) is transferred
to the Capital account, reducing the balance on the Capital account.

N.B. Drawings never appear in the Profit and loss account, and are never
included in sales, since a trader cannot ‘sell’ to himself. The treatment of
drawings is illustrated in the example in the next section.

2.7 STOCK ADJUSTMENTS

In the previous example all the goods purchased were sold before the end
of the accounting period. Where there is STOCK which has been purchased
but remains unsold at the end of the period, an adjustment is necessary.

Adjustment Reason

TRADING ACCOUNT - the
COST of stock unsold appears
as a DEDUCTION from
PURCHASES

BALANCE SHEET - the cost of
unsold stock appears as an a
ASSET

Purchases less the stock unsold
now represents the COST of
stock which has been sold

The business holds a valuable
asset which can be sold in the
future

Example 2

Fred set up a business on 1 March. The following are his first month’s

transactions.
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1 Mar
2 Mar
3 Mar
4 Mar
5 Mar
10 Mar
12 Mar
17 Mar
25 Mar
28 Mar
30 Mar

Introduced £2,000 cash

Borrowed £500 from Tom
Purchased stock for £1,200
Purchased a van for £1,100
Paid rent of £150
Sold part of stock for £900
Purchased further stock for £400
Paid van expenses of £70

Sold part of stock for £750
Withdrew £60 cash for private use
Paid electricity bill of £40

At the end of the month there was stock unsold which had cost £320.

The accounts will appear thus:

Capital account
£ £
1 Mar Cash a/c - introduced 2,000
Cash account
£ £
1 Mar Capital a/c 2,000 | 3 Mar Purchases a/c 1,200
2 Mar Loana/c 500 | 4 Mar Vana/c 1,100
10 Mar Sales a/c 900 | 5 Mar Rent a/c 150
25 Mar Sales a/c 750 |12 Mar Purchases a/c 400
17 Mar Van expenses a/c 70
28 Mar Drawings a/c 60
30 Mar Electricity a/c 40
31 Mar Balance c/f 1,130
£4,150 £4,150
1 Apr Balance b/f 1,130
Loan account
£ £
2 Mar Cash a/c - Tom 500
31 Mar Balance c/f 500
£500 £500

1 Apr Balance b/f 500
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Purchases account
£ £
3 Mar Casha/c 1,200
12 Mar Cash a/c 400
31 Mar Balance transferred 1,600
£1,600 £1,600
Van account
£ £
4 Mar Cash a/c 1,100
31 Mar Balance c/f 1,100
£1,100 £1,100
1 Apr Balance b/f 1,100
Rent account
£ £
5 Mar Cash a/c 150
31 Mar Balance transferred 150
£150 £150
Sales account
£ £
10 Mar Casha/c 900
25 Mar Cash a/c 750
31 Mar Balance transferred 1,650
£1,650 £1,650
Van expenses account
£ £
17 Mar Cash a/c 70| 31 Mar Balance transferred 70
£70 £70
Drawings account
£ £
28 Mar Cash a/c 60
31 Mar Balance transferred 60
£60 £60
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Electricity account

30 Mar Cash a/c 40
31 Mar Balance transferred

The Trial balance at 31 March appears thus:

Debits Credits
£ £

Capital introduced - 2,000
Cash a/c 1,130 -
Loan a/c - 500
Purchases a/c 1,600 -
Van a/c 1,100 -
Rent a/c 150 -
Sales ac - 1,650
Van expenses a/c 70 -
Drawings a/c 60 -
Electricity a/c 40 -

£4.,150 £4,150

40
£40

Note that stock unsold does not yet appear in the Trial balance. It is now

entered as a final adjustment.

Debits Credits
£ £
Total per above 4,150 4,150
Stock at 31 March
Trading afc - 320
Balance sheet 320 -
£4.470 £4.470

We can now prepare the final accounts:
TRADING, PROFIT AND LOSS ACCOUNT for March

£ £
Sales 1,650
Purchases (1,600)
Closing stock 320
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Cost of sales (1,280)
Gross profit 370
Expenses

Rent (150)

Van expenses (70)

Electricity (40)

(260)

Net profit (transferred to Capital account) £110

BALANCE SHEET at 31 March

Assets £
Van 1,100
Stock 320
Cash 1,130

2,550

Liabilities
Loan from Tom (500)

Total assets less liabilities £2,050

Representing £

Capital introduced 2,000

Net profit for month 110

2,110

Drawings (60)

Capital at 31 March £2,050

Example 3

In the next month Fred continues to trade. The summarised transactions
were:

£
Total sales 2,100
Total purchases 1,830
Cash withdrawn for private use 70

Goods withdrawn for private use 40
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Total expenses
— rent
— van expense
— electricity

160
75
45

On 30 April the cost of stock unsold amounted to £360.

The accounts will appear thus:

Capital account
£ £
1 Apr Balance b/f 2,050
Cash account
£ £
1 Apr Balance b/f 1,130 | X Apr Purchases a/c 1,830
X Apr Salesa/c 2,100 | X Apr Drawings a/c 70
X Apr Rent a/c 160
X Apr Van expenses a/c 75
X Apr Electricity a/c 45
30 Apr Balance c/f 1,050
£3,230 £3,230
1 May Balance b/f 1,050
Sales account
£ £
X Apr Casha/c 2,100
30 Apr Balance transferred 2,100
£2,100 £2,100
Purchases account
£ £
X Apr Cash a/c 1,830 | X Apr Drawings a/c - stock 40
for private use
30 Apr Balance transferred 1,790
£1,830 £1,830
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Drawings account
£ £
X Apr Cash a/c 70
X Apr Purchases a/c 40 |30 Apr Balance transferred 110
£110 £110
Rent account
£ £
X Apr Casha/c 160
30 Apr Balance transferred 160
£160 £160
Van expenses account
£ £
X Apr Casha/c 75
|30 Apr Balance transferred 75
£75 £75
Electricity account
£ £
X Apr Cash a/c 45
30 Apr Balance transferred 45
£45 £45

The Trial balance will appear thus:

Capital at 1 April
Cash a/c

Loan a/c

Van a/c

Sales a/c
Purchases a/c
Drawings a/c
Rent a/c

Van expenses a/c
Electricity a/c

Debits
£
1,050
1,100
1,790
110
160
75
45

Stock at 1 April - transferred to Trading 320

a/c

£4,650

Credits
£
2,050

500

2,100
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Stock at 30 April
Trading a/c - 360
Balance sheet 360 -

£5,010 £5,010

N.B. 1. Stock at 1 April appears in the Trial balance. It is transferred to
the Trading account where it is added to purchases, since it has
either been sold or is included in the closing stock.

2. Van and Loan accounts have not been shown, since the balances
have remained unchanged.

The final accounts now appear thus:

TRADING, PROFIT AND LOSS ACCOUNT for April

£ £
Sales 2,100
Opening stock (320)
Purchases (1,790
(2,110)
Closing stock 360
Cost of sales (1,750)
Gross profit 350
Expenses
Rent (160)
Van expenses (75)
Electricity (45)
(280)
Net profit £70
BALANCE SHEET at 30 April
Assets £
Van 1,100
Stock 360
Cash 1,050
2,510
Liabilities
Loan from Tom (500)

Total assets less liabilities £2,010
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Representing:

Capital at 1 April 2,050

Net profit for month 70
2,120

Drawings (110)

Capital at 30 April £2,010

2.8 FIXED, CURRENT AND NON-CURRENT

In the previous example Fred purchased a van. This was not for resale,
but for use in the business. We call this a FIXED ASSET. In general a
fixed asset is an asset that is purchased and used by the business in its
activities; it is not purchased to make a profit on resale. Such an asset
will be used over a number of years, and will eventually need to be replaced
when it is worn out, or becomes obsolescent. Other examples of fixed
assets are property, plant and machinery, fixtures and fittings, office
machinery and furniture. In addition to fixed assets Fred had other types
of assets. These were stock (goods for resale) and cash. Stock was pur-
chased for resale, and would be sold and replaced regularly. Cash is used
to pay for assets and expenses, and is the form in which liabilities and
revenues are received. Cash can be held in notes and coins, or in a bank
account. These types of assets are called CURRENT ASSETS. In general
a current asset is an asset that is not intended for use on a continuing
basis in the business.

Liabilities are also divided into two groups. The split is made on the
basis of when the liability is to be paid.

When payable Heading on balance sheet

Within one year of the ‘Creditors: amounts falling due

Balance-sheet date within one year’ (also referred to as
‘current liabilities’)

In more than one year of ‘Creditors: amounts falling due

the Balance-sheet date after more than one year’ (also refer-

red to as ‘non-current liabilities’)
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The Balance sheet is ordered thus:

£ £
Fixed assets - X
Current assets X
Creditors: amounts falling due within one year x)
Net current assets X
Total assets less current liabilities X
Creditors: amounts falling due after more than one
year (x)
£x
Represented by:
Capital £x

2.9 ACCRUALS AND PREPAYMENTS

In the examples so far, expenditure such as rent, electricity and motor
expenses which were paid in each period were related to that period. In
reality, though, rent may be paid quarterly, half-yearly or even annually;
electricity will be paid quarterly.

Our objective is to charge the Profit and loss account with expenditure
items which relate to that period rather than items which are paid for in
that period. We call this the MATCHING-UP CONCEPT, alias ACCRUALS
CONCEPT.

At the end of each accounting period each item of expense is reviewed
to see if payments in the period relate to future periods (PREPAYMENTS)
or if any expense has been incurred for which payment has not been made
(ACCRUAL).

2.9.1 Prepayments

The entries necessary are shown below:

Transaction Entry in accounts
Cash payment for Debit (Dr) Expense a/c
expenditure Credit (Cr) Cash a/c
This is the normal entry for a payment.
At end of period, com- Carry forward on Expense a/c from credit side
pute the amount already | to debit side.
paid for future periods This balance appears on the Trial balance as a

debit item and in the Balance sheet as a current
asset. It is called a PREPAYMENT.
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Balance transferred This is the balancing figure on the Expense a/c.
to Profit and loss a/c It appears on the Trial balance as a debit item
and is then included in the Profit and loss a/c.

N.B. It is possible to make a similar adjustment following the Trial balance.

Example 4

Harriet commenced her business on 1 July 19X1. Her first accounting
period was the six months to 31 December 19X1. On 30 September 19X1
she paid £300 to the local authority for rates for the nine months to
31 March 19X2.

Show the Rates account.

Rates account
19X1 £ 19X2 £
30 Sep Casha/c 300 | 31 Dec Balance transferred
(to Profit and loss a/c) 200
31 Dec Balance ¢/f 100
(Prepayment)
£300 £300
19X2
1 Jan Balance b/f 100
(Prepayment)

Points arising:

1 The payment of £300 was for nine months.

2 The balance carried forward related to the three months to 31 March
19X2. It is computed 3/9 x £300 = £100. It will appear in current
assets on the Balance sheet

3 The balance transferred to the Profit and loss account relates to the six
months to 31 December 19X1.

Example 5

Harriet (as in Example 4) continued to trade in 19X2. On 10 April 19X2
she paid £500 to the local authority for rates for the year to 31 March
19X3.

Show the Rates account for 19X2.
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Rates account
19X2 £ 19X3 £
1 Jan Balance b/f 100 | 31 Dec Balance transferred 475
10 Apr Cash a/c 500 (to Profit and loss a/c)
31 Dec Balance c/f 125
(Prepayment)
£600 £600
19X3 -
1Jan Balance b/f 125
(Prepayment)

Point arising:

1 The payment of £500 related to the twelve months to 31 March 19X3.

2 The balance carried forward at 31 December 19X2 relates to the
three months to 31 March 19X3. It is computed 3/12 x £500 = £125.

3 The balance transferred to the Profit and loss account is the balancing
figure. It is made up of:

£
Three months to 31.3.X2 100
Nine months to 31.12.X2 (9/12 x £500) 375
£475

2.9.2 Accruals

The entries necessary are shown below:

Transaction Entry in accounts
Cash payment for expenditure Dr Expense a/c

Cr Cash a/c

This is the normal entry for a payment
At end of period compute Carry forward on Expense a/c from
the amount not yet paid for, debit side to credit side.
but which relates to the This balance appears on the Trial
current period. balance as a credit item, and in the

Balance sheet as a creditor due within
one year. It is called an ACCRUED
EXPENSE.
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Balance transferred to This is the balancing figure on the
Profit and loss a/c Expense a/c.
It appears on the Trial balance as a
debit item, and is then included in
the Profit and loss a/c.

N.B. Itispossible to make a similar adjustment following the Trial balance.

Example 6

Dick commenced trading on 1 March 19X1. His first accounting period
was the four months to 30 June 19X1. The first payment of rent of
£1,200 was made on 31 August 19X1, and was for the six months to that
date.

Show the Rent account.

Rent account
19X1 £ 19X1 £
30 June Balance c/f 800 | 30 June Balance transferred 800
(accrued expense) (to Profit and loss a/c)
£800 £800
1 Jul Balance b/f 800

Points arising:

1 The eventual payment of £1,200 on 31 August 19X1 will be for the six
months to that date.

2 The balance carried forward at 30 June 19X1 relates to the first four of
those six months. It is computed 4/6 x £1,200 = £800.

3 This same amount becomes the balance transferred to the Profit and
loss account.

Example 7

Dick (as in Example 6) continued to trade for a further year to 30 June
19X2. On 31 August 19X1 he duly paid the £1,200 rent. On 28 February
19X2 he paid a further £1,200 rent for the six months to that date. The
next payment of rent was due on 31 August 19X2 for the six months to
that date, and amounted to £1,500.

Show the Rent account for the year to 30 June 19X2.
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Rent account

19X1 £ 19X1 £

31 Aug Casha/c 1,200 | 1 Jul Balance b/f 800

19X2 19X2

28 Feb Cash a/c 1,200 {30 Jun Balance transferred 2,600

30 Jun Balance c¢/f 1,000 (to Profit and loss a/c)
£3,400 £3,400

1 Jul Balance b/f 1,000

2.10 CREDIT TRANSACTIONS AND DISCOUNTS
2.10.1 Credit given to customers - trade debtors

So far we have considered only cash transactions. It is quite usual for a
business to give credit to customers, i.e. the goods are sold, but payment
is not required until some time in the future. An account is opened for
each credit customer in order to keep a running total of the balance due
from each customer. At the Balance-sheet date such balances due from
customers are called TRADE DEBTORS and are included in the Balance
sheet under CURRENT ASSETS. Entries are as follows:

Transaction Debit entry Credit entry]
Goods sold to Smith Smith’s a/c Sales a/c
Goods returned by Smith Sales returns a/c Smith’s a/c
Cash received from Smith Cash a/c Smith’s a/c

N.B. Sales returns are maintained on a separate account, and at the end
of the period the balance is deducted from the sales for the period.

2.10.2 Credit taken from suppliers - trade creditors

Similarly it is quite usual for a business to receive credit from its suppliers
of goods. An account is opened for each supplier in order to keep a
running total of the balance due to each supplier. At the Balance-sheet
date such balances due by the business are called TRADE CREDITORS and
are included in the Balance sheet under CREDITORS: AMOUNTS
FALLING DUE WITHIN ONE YEAR. Normally these balances would be
paid in the month following supply. Entries are as follows:
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Transaction Debit entry Credit entry]
Goods purchased from Jones Purchases a/c Jones’s a/c
Goods returned to Jones Jones’s a/c Purchases

returns a/c

Cash paid to Jones Jones’s a/c Cash a/c

Since an account is maintained for each customer, and each supplier, a
realistic business situation will require hundreds, perhaps thousands, of
such accounts, and a system for maintaining them.

The individual accounts are therefore separated from the other accounts.

Individual accounts of Collectively called
Customers The Sales ledger
Suppliers The Purchase ledger

In order to keep control over the individual accounts, and facilitate a
more rapid preparation of the accounts, two total accounts are also
maintained. One is for the total of customers’ accounts and is called
the DEBTORS’ CONTROL ACCOUNT. The second, for the total of
suppliers’ accounts is called the CREDITORS’ CONTROL ACCOUNT.
Control accounts are dealt with fully in Section 3.5 in the next chapter.
Example 8, which illustrates credit transactions, appears after the next
sub-section.

2.10.3 Discounts
Two types of discount are possible:

(a) Trade discounts. These are given by businesses to other businesses
in the same trade, e.g. the builders’ merchants will offer a trade dis-
count to a builder, a motor-parts dealer will offer a trade discount
to a garage. Typically such discounts will amount to about 10 per
cent or 20 per cent of basic price. They appear as deductions on the
invoice and only the net amount is ever recorded in the accounts as
a purchase or sale.

(b) Cash discounts. These are offered to all credit customers for paying
balances due within a specified period of time. The purpose is to
encourage customers to settle their accounts promptly. Percentages
involved are much smaller than trade discounts, and 2 per cent or
3 per cent of invoice price would be typical. The discount only
arises when the account is paid, and a separate account is opened



to record discounts allowed (to all customers) which is an expense

item, and another account to record discounts received (from all

suppliers) which is a revenue item.
The entries may be summarised thus:

Transaction

Debit entry

Credit entry

Goods purchased from Smith.
Basic price £100. 10% trade
discount received. Net price
£90.

Pays £88 to Smith in full
settlement (£2 cash
discount received).

Goods sold to Jones.

Basic selling price £200
20% trade discount allowed.
Net price £160.

Receives £155 from Jones
in full settlement (£5 cash
discount allowed).

Purchases a/c £90

Smith’s a/c £88

Smith’s a/c £2

Jones’s a/c £160

Cash a/c £155

Discounts allowed
a/c£5

Smith’s a/c
£90

Cash a/c £88

Discounts
received a/c
£2

Sales a/c
£160

Jones’s afc £155

Jones’s a/c £5

In each case the trade discount is never recorded, but is deducted before
any entry is made. Subsequently when the cash is paid or received the
Suppliers’/customers’ account is not reduced merely by the cash paid/
received, but by the cash together with the cash discount. This is logical,
since there is now no balance outstanding.

At the end of each period the balance of discounts received (credit
balance) and the balance of discounts allowed (debit balance) are included
in the Trial balance, and thereafter transferred to the Profit and loss

account.

Example 8

In Example 3 we left Fred at 30 April, with the following Balance sheet:

Fixed assets
Van

Current assets
Stock
Cash

£

360
1,050

1,410

£

1,100
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Creditors: amounts falling due
within one year

Loan from Tom (500)
- 910
£2,010
Representing:
Capital at 30 April £2,010

Fred continued to trade in May. The following transactions took place:

2 May
3 May
5 May

10 May
13 May
16 May
20 May
21 May

22 May
24 May
25 May
27 May

28 May
29 May

31 May

Purchased goods from Robinson on credit for £400.

Sold goods to Brown on credit for £600.

Purchased goods from Davis on credit. List price was £700, but
Davis gave a 10 per cent trade discount.

Sold goods to Green on credit for £550.

Withdrew £120 cash for private use.

Paid rent of £320 for the months of May and June.

Paid Robinson for goods supplied, less a 2 per cent cash discount.
Green returned part of the goods sold to him. They had a selling
price of £70.

Received £582 in full settlement of goods sold to Brown.

Sold goods for cash £1,500.

Purchased goods for cash £1,200.

Repaid £125 of the loan from Tom. The balance is repayable
within one year.

Sold further goods to Brown on credit for £420.

Paid electricity bill of £55. In addition a further £15 worth of
electricity had been used, but no payment had been made.

Stock unsold amounted to £390.

The accounts will appear thus:

Cash account

£ £
1 May Balance b/f 1,050 |13 May Drawings a/c 120
22 May Brown’sa/c 582 |16 May Rent a/c 320
24 May Salesa/c 1,500 |20 May Robinson’s a/c 392
25 May Purchases a/c 1,200
27 May Loana/c 125
29 May Electricity a/c 55
31 May Balance c/f 920
£3,132 £3,132
1 June Balance b/f 920
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Purchases account

£ £
2 May Robinson’s a/c 400
5 May Davis’sa/c 630
25 May Cash a/c 1,200 |31 May Balance transferred 2,230
£2,230 £2,230
Sales account
£ £
3 May Brown’sa/c 600
10 May Green’s a/c 550
24 May Cash a/c 1,500
31 May Balance transferred 3,070 |28 May Brown’s a/c 420
£3,070 £3,070
Sales returns account
£ £
21 May Green’sa/c 70
31 May Balance transferred 70
£70 £70
Robinson’s account
£ £
20 May Cash a/c 392 | 2 May Purchases a/c 400
20 May Cash discount re- 8
ceived a/c
£400 £400
Brown’s account
3 May Salesa/c 600 | 22 May Cash a/c 582
28 May Sales a/c 420 |22 May Cash discount allowed 18
a/c
31 May Balance c/f 420
£1,020

1 June Balance b/f 420

£1,020
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Davis’s account
£ £
5 May Purchasesa/c 630
31 May Balance c/f 630
£630 £630
1 Jun Balance b/f 630
Green’s account
£ £
10 May Sales a/c 550 |21 May Salesreturnsa/c 70
31 May Balance c/f 480
£550 £550
1 Jun Balance b/f 480

Cash discounts received account

£ £
20 May Robinson’sa/c 8
31 May Balance transferred 8
£8 8
Cash discounts allowed
22 May Brown’sa/c 18
31 May Balance transferred 18
£18 BE
Loan account
£ £
27 May Cash a/c 125 | 1 May Balance b/f 500
31 May Balance c¢/f 375
£500 £500

1 Jun Balance b/f 375
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Rent account
£ £
16 May Cash a/c 320 |31 May Balance transferred
(to Profit and loss a/c) 160
31 May Balance c¢/f
(prepayment % x £320) 160
£320 £320
1 Jun Balance b/f 160
Electricity account
£ £
29 May Cash a/c 55
31 May Balance c/f 31 May Balance transferred
(accrued expense) 15 (to Profit and loss a/c) 70
£70 £70
1 Jun Balance b/f 15
Drawings account
£ £
13 May Cash a/c 120
31 May Balance transferred 120
£120 £120
TRIAL BALANCE at 31 May
Debit Credit
Capital at 1 May - 2,010
Van a/c 1,100 -
Cash a/c 920 -
Purchases a/c 2,230 -
Sales a/c - 3,070
Sales returns a/c 70 -
Brown’s a/c 420 -
Davis’s a/c - 630
Green’s a/c 480 -
Discounts received a/c - 8
Discounts allowed a/c 18 -
Loan a/c - 375
Rent a/c - Profit and loss a/c 160 -
- Prepayment 160 -



Electricity a/c - Profit and loss a/c 70
- Accrued expense -

Drawings a/c 120

Opening stock 360

Closing stock

Trading a/c -

Balance sheet 390

£6,498

TRADING, PROFIT AND LOSS ACCOUNT for May

£
Sales
Sales returns
Opening stock (360)
Purchases (2,230)
(2,590)
Closing stock 390
Cost of sales
Gross profit
Expenses
Rent (160)
Electricity (70)
Discounts allowed (18)
Discounts received 8
Net profit

(N.B. Discounts received appears positive, since it is revenue.)

BALANCE SHEET at 31 May

Fixed assets
Van
Current assets
Stock 390

15

390

£6,498

3,070
(70)

3,000

(2,200)
800

(240)
£560

1,100

39
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Trade debtors
Brown
Green
Prepayments - rent

Cash

Creditors’ amounts falling due within one year

Trade creditors

Davis
Accrued expenses - electricity
Loan from Tom

Net current assets

Total assets less current liabilities

Representing
Capital at 1 May
Net profit for month

Drawings

Capital at 31 May

Exercises to Chapter 2

420
480
160
920

2,370

(630)

(15)

(375)
(1,020)

1,350
£2,450

£
2,010
560

2,570
(120)

£2,450

1. The following transactions occurred in March. You are required to write
up the Cash account and compute the balance carried forward at the
end of the month.

1 Mar
2 Mar
3 Mar
4 Mar
8 Mar
10 Mar
12 Mar
15 Mar
17 Mar
21 Mar

Balance brought forward

Paid to Smith to clear account
Cash sales

Received from Red, a debtor
Office expenses paid

Cash purchases

Drawings by proprietor
Received from Blue, a debtor
Purchase of furniture for office
Cash sales

2,520
360
1,490
240
850
1,100
500
1,390
870
1,540



24 Mar
27 Mar
29 Mar

Rates paid
Paid to Jones for goods supplied
Repayment of loan

41

600
420
800

2. The following transactions relate to rent and rates for the year to
31 December 19X5. You are required to write up the Rent account and
the Rates account.
Rent is paid half-yearly in arrears on 31 March and 30 September. Pay-
ments made were 31 March 19X5 - £500, 30 September 19X5 - £500,
31 March 19X6 - £600.
Rates are paid annually in advance on 1 April. Payments made were
1 April 19X4 - £800, 1 April 19X5 - £900.

3. The following transactions, which occurred in May, relate to the
personal account of Brown, a customer.

1 May
5 May
7 May

10 May
20 May

25 May
25 May

Balance brought forward

Payment from Brown

Sales at full invoice price (a 10 per cent trade
discount was given on these goods)

Goods returned from Brown (full credit given)
Sales at full invoice price (a 15 per cent trade
discount was given on these goods)

Payment from Brown

Cash discount given

£
5,670
2,430

3,000
500

4,000
4,550
130

You are required to record the transactions in the personal account of
Brown and identify the balance at 31 May.



. CHAPTER 3

ACCOUNTING SYSTEMS

3.1 BOOKS OF PRIME ENTRY AND THE ACCOUNTING SYSTEM

In the previous chapter we considered a simple situation where each
transaction was entered directly into an account which later appeared
in a Trial balance. Collectively the accounts are referred to as the
GENERAL LEDGER or NOMINAL LEDGER. (Other terms may be
found, but these are the most common.) Frequently, the General ledger
is in the form of a handwritten loose-leaf book, although it may be a set
of machine-written cards, or a computer print-out of a magnetic file.
Clearly, for a business which is handling hundreds, or perhaps thousands,
of different transactions each day, it is not possible to enter each transaction
in the General ledger as it happens.

The solution adopted is to use six additional ‘books’ to summarise
similar transactions, and to enable subtotals to be entered in the General
ledger at convenient intervals. Typically this would be once a month.
These ‘books’ are called BOOKS OF PRIME ENTRY, since they show the
initial recording of each transaction. Although referred to as ‘books’ the
recording may appear on machine cards, or on a computer print-out.
They are not part of the double-entry system. The double entry only
arises when the books of prime entry are posted to the General ledger.
The six books of prime entry are listed below, together with a brief
description of the purpose and contents of each.

The accounting system from books of prime entry can be shown by the
following flow diagram (Figure 3.1).

In the following sections we will examine each part of the system in
more detail, and illustrate with examples. The books of prime entry are
illustrated in Example 2 in Section 3.2.
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3.2 VALUE ADDED TAX
3.2.1 Nature of the tax

Value added tax is an indirect tax on the supply of goods and services.
When the sales of a business cross a fixed threshold, the business is required
to ‘register for value added tax’ or VAT, as it is often called. This means
that whenever the business sells goods, with a few exceptions, VAT must
be added to the selling price. The tax is being collected by the business on
behalf of the Customs and Excise. Both the registration threshold and
the rate of VAT are changed from time to time, and are announced by
the Chancellor of the Exchequer in the budget speech. Since the tax’s
inception in the early 1970s rates have varied between 8 per cent and 25
per cent, depending on the fiscal requirements of the day. The registration
threshold was set originally at £7,500, and has moved roughly in line with
inflation. The tax is paid to the Customs and Excise each quarter. This
VAT is called ‘output VAT’ since it relates to sales or outputs from the
business. Conversely, when a business buys goods, at a purchase price
which includes VAT, the tax may be reclaimed by deduction from VAT
due to the Customs and Excise authorities. Where purchases exceed
sales, a repayment occurs. This VAT which is reclaimed is called ‘input
VAT’ since it relates to purchases or inputs to the business. There are a
few exceptions regarding reclaiming of input VAT. The major one is the
purchase of fixed assets, since the business itself is the end user of the
asset, and not merely a link in a purchase and resale chain.

3.2.2 Recording the tax

The effect of VAT on a business is widespread. Sales invoices, purchase
invoices, bills for expenses, payments and receipts all involve VAT, and
require separate recording in the Sales day book, Purchase day book,
Sales returns day book, Purchase returns day book and Cash book.

An account is maintained in the General ledger in order to keep a
record of VAT owed to the Customs and Excise authorities, less VAT
reclaimable. The following examples serve to illustrate the calculation
and recording of VAT.

Example 1
For each sale or purchase compute the VAT.

(i) Sell goods for £100 + VAT at 10 per cent. VAT = 10 per cent x £100
= £10. (Gross selling price = £110.)
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(ii) Purchase goods for £220 + VAT at 15 per cent. VAT = 15 per cent
x £220 = £33. (Gross purchase price = £253.)

(iii) Sell goods for £230 which includes VAT at 15 per cent. If the net
selling price were 100, the VAT would be 15 and the gross selling
price would be 115. In this case the gross selling price is £230. VAT
= &5 x £230 = £30. (Net selling price = £200.)

(iv) Purchase goods for £432, which includes VAT at 8 per cent. If the net
purchase price were 100, the VAT would be 8 and the gross purchase
price would be 108. In this case the gross purchase price is £432.
VAT = 135 x £432 = £32. (Net purchase price = £400.)

Example 2

Harry owns a retail business and is registered for VAT. The following
details relate to the month of February.

Purchases:
3 Feb Smith on credit £230 (including VAT)
6 Feb Jones on credit £414 (including VAT)
12 Feb Robinson on credit £368 (including VAT)
18 Feb Brown for cash £598 (including VAT)
Sales:
10 Feb Green on credit £600 + VAT
12 Feb Grey for cash £460 + VAT
19 Feb Black on credit £280+ VAT
26 Feb White on credit £120+ VAT
Cash paid (in addition to cash purchases)
26 Feb Smith £230
28 Feb Robinson £368

Cash received (in addition to cash sales)
28 Feb Black £322
VAT is at 15 per cent in all cases.

Required:
Record these transactions in the Sales and Purchase day books and Cash
book, and write up the VAT account in the General ledger.



iunopoe [/ 3ungade /
._..<> 01 \wwmwr_o‘_wn_
- /Paisog |/ 03’paiso
./ /
Z10'13 \Nm_u\\\owwu\
\ 7 77 7 \_.|\.“
 / n&ua\ wwm\ 8y oze | 0GZy | uosuiqoy SEERAS
sun |
\Em__an:w \v_,v\“ s 09€g 89cYy | sauor “ 994 9
\ou paisod \ “ “ ! "
\ \ o0ee H o€ 002 962V yruws qad4 €
/] { -
3 I3 3 I
$S045) “ 1eA 18N | "ou 3ouasayal ,sialjddng 191|1ddng “ sleq
jooq Aep saseyoung
1 AT | T T I
05113}/ 0513 / 00013} ! ! !
\ \_ 2 g \_.IL | ] |
\ /S / geL/ | 8l ozl | 89 | €62/S |  Suum | 49z
s1unoooe \ / /) | _ I I
,Slawolisn) (44 " 44 | 08¢C | 6569 _ cee/s “ 3oe|g _ 924 61
% pored \oMm\“ 06 _ ooo" €269 _ 192/s _ uaal __ 994 0
/ /S LS NP _ _ els | 0 | o
_ " ou | ! !
3 “ 3 | 3 " souasagas | ou _ |
$S0JD) “ IVA 18N |,S18WO01SNY _ 3010AU| _ Jawolsn) “ aleqg
I | H 1 1

jooq Aep sojeg

Anua awrid Jo syooq jo ajdwexa z'g biy




49

w%&boa >__m:v_>_\vc:x_\\\\o\m\_\\\¥ &\ \\u\\
\\\ o/e b‘_o__aa:w\\&wm;o._:m "u\m ._.<>;\o\m ysen 01D mon_

T _ \_
\wmmu\i \m\Nmui \\m&\\ ‘96! a_
8og | - -

|
T

“
| n
|
_ " | 8% | 96989z | uosuigoy | G4 gC
| | | t
0ee " - “ - “ 0€e “ G6989¢ _“ yrws n 984 9¢
| ! | | |
- “ (174°] _ 8L | 869 ” ¥6989¢ “ umo.ig " qed 81
4 | 1 4
3 | 3 “ 3 3 ﬂ ‘ou | _“
sJaijddng “ Spoo9 | LVA ” “ anbay) " aweN | aleq
1 | L 1 |
sisAjeuy _“ $S04D) “ sjuawAed - )00q ysed

7

/e ,s1PW0ISNY’

oje$a16s /e LYNT 0/ used, )/ 7 ovetsod,
=

A I
4 |
S el |
I | | junoooe |
[44> “ - " - “ ece “ j01uswames - ydelg | ged 8¢
| | | |
- 09v “ 69 | 625 _ ajes ysed - Aalp 934 ¢l
3 3 3 3 |
sijawoIsnd spood | 1VA i awepN 1eQ
sisAjeuy $S04D) sidiadals - )o00q ysed

(sapis omi) yooq yses jo ajdwexs &g biy




50

VAT account
£ £
Purchase day book - VAT Sales day book - VAT on
credit purchases 132 credit sales 150
Cash book - VAT on cash Cash book - VAT on cash
purchases 78 sales 69
Balance ¢/f - due to Customs
and Excise 9
£219 £219
Balance b/f 9

Points arising:

(i) Only the net sales and purchase price is recorded in the Sales and
Purchases accounts.

(ii) The gross sales and purchase prices are recorded in the Customers’
and Suppliers’ accounts.

(iii) Double entry from the Sales day book is:

Dr Customers’ accounts - gross selling price
Cr Sales account - net selling price
Cr VAT account - VAT on sales
(iv) The double entry from the Purchase day book is:
Dr Purchases account - net purchase price
Dr VAT account - VAT on purchases
Cr Suppliers’ accounts - gross purchase price.

(v) In the Balance sheet, value added tax owing to the Customs and
Excise, but not yet paid by the business is shown as a liability under
‘Creditors: amounts falling due within one year’. Conversely, where
the business is reclaiming value added tax which has not yet been
received, the amount receivable is shown as an asset under ‘Current
assets’.

3.3 THE CASH BOOK AND BANK RECONCILIATIONS
3.3.1 Cash and bank working accounts

In Example 2, above, we saw an analysed cash book illustrated. Such a
cash book is widely used by businesses to keep their own record of cash in
the bank.

In a retail business we have an added dimension - the till. This gives us
two locations where cash is held as an asset. Cash in the till is referred to
as ‘cash in hand’. Cash at the bank is referred to as ‘cash at bank’.
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Frequently, and particularly so in examination orientated situations,

we require a summary working which deals with both cash in hand and
cash at bank, but without any detailed analysis dealing with repeat trans-
actions. Such a working is called a ‘cash and bank account’, and takes the
form of a T account with two columns.

Cash and bank account

Date Cash Bank Date Cash Bank

£ £ £ £

Essentially we have two separate T accounts, which are laid down side by
side. This is called a COLUMNAR presentation. It will help if we set out a
few ground rules before proceeding to an example.

w

. There are two balances; cash in hand and cash at bank. Both appear on

the Balance sheet as current assets.

. Whenever a customer pays money to the business it is first placed in

the till. This happens whether it was cash or a cheque received. Thus
cash in hand may represent cash and cheques not yet banked.

. When cheques in the till are banked the double entry is:

Dr Bank a/c
Cr Casha/c
Since both entries appear in the same account we call this a contra
entry, and place the symbol ‘€ ’ beside both entries.

. Cash payments can only be made from the cash column.
. Cheque payments can only be made from the bank column.
. If the business cashes one of their own cheques at the bank the entry

is:
Dr Casha/c
Cr Bank a/c

. If a customer is given cash from the till for a cheque which is then

placed in the till, no change has occurred. There is less cash in the till,
but a cheque has replaced the cash. The total cash in hand is the same.
Consequently there is no entry required.

. When a cheque is dishonoured by the bank (that is, the drawer’s bank

refuse to accept their customer’s cheque due to an inadequate bank
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balance) the money is still owed by the customer. The entry is:
Dr Debtors’ a/c
Dr Bank a/c

Example 2

Stan owns a shop. On 1 April he had £240 cash in the till and £1520 cash

in the bank. During April the following transactions occurred.

2 Apr Sold goods for cash for £50.

3 Apr Paid for goods purchased from X during March amounting to

£75 by cheque.

4 Apr Received a cheque from A for £130 for goods sold in March.

5 Apr Paid wages in cash £40.
8 Apr Paid £150 cash and cheques into the bank.
9 Apr Sold goods on credit to B for £120.

10 Apr Cashed a cheque at the bank for £20 to provide change for the

till.
11 Apr Paid rent of £50 by cheque.

12 Apr Bank charged £10 to the bank account for service charges.

15 Apr Sold goods for cash £180.

16 Apr Sold goods to C for £200. C paid by cheque.
17 Apr Cashed D’s personal cheque for £15.

18 Apr Purchased goods on credit from Y for £90.

19 Apr Received cheque from B for £120 in settlement of goods pur-

chased.
22 Apr Paid £22 cash for stationery.

23 Apr Took his wife out to dinner and used a business cheque to pay

the £40 bill.
24 Apr Paid £470 cash and cheques into the bank.
25 Apr Paid monthly salaries by cheque amounting to £260.

26 Apr Took £25 cash from the till for personal use over the weekend.

29 Apr Sold goods for cash £230.
30 Apr Paid cleaning lady £30 in cash.



Cash and Bank account
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|
Date |

1 Apr | Balances b/fl

2 Apr | ! Sales alc

4 Apr |A’s alc

8 Apr ICash a/c
10 Apr I Bank a/c
15 Apr | Sales a/c
16 Apr | Sales a/c
19 Apr IB’s a/c
24 Apr ICash afc
29 Apr 1Sales a/c

|

|
|
¢l
q
|

1 May Balances b/f

Points arising:

'Cash

:Bank
£ | £
2401 1,520

501 -
130 | -

- | 150
201 -
180 | -
200 | -
1201 -

I 470
230 -

L0 '£2 140

433 1,685

T

Date | |
l [

3 Aprl X’s a/c ]
5 Apr | Wages a/c |
8 Apr IBank a/c (¢ |
10 Apr ICasha/c € |

11 Apr | Rent a/c |
12 Apr | Bank charges |

| a/c |
22 Apr | Stationery a/cl
23 Apr | Drawings a/c |
24 Apr | Bank a/c (€ |
25 Apr | Salaries afc |
26 Apr | Drawings a/c |
30 Apr | Cleaning a/c |
30 Apr | Balances ¢/f |

| Pomyny

I ——

Cash | Bank
£ 1 £

- | 75
401 -
1501 -

- | 20
- | 50
|
- | 10

221 -
- | 40
4701 -

- I 260
251 -
301 -

4331 1,685

£1.170 2,140

1 The sales on credit (3 April) and purchase on credit (18 April) do not
appear until the accounts are settled.

. The bank charges (12 April) represent a payment of cash at bank.

3. The cheque cashed for D (17 April) does not appear since the cheque
would be put into the till.

drawings.

3.3.2 Cash discounts and the cash book

. The payments on 23 April (cheque) and 26 April (cash) both represent

In Sub-section 2.10.3 we discussed cash discounts and how they arise. In
Section 3.1 we said that cash discounts appear in the Cash book. We can
now demonstrate how our Cash and Bank account can be modified to
accommodate a record of cash discounts received and allowed. We do this
by adding an extra column to each side of the columnar account. The
total at the bottom of each column is then used to post the Discounts
received account and the Discounts allowed account.
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Example 3

Dorothy runs a small retail business. On 1 June she had £100 cash in
the till, and £400 cash in the bank. The following are the transactions
for the week beginning 1 June.

1 June
2 June

3 June
4 June

5 June

6 June

Sold goods for cash - £80

Paid a cheque to M for £135. This was in settlement for goods
with an invoice price of £140

Received a cheque from P.P’s account stood at £100, but Dorothy
allowed a 2 per cent cash discount.

Sold goods for cash - £90. Paid electricity bill of £35 by cheque.
Purchased goods for cash - £70. Received a cheque from Q in
settlement of Q’s account which stood at £250. Dorothy allowed
a 2 per cent cash discount.

Paid a cheque to R for £180, to settle an account for £184.
Took £25 cash for private expenses. Lodged £418 cash and
cheques in the night safe at the bank.

Points arising (See account on next page):

wmh W -

P’s account will be credited with £100.
Q’s account will be credited with £250.
M’s account will be debited with £140.
R’s account will be debited with £184.
The total discounts allowed of £7 will be debited to the discounts

allowed account.

=)

The total discounts received of £9 will be credited to the discounts

received account.

3.3.3 Bank reconciliation statements

The Cash book contains the business record of cash held at the bank.
A favourable balance is a debit balance since it is an asset to the business.

However, the bank also keeps a record of its customers’ accounts.
In fact it periodically sends a copy of the account, called a BANK STATE-
MENT, to the customer. Three areas of difference between the bank
and the business version of the same account will arise.

1 A debit balance in the cash book will appear as a credit balance on the
bank statement. Such a favourable balance to the business is cash owed
by the bank; hence it appears as a liability in their records. It follows
that cash paid into the bank appears as credits on the bank statement;
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and, conversely, cheques drawn and payments from the bank balance
appear as debits on the bank statement:

Provided we take account of which set of records we are dealing with
there is no problem.

2 Certain items will appear on the bank statement that do not yet appear
in the cash book. Examples are bank charges, dishonoured cheques,
standing orders, direct debits and bank giro credits. In each case the
entry has been made directly by the bank. The only reason it did not
appear in the Cash book is that the business did not know about it.
Therefore, when the bank statement is received such items must be
entered in the Cash book for the relevant period now ended.

3 Certain items will appear in the Cash book, but do not yet appear on
the bank statement. Examples are lodgements into the bank and
cheques drawn on dates close to the last date on the bank statement.
The items will appear on the next bank statement. The reason is simply
that the banking system will take a few days to process lodgements and
cheques. Also cheques sent to suppliers must first pass through the
suppliers’ accounting procedures before they are sent to the bank. We
call such items ‘reconciling items’, and prepare a BANK RECONCILI-
ATION STATEMENT to show that the two versions of the same
account will agree after these reconciling items are taken into account.

N.B. The period in which such items are included is determined by the
date of entry to the cash book and not the date they appear on the bank
statement.

Format of a bank reconciliation statement: £
Balance per the bank statement (brackets denote

an overdraft) X
Add: Lodgements uncleared X
X
Less: Cheques unpresented (x)
Balance per the Cash book £x

If the bank has made an error, to be reversed in the next period, then
this would also appear on the reconciliation statement.

Example 4

Glen runs a small business. On 31 December the Cash book showed a
favourable cash balance of £845. When the bank statement was received
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it showed a favourable balance of £607 on the same day. The following
differences are discovered:

®
(i)
(iii)

(iv)
™)

(vi)

(vii)

A lodgement of £769 paid in on 30 December did not appear on
the bank statement until January.

Bank charges of £52 for the six months to 31 December had not
been entered in the Cash book.

The business had entered a hire-purchase agreement in November.
The first payment of £60 by standing order in December had not
been entered in the Cash book.

Cheques drawn, entered in the Cash book and sent to suppliers,
but not presented to the bank until January amounted to £534.
One customer, H, had paid £152 directly to the Bank account in
settlement of his account. The item had .not been recorded in the
Cash book.

A cheque for £25 received from P, a customer, had been paid into
the bank and duly credited on the bank statement. However, the
bank statement now shows a debit entry for this cheque of £25,
described as ‘cheque returned - no funds available’. Glen intends
to ask this customer for cash in January.

The bank has, in error, debited Glen’s business Bank account with a
cheque for £18 drawn on his private account,.

Required:

(2) Entries to the Cash book to show the adjusted balance; and
(b) A bank reconciliation statement at 31 December.

Bank account (entries in Cash book)

£ £
Balance b/f per Cash book 845 Bank charges a/c 52
H’salc 152 Hire-purchase a/c 60
P’salc 25
Balance ¢/f 860
£997 £997
Balance b/f (1 Jan) 860
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Bank reconciliation statement at 31 December:

£
Balance per bank statement 607
Add: 1.odgements uncleared 769
Add; Error by bank - cheque for private account 18
1,394
Less: Cheques unpresented (534)
Balance per Cash book £860

Points arising:

1 The reconciliation should always show the cash book figure at the
bottom since this is the figure that will appear in the Balance sheet
as cash at bank.

2 The cheque from P for £25 has been dishonoured by the bank, and
is worthless. The entry in Glen’s accounts is to:

DrP’s a/c £25
Dr Bank a/c  £25
This has the effect of reversing the receipt of the cheque, and P’s
account will again show a balance due to Glen of £25.

3.4 THE SALES LEDGER - BAD AND DOUBTFUL DEBTS

The sale of goods on credit is a normal part of business activity. Stock is
converted into a debtor. The debtor is converted into cash. The cash is
reinvested in more stock. We call this the ‘working capital cycle’. But
there is a hitch. Suppose that the debtor fails to pay the cash. Clearly
the business takes care (or at least it ought to take care) to extend credit
only to customers who are creditworthy. But frequently some unexpected
problem arises and the debtor is unable to pay. Legal proceedings are
expensive, and even if successful the customer may be in liquidation with
a small chance of any cash at all being forthcoming. To cater for this even-
tuality it is usual for a business to maintain two special accounts. These
are:

Name of account Purpose

Bad debts a/c To collect together debtor balances
which are regarded as uncollectable.
The total of such balances is written
off as expense in the Profit and loss a/c.
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Provision for doubtful debts To create a provision for debtor balances
which are not yet written off, but which
are suspect.

We will now look in more detail at each account.
3.4.1 Bad debts account

The Bad debts account is debited with debtor balances which are recognised
as uncollectable, and are thus removed from the sales ledger. The credit
entry is to the customer’s Debtors’ account. At the end of each accounting
period the total balance on the Bad debts account is charged to the Profit
and loss account. There is no balance brought forward or carried forward.
The charge to the Profit and loss account represents debtors written off
in that period alone. The entries can be summarised:

Entry Debit Credit

Debtor regarded as Bad debts a/c Debtors’ a/c
uncollectable (repeated
for each relevant
customer)

Total balance on Bad Profit and loss a/c Bad debts a/c
debts a/c at end of
accounting period

3.4.2 Provision for doubtful debts account

The term ‘provision’ is used to indicate that a loss or liability exists, but
the exact amount or date of occurrence is in doubt. In the case of debtors,
two separate calculations are made to arrive at the amount of the pro-
vision. These are:

Specific provision | Particular customers identified as possible failures.
Their balances outstanding will be provided for in
full.

General provision | A percentage (typically 2-5%) is applied to the
total remaining balances to cover small balances
and unknown future failures. The percentage is

_based on past experience.

The Provision for Doubtful debts account will show a credit balance. Each
period, the balance is reviewed and increased or reduced as necessary. It
is only the increase (charge) or decrease (credit) which is posted to the
Profit and loss account. The entries are as follows:



Entry Debit Credit

Balance brought forward - -
from previous period

Compute balance to be - -
carried forward based on

closing debtors, and

enter as balance

carried forward

Increase from opening Profit and loss a/c  Provision for

to closing balance Doubtful debts a/c
Decrease from opening Provision for Profit and loss a/c
to closing balance Doubtful debts a/c

In the Balance sheet the debtor balances (debit) and the Provision for
Doubtful debts balance (credit) are shown together.

Current assets £ £
Stock X
Debtors X
Provision for doubtful debts (_x)
X

Prepaid expenses X
Cash at bank X
Cash in hand X

£x
Example 5

Mike sells goods on credit to small businessmen. Due to a recession many
have gone out of business and Mike has consequently failed to collect
certain balances due.

At the beginning of the year total debtor balances stood at £18,560,
and a provision for doubtful debts of £928 had been made.

During the year Roy (£960), Jenny (£1,460) and Louisa (£770) went
out of business and the balances due were written off by Mike.

At the end of the year total debtors (after writing off the balances
above) stood at £22,740. Mike wishes to carry forward a provision of 5
per cent of these debtors.
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Requires:

(a) Bad debts account; and
(b) Provision for Bad debts account.

Bad debts account

Debtors’ a/c £ £
Roy 960 | Profit and loss a/c:
Jenny 1,460 total written off 3,190
Louisa 770
£3,190 £3,190

Provision for doubtful debts account

£ £
Balance b/f 928
Balance c/f Profit and loss a/c:
(5% x £22,740) 1,137 increase in provision 209
£1,137 £1,137
Balance b/f 1,137

Points arising:

1 Both the bad debts written off (£3,190) and increase in the provision
for doubtful debts (£209) appear in the Profit and loss account as
financial expenses.

2 In the Balance sheet presentation is:

£
Debtors 22,740
Provision for doubtful debts (1,137)
21,603

3.5 SALES AND PURCHASE LEDGER - CONTROL ACCOUNTS

Whenever we have dealt with customers’ accounts (trade debtors) and
suppliers’ accounts (trade creditors) in the worked examples we have made
entries for sales, purchases, cash received and paid, bad debts written
off and discounts allowed and received into the individual customers’
and suppliers’ accounts. On this basis the Trial balance needs to show all
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the individual trade debtor and trade creditor balances. Clearly, where
the business has hundreds or thousands of customers and suppliers a
quicker system is needed, otherwise the Trial balance will run to dozens
of pages. The solution is to use a single account for the total of trade
debtors and a single account for the total of trade creditors called a
CONTROL ACCOUNT. The balance on each control account represents
the total trade debtors and the total trade creditors. The control account
forms part of the double-entry system, and as such is contained in the
General ledger. The Sales ledger, which contains the individual customers’
accounts, and the Purchase ledger, which contains the individual suppliers’
accounts, become supporting records. They are not part of the double-
entry system, but are still maintained to keep a record of individual cus-
tomer and supplier balances. The individual balances must periodically be
added together and checked against the control account total balance.
This would normally be done monthly. Figure 3.1 in Section 3.1 (p.43)
illustrates how these ledgers and accounts fit into the overall accounting
system. We can identify three functions of control accounts. These are:

Expediency The trade debtors’ and trade creditors’ total can be
computed from the control accounts quickly. The
General ledger can be written up and the Trial balance
prepared more rapidly than if individual accounts were
included.

Control The General ledger (containing the control accounts)
and supporting Sales and Purchase ledgers can be
maintained by separate persons. This adds an internal
check to the accounting system.

Tracing errors | Differences between the list of individual customers’
and suppliers’ balances from the Sales and Purchase
ledgers and the control account balances can be identi-
fied at an early stage and traced. (This is dealt with in
the next section.)

The normal entries to each control account appear below.

Debtors’ control account (alias Sales ledger control account)

£ £
b/f - opening total Sales returns a/c - total credit
debtors’ balance X returns (entered from Sales
returns day book) X
Sales a/c - total credit Cash a/c - total cash and cheques
sales (entered from received from credit customers
sales day book) X (entered from Cash book) X
Bad debts a/c - total bad debts
written off (entered from
journal) X
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Discounts allowed a/c - total
discounts allowed (entered
from Cash book) X
¢/f - closing total debtors’ balance  x

£x £x

Creditors’ control account (alias Purchase ledger control account)

£ £
Purchases returns a/c - b/f - opening total creditors’
total credit purchase balances X
returns (entered from Purchases a/c - total credit
purchase returns day purchases (entered from
book) X Purchase day book) X

Cash a/c - total cash paid
to suppliers (entered from
Cash book) X

Bank a/c - total cheques
paid to suppliers
(entered from Cash book) x

Discounts received a/c -
total discounts received x
(entered from Cash book)

c/f - closing total
creditors’ balances

X
£x £x

Occasionally a credit balance may appear on an individual customer’s
account, or a debit balance on an individual supplier’s account. This
would arise where goods have been supplied, and paid for, but later
returned. The adverse balance may be repaid or held against future sup-
plies.

Example 6

Paula purchases and sells on credit. The following details have been ex-
tracted from her accounts for a particular calendar year:

£
Total customers’ balances at 1 January 6,923
Total suppliers’ balances at 1 January 4,249
Credit sales 72,450
Credit purchases 47,475
Cheques received from customers 69,420
Cheques paid to suppliers 45 427

Cash paid to suppliers 245
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Allowance to customer for faulty goods 50
Sales returns 1,028
Purchase returns 904
Discounts allowed 1,464
Discounts received 1,273
Customers’ balances written off as bad 1,550
Balance due from Smith as a customer cancelled
against the balance due to Smith as a supplier 109
Total customers’ balances at 31 December ?
Total suppliers’ balances at 31 December ?
Required:
(a) Sales ledger control account; and
(b) Purchase ledger control account.
Sales ledger control account
£ £
b/f - 1 January 6,923 |Cash a/c - cheques received 69,420
Sales a/c - credit sales 72,450 | Allowances a/c - faulty
goods 50
Sales returns a/c - returns 1,028
Discounts allowed a/c - dis-
counts 1,464
Bad debts a/c - written off 1,550
Purchase ledger control a/c -
Smith 109
c/f - 31 December 5,752
£79,373 £79,373
Purchase ledger control account
£ £
Bank a/c - cheques paid 45,427 | b/f - 1 January 4,249
Cash a/c - cash paid 245 | Purchases a/c - credit
purchases 47,475
Purchase returns a/c - returns 904
Discounts received a/c - dis-
counts 1,273
Sales ledger control a/c - Smith 109
c/f - 31 December 3,766
£51,724 £51,724
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Points arising:

1 The allowance of £50 to a customer reduces the balance of debtors
(hence a credit entry). The Allowances account is written off in the
Profit and loss account since it is an expense.

2 Smith is both a customer and a supplier. The debtor balance of £109
is cancelled against amounts owed to him. Thus both debtors (credit
entry) and creditors (debit entry) are reduced by £109.

3 The missing balances of debtors and creditors at 31 December are
found as balancing figures in the respective control accounts.

3.6 JOURNAL ENTRIES, SUSPENSE ACCOUNTS AND CORRECTION
OF ERRORS

3.6.1 Journal entries

In Section 3.1 we saw that a journal was one of the books of prime entry.
Its purpose is to keep a record of any unusual and one-off entries to
the General ledger, and to enable a brief explanation to be recorded. In
fact some businesses summarise all their General ledger entries in the
journal. A typical entry in the journal to record the Cash book entries
for a month may be as follows:

Date Folio Accounts Debit Credit
£ £
31 May Al7 Cash a/c 56,235
E/10 Discounts allowed a/c 1,350
A/9 Sales ledger central a/c 57,585

£57,585 | £57,585

Being cash received from
debtors and discounts
allowed for the month
of May.

Points arising:

1 Each journal entry is dated.

2 There is a separate column for debit and credit entries.

3 The ‘folio’ column indicates the General ledger code number of the
relevant account, so that it can be found easily.

4 A total is added to show that the debits equal the credits.

5 There is a brief explanation of the entry.
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3.6.2 Suspense accounts and correction of errors

When an accounting system operates correctly the debit entries will
always equal the credit entries, accounts are always correctly cast, all
balances are listed correctly on the Trial balance, and the Trial balance
balances!

However, in the real world, and particularly so in exam questions, the
Trial balance regularly fails to balance.

Reasons why a Trial balance may fail to balance:

Balances brought forward from previous period incorrectly.
Debit entries in the General ledger do not equal credit entries.
An account in General ledger has been miscast.

An account balance has been omitted from the Trial balance.

An account balance has been included in the Trial balance, but
has been written down incorrectly, e.g. a balance of £523 written
down as £532. This is called a ‘transposition’.

® The Trial balance has been miscast.

The method of correction adopted is a two-stage method:

Stage 1 - Insert an artifical account balance in the Trial balance in order to
make it balance. This is called a SUSPENSE ACCOUNT, e.g.
Trial balance debits total £342,350, but credits total £329,640.
A Suspense account is inserted with a credit balance of £12,710
such that debits and credits are now equal.

Stage 2 - The errors which led to the Trial balance difference are then
located and cleared using double entry. One of the entries
goes to the Suspense account such that, when all errors have
been dealt with, the Suspense account is cleared.

Example 7 - use of Suspense account

Hugh has prepared a Trial balance at 31 December which, unfortunately,
fails to balance. The debit balances total £56,790 whereas the credit
balances total £63,267.

The following errors are located:
(a) The balance brought forward on Sales ledger control account of

£5,900 had been completely omitted from the Sales ledger control
account.
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(b) In writing off a bad debt the amount of £210 has been correctly
credited to the Sales ledger control account, but has also been credited
to the Bad debts account.

(c) The Purchase ledger control account has been undercast on the
credit side by £140.

(d) The balance on the Cash account of £855 has been recorded on the
Trial balance as £558.

(e) A sales invoice to Jones of £300 has not been entered in the books
at all.

Required:

Summarise the journal entries (omitting ‘folio’ column) necessary to correct
the errors, and write up the Suspense account.

The Suspense account is opened with a debit balance of £6,477 (i.e.
£63,267 less £56,790).

Journal entries

Date Account Debit Credit
£ £

31 Dec  Sales ledger control account 5,900 -
Suspense account - 5,900
Being balance brought forward
omitted.

31 Dec Bad debts account 420 -
Suspense account - 420
Being reversal of a bad debt of
£210 credited instead of debited.

31 Dec  Purchase ledger control account - 140
Suspense account 140 -
Being undercast on Purchase ledger
control account.

31 Dec Cash account 297 -
Suspense account - 297
Being correct cash balance entered
incorrectly on Trial balance.

31 Dec  Sales ledger control account 300 -
Sales account - 300
Being sales invoice not posted.
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Suspense account

£ £
Balance b/f 6,477 | Sales ledger control a/c 5,900
Purchase ledger control a/c 140 | Bad debts a/c 420
Cash a/c 297

Balance c/f -
£6,617 £6,617

Points arising:

1 The correction to the Bad debts account is twice the error. Once to
reverse the incorrect credit, and once again to enter the correct debit.

2 The Cash account correction is not a genuine entry to the Cash account,
since that balance was correct. The adjustment is to the figure for Cash
account on the Trial balance only.

3 The sales invoice omitted does not affect the Suspense account since
both debit and credit entries were omitted. (This item would also need
to be entered in Jones’s account in the Sales ledger, but this is not part
of the General ledger and does not affect the Trial balance.)

Example 8 - correction of errors involving control accounts

Sadie has prepared draft accounts for her business. Unfortunately the Trial
balance did not balance, the debits exceeding the credits by £171. From
the draft information Sadie has computed her net profit to be £10,950.
The Sales ledger control account showed a balance of £17,825 and the
Purchase ledger control account a balance of £14,960. Unfortunately
neither of these control accounts agreed to the list of Sales and Purchase
ledger totals, these being £18,595 and £15,300 respectively. The following
errors and omissions have been traced.

(a) A sales invoice to Smith of £320 has not been posted anywhere.

(b) The Purchase day book has been undercast by £60.

(c) The Sales day bookK total of £20,960 for one month had been cor-
rectly debited to Sales ledger control account, but credited to Sales
account as £20,609.

(d) An electricity bill for £160 had been paid and Cash account credited
correctly. However, the debit entry was posted in error to the Purchase
ledger control account,

(e) The balance of £650 due from Vera Robinson, a customer, has been
included in the list of Sales ledger balances twice.
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(f) At the end of the previous period a debit balance of £90 being rates
prepaid was carried forward. In the current year the balance was
brought forward as a credit entry in the Rates account.

(g) John Hughes is both a supplier and a customer. A contra adjustmént
of £120 between his Sales and Purchase ledger accounts was correctly
recorded in the control accounts, but no entry made in either the
Sales or Purchase ledger accounts.

Required:
Journal entries (omitting date and folio) to deal with items (a) to (g);

Suspense account; adjusted control accounts, and Sales and Purchase
ledger totals; and a revised net profit figure.

Journal entries )
Account Debit Credit

£ £
(a) Sales ledger control account 320 -
Sales account - 320

Being sales invoice omitted. (In
addition, Smith’s Sales ledger account
must be debited with £320.)

(b) Purchase account 60 -
Purchase ledger control account - 60
Being correction of undercast in
Purchase day book. (Purchase
ledger is not affected.)

(c) Sales account - 351
Suspense account 351 -
Being sales of £20,960 enterd as
£20,609.

(d) Purchase ledger control account - 160
Electricity account 160 -
Being electricity bill posted

incorrectly.

(e) (No entry, but Sales ledger list of - -
balances is reduced by £650.)

(f) Rates account 180 -
Suspense account - 180
Being rates prepaid brought forward from
previous period on wrong side.

(g) (No entry, but both Sales and Purchase
ledger list of balances are reduced by
£120.)
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Suspense account
£ £
Sales a/c (Item (c)) 351 Balance b/f 171
Rates a/c (item (f)) 180
£351 £351
Sales ledger control account
£ £
Balance b/f - draft 17,825
Sales a/c (item (a)) 320 Balance c/f - adjusted 18,145
£18,145 £18,145
Purchase ledger control account
£ £
Balance b/f ~ draft 14,960
Balance ¢/f - Purchase a/c (item (b)) 60
adjusted 15,180 Electricity a/c (item (d)) 160
£15,180 £15,180

List of balances

Sales ledger Purchase ledger
Dr Cr Dr Cr
£ £ £ £
Per draft 18,595 - - 15,300
Smith’s a/c (item (a)) 320 - - -
Robinson’s a/c¢ included twice - - - -
(item (e)) - 650 - -
Hughes a/c - contra (item (g)) - 120 120 -
18915 770 120 15,300
(770) \ (120)
Agreed to control accounts £18,145 £15,180
Dr Cr
Adjusted net profit £ £
Per draft - 10,950
Sales a/c (item (a)) - 320
Purchases a/c (item (b)) 60 -
Sales a/c (item (c)) - 351
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Electricity a/c (item (d)) 160 -
Rates a/c (item (f)) 180 -
400 11,621
\ (400)

Adjusted net profit £11,221

(N.B. The items included in the adjustment of net profit are all those
items which affect an account which is closed off and taken into the
Trading, or profit and loss accounts.)

Note: Many students find this type of example very difficult to handle.
The reason is that it requires both a firm grasp of double entry, and a
clear understanding of how an accounting system fits together. It is thus
an acid test of a student’s ability at this stage of the subject. It is an area
where the best preparation is application to past examination questions.

Exercises to Chapter 3

1. Compute the VAT for each of the following situations:
(a) Purchase goods for £160 + VAT at 12 per cent.
(b) Sell goods for £340 + VAT at 8 per cent.
(c) Purchase goods for £250 including VAT at 15 per cent.
(d) Sell goods for £350 including VAT at 10 per cent.

In each case calculations should be to the nearest £.

2. On 31 December the bank statement of a certain business showed a
favourable balance of £1,340. This did not agree with the Cash book.
The following points arose:

(a) Bank charges of £55 had been charged by the bank for the period
to 31 December.

(b) Cheques drawn, but not presented to the bank until January,
totalled £352.

(c) The bank had debited the account in error with an amount of
£15. This was corrected in January.

(d) Lodgements totalling £420 had been paid into the bank, but had
not yet appeared on the bank statement.

(e) A standing order payment of £45 had been made by the bank, but
not recorded by the business.

You are required to prepare a bank reconciliation statement and identify
the corrected Cash-book balance.
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3. On the first day of an accounting period trade debtors totalled £50,520,
and a provision for bad debts stood at £2,526. During the year the
following events occurred:

(a) Sales totalled £510,000

(b) Cash received from debtors totalled £492,500
(c) Bad debts of £1,850 were written off.

(d) Cash discounts of £12,350 were given.

(e) Sales returns totalled £10,940.

At the end of the period the Provision for bad debts account is to be
adjusted to 5 per cent of trade debtors’ balance.
You are required to write up the Debtors’ control account and the
Provision for bad debts account, and identify the balances carried
forward.

4. For each error identified below you are required to show the journal
entry to correct the error. A Suspense account has been opened.

(a) The debit side of the Debtors’ control account has been overcast
by £40.

(b) Purchase returns of £90 have been entered to the wrong side of the
Creditors’ control account.

(c) A purchase invoice for £110 has not been recorded at all.

(d) The Sales day book has been undercast by £65.



CHAPTER 4 s

A DOSE OF CONCEPTS

4.1 FUNDAMENTAL ACCOUNTING CONCEPTS

A frequent misapprehension of accountancy students is that there is
always a unique answer to every accounts problem. In other words,
accountancy is an exact science. In reality there may be many different
answers to a given situation. This is due to the need to value certain items
within the accounts (e.g. fixed assets, stock), estimate liabilities (e.g.
taxation), estimate whether assets are valuable (e.g. bad debts). These
examples affect both Balance sheet and Profit and loss account. In each
case, and this is by no means an exhaustive list, the accountant must exer-
cise JUDGEMENT. Different accountants may come to differing opinions.
Hence we must say that accountancy is often more of an art than a science.

However, underlying such areas of judgement there exist certain prin-
ciples or concepts upon which the practical treatment of all items are
based. The purpose of this chapter is to consider the fundamental ac-
counting concepts and to examine certain key areas where they are of
importance.

We will start with four concepts which have been identified as the four
fundamental accounting concepts. Their names are prudence, going
concern, matching-up and consistency.

4.1.1 Prudence concept

Prudence is also known as conservatism. It means that accountants will
never count their chickens before they’re certain to be hatched. In prac-
tical terms it means that revenue (e.g. sales, discounts received) is not
recognised (i.e. credited to the Trading, profit and loss account) until
it is reasonably certain that the ultimate realisation (i.e. receipt of cash)
will occur. In the case of sales this recognition is made at the invoice date.
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In the case of discounts received the recognition does not occur until the
cheque is drawn and entered into the books.

Conversely, provision for liabilities or claims upon the business and loss
in value of assets are recognised within the accounts at the earliest possible
date. Examples are the writing-off of bad debts, the provision for doubtful
debts and the writing-down of stock in hand where its value has fallen
below its cost due to deterioration.

Prudence is the overriding concept. Whenever there is a conflict be-
tween the fundamental concepts then it is prudence which is given priority.

4.1.2 Going concern

In preparing the accounts of a business it is assumed that the business will
continue to trade into the future. We say that the business is a ‘going con-
cern’. The alternative assumption would be that the business is about to
be terminated. The main effect would be on the amount at which assets
are stated in the Balance sheet. Under the going-concern concept it is
assumed that fixed assets will continue to be used in future periods (i.e.
until the business is finished with that asset) and that stock will be sold
to customers in the normal course of trade (i.e. at normal selling prices).
If the business were to be terminated, fixed assets would have to be sold
as second-hand assets and stock would be heavily discounted in order to
sell as quickly as possible. In both cases the assets are certain to be worth
less than under a going-concern situation, the one exception being land
and buildings.

4.1.3 Matching-up

Matching-up is also known as the ‘accruals concept’. It means that revenue
and expenses are included in the Trading, profit and loss account in the
accounting period to which they relate, rather than the period in which
cash is received or paid. There are numerous examples. Sales is credited
when the goods are sold (i.e. invoice date) rather than when cash is received
from the customer. The Trading account is adjusted for opening and
closing stock so that it is cost of sales and not purchases that are deducted
from sales in arriving at gross profit. Prepaid expenses such as rates, and
accrued expenses such as rent, are carried forward to the next period. One
other important application is the depreciation of fixed assets. This is
discussed fully in Section 4.3 of this chapter.

4.1.4 Consistency

It is desirable that accounts should be comparable from period to period.
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The proprietor will wish to know if the business is going uphill or down-
hill. To this end it is necessary that the accounting treatment of each
item is consistent from period to period.

4.1.5 The doctrine of materiality

One important idea which is not included within the fundamental con-
cepts is the doctrine of materiality, or size. This means quite simply that
the larger an item is relative to other items within a particular set of
accounts, then the more important it becomes. The more material an
item is, then the greater the importance of the way in which it is pre-
sented in the financial statements.

Conversely, items which are considered to be immaterial are given low
priority in the financial statements. In individual businesses it is a matter
of judgement as to which items are material and those which are not.

4.2 CAPITAL AND REVENUE EXPENDITURE

In Section 2.8 of Chapter 2 we first drew the distinction between fixed
and current assets. We now reach the stage where we can formalise the
division in the light of the fundamental accounting concepts.

42.1 Capital expenditure

Capital expenditure may be defined as the cost of acquiring or improving
an asset which will be used by the business over a number of accounting
periods in order to generate revenue.

The cost of such assets is included under fixed assets.

Examples fall into three groups:

(a) Intangible items such as goodwill, deferred development expenditure,
patents and trade marks;

(b) Tangible items such as land and buildings, plant, machinery and
equipment, fixtures and fittings, motor-vehicles, office equipment.
Legal costs associated with the acquisition of property should be
included in fixed assets;

(c) Investments such as shares or stock held in other companies.

42.2 Revenue expenditure
Revenue expenditure may be defined as the cost of materials and services

which are consumed by a business in carrying out normal trade operations
and maintenance of assets.



76

Such costs are charged in the Trading, profit and loss account. Examples
are establishment costs (i.e. rent, rates, repairs to property, heat, light);
administrative costs (i.e. wages, salaries, telephone, postage, stationery);
selling costs (i.e. commission, advertising, distribution); and financial costs
(i.e. cash discounts, interest). The four headings given here (establishment,
administrative, selling and financial) are normally used as subheadings in a
profit and loss account.

Frequently, probleins arise in the differentiation of improvements to
fixed assets (capital expense) from repairs to fixed assets (revenue expense).

4.3 DEPRECIATION

Having defined capital expenditure, and stated that such costs are treated
as fixed assets, we must now recognise that fixed assets are themselves con-
sumed over a number of years. Each asset has a finite useful life, at the end
of which it will have a small or negligible residual value.

Two consequences arise:

(a) In the Balance sheet we need to show how the asset is being consumed.
The proportion of the cost of the asset consumed is called ACCUMU-
LATED DEPRECIATION. At any point the cost less accumulated
depreciation to date is called NET BOOK VALUE.

(b) In the Profit and loss account we need to charge the appropriate
portion of the fixed-asset cost which has been consumed in earning
the profits of each period. This is called the CHARGE FOR DEPRECI-
ATION.

The full definition is ‘a measure of the wearing out or consumption
of an asset due to use, obsolescence or effluxion of time’.

In order to compute depreciation for each period, four items must
be established:

(a) Cost of the asset to be depreciated;

(b) Estimate of the asset’s useful life;

(c) Estimated residual value at the end of the useful life; and

(d) a method of allocating the total depreciation to accounting periods
within the total useful life.

Item (d), the method of allocation, requires some examination, since
there are two methods in very common use, and perhaps a dozen further
possible methods. The two common methods are called the STRAIGHT-
LINE method and the REDUCING-BALANCE method. These are now
considered.
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4.3.1 The straight-line method

As the name suggests, the straight-line method spreads the depreciation
out evenly over the assets life. The amount allocated to each period may
be found by the following formula:

Cost — Estimated residual value
Estimated useful life in years

Depreciation for each period =

Frequently the computation will be expressed as a PERCENTAGE OF
COST.

Example 1

An asset is purchased on 1 January 19X1 for £10,000. It is estimated
that at the end of four years it will have a residual value of £1,000.

£10,000 — £1,000

4 years
= £2,250 per annum.

Depreciation for each year 19X1 to 19X4=

We can express this as a percentage of cost:

£2,250
£10,000

x 100 per cent = 22.5 per cent per annum.

The cost, accumulated depreciation, net book value and charge for depreci-
ation can be shown in the following table.

Cost Accumulated Net book
depreciation value
£ £ £
1.1.X1 10,000 - 10,000
19X1 charge for depreciation - (2,250) (2,250)
31.12.X1 10,000 (2,250) 7,750
19X?2 charge for depreciation - (2,250) (2,250)
31.12.X2 10,000 (4,500) 5,500
19X3 charge for depreciation - (2,250) (2,250)
31.12.X3 10,000 (6,750) 3,250
19X4 charge for depreciation - (2,250) (2,250)
31.12.X4 £10,000 £(9,000) £1,000
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At the end of 19X4 the net book value is equal to the residual value.
A total of £9,000 has been charged against the Profit and loss accounts,
but spread evenly over the years 19X1, 19X2, 19X3 and 19X4.

The advantage of the straight-line method is that it is simple to use.

It is best suited to the type of asset that has even use over its life.
Examples would be buildings, fixtures and fittings, and furniture. In each
case the even spread of depreciation complements the even spread of use
and fall in value of the asset.

4.3.2 The reducing-balance method
We stated that the straight-line method can be expressed as a percentage
of cost. The reducing-balance method is expressed as a PERCENTAGE

OF NET BOOK VALUE. Since the net book value is decreasing, so the
annual charge for depreciation will decrease.

fig 4.1 comparison of depreciation methods

£

Straight-line

Reducing-balance

Years

The percentage to be applied to the net book value can be found from the
following formula:

where i = percentage depreciation;
r = estimated residual value;
¢ = cost;
n = number of years of useful life.
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Mathematicians will spot that the formula does not work where the
residual value is nil.

Example 2

Facts as in Example 1, but the reducing-balance method is used. The per-
centage is found as:

i _,_4 /1000

100 10,000
(to two decimal places). We can construct the table as before.

which solves to i = 43.77 per cent

Cost Accumulated Net book
depreciation value
£ £ £
1.1.X1 , 10,000 - 10,000
19X1 charge for depreciation
43.77% x £10,000 - (4,377) (4,377)
31.12.X1 10,000 (4,377) 5,623
19X?2 charge for depreciation
43.77% x £5,623 - (2,461) (2,461)
31.12.X2 10,000 (6,838) 3,162
19X3 charge for depreciation
43.77% x £3,162 - (1,384) (1,384)
31.12.X3 10,000 (8,222) 1,778
19X4 charge for depreciation
43.77% x £1,778 ~ ( 778) ( 778)
31.12.X4 £10,000 £(9,000) £1,000

At the end of 19X4 the net book value is again equal to the residual value.
The total depreciation of £9,000 has been spread £4,377 to 19X1, £2 461
to 19X2, £1,384 to 19X3 and £778 to 19X4.

The method is best suited to the type of asset that shows a heavier
fall in value in earlier years, and repair costs that increase over the asset’s
life. The obvious example is a motor-vehicle. The reducing charge for
depreciation is complemented by the increasing repair costs giving an even
total cost in each period. The change in net book value gives a better
indication of the asset’s fall in value than it would using the straight-line
method.
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4.3.3 Year of purchase and sale

Where an asset is purchased during an accounting period a decision must

be made whether to charge a fraction of a year’s depreciation, or a full

year’s depreciation for that first period: either is possible and acceptable.

Likewise, where an asset is sold during an accounting period, a decision

must be made whether to charge a fraction of a year’s depreciation, or

no depreciation for that period - again either is possible and acceptable.
Two combinations are widely used:

(a) ‘AT THE RATE OF ...’ where this phrase appears it will mean that
a fraction of a years charge in both the year of purchase and the year
of sale.

(b) “...IN USE AT THE YEAR END ...’ where this phrase appears
it will mean a full year’s charge in the year of purchase, and no charge
at all in the year of sale.

4.3.4 Double entry

In the Balance sheet two accounts are used. A Cost account, which does
not normally change over the assets life, and an Accumulated depreciation
account, which indicates the depreciation charged to date. Changes to the
cost account will only arise if there is an addition or disposal.

Entries Debit Credit

Purchase of asset (entry on Cost a/c Cash a/c

purchase date only)

Charge for depreciation for period Profit and | Accumulated

(entry once in each period) loss a/c depreciation
Example 3

For the facts in Example 2 prepare the Cost account and Accumulated
depreciation account.

Cost account

£ £
1Jan Casha/c -
purchase of asset 10,000

The balance on this account remains unchanged, and would be carried
forward in each period.
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19X1

31 Dec Balance c¢/f

19X2

31 Dec Balance c/f

19X3

31 Dec Balance c¢/f

19X4

31 Dec Balance c/f

9,000
£9,000

19X1
31 Dec

19X2
1 Jan
31 Dec

19X3
1Jan
31 Dec

19X4
1 Jan
31 Dec

Profit and loss a/c

Balance b/f
Profit and loss a/c

Balance b/f
Profit and loss a/c

Balance b/f
Profit and loss a/c

£
4,377

£4.377

4,377
2,461

£6,838

6,838
1,384

£8,222

8,222

£9,000

In the Balance sheet at 31 December 19X1 both balances will appear:

Fixed assets

Cost (debit balance)

Accumulated depreciation (credit balance)

Net book value

4.3.5 Disposal of a fixed asset

£
10,000
(4,377)

£5,623

In computing depreciation two estimates were made. These were the useful
life and the residual value. If either of these two estimates proves to be
anything other than completely accurate we will find that either two little
or too much depreciation has been provided by the date of sale. Put
another way it means that the assets net book value on the date of sale
may not equal the proceeds from selling the asset. To identify this dif-
ference we use a DISPOSAL ACCOUNT. The difference arising is called
an over or underprovision for depreciation’ (alias a profit or loss on sale).
The treatment is to take any profit or loss on sale to the Profit and loss
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account, thus decreasing or increasing any depreciation charged for the
period.

Entry Debit Credit
Open Disposal account - -
Transfer cost of asset to be sold Disposal a/c Cost a/c
Transfer accumulated depreciation Accumulated Disposal a/c
on asset to be sold depreciation a/c

Record sale proceeds Cash a/c Disposal a/c
Debit (credit) balance remaining Profit and loss a/c  Disposal a/c

on Disposal account represents
loss (profit) on disposal (reverse
the entry if a profit on disposal).

Example 4

Donna started to trade on 1 January 19X1. On that date Donna purchased
plant which cost £15,000. She decides that all plant should be depreciated
at 20 per cent of cost in sue at the year end.

On 1 April 19X2 a further item of plant was purchased which cost
£20,000.

On 30 September 19X3 the plant acquired in 19X1 was sold for £8,500.

Required:
The Plant cost and Accumulated depreciation accounts for the three

years ending 31 December 19X3, together with a Disposal account to
record the sale.

Plant account
19X1 £ 19X1 £
1Jan Casha/c 15,000 | 31 Dec Balance c/f 15,000
£15,000 £15,000
19X2 19X2
1 Jan Balance b/f 15,000
1 Apr Cash a/c 20,000 | 31 Dec Balance ¢/f 35,000
£35,000 £35,000
19X3 19X3
1Jan Balance b/f 35,000 | 30 Sep Disposal a/c 15,000
31 Dec  Balance c/f 20,000
£35,000 £35,000
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Accumulated depreciation account

19X1 £ 19X1 £
31 Dec  Profit and loss a/c
31 Dec Balance c/f 3,000 (20% x £15,000) 3,000
£3,000 £3,000
19X2 19X2
1Jan  Balance b/f 3,000
31 Dec  Profit and loss a/c
31 Dec Balance c/f 10,000 (20% x £35,000) 7,000
£10,000 £10,000
19X3 19X3
30 Sep Disposal a/c 1Jan  Balance b/f 10,000
(2 years x 20% X 31 Dec  Profit and loss a/c
£15,000) 6,000 (20% x £20,000) 4,000
31 Dec Balance c/f 8,000
£14,000 £14,000
Disposal account
19X3 £ 19X3 £
30 Sep Cost a/c 15,000 |30 Sep  Accumulated
depreciation a/c 6,000
30Sep Cash a/c - proceeds 8,500
31 Dec  Profit and loss a/c
- loss on sale 500
£15,000 £15,000

Points arising:

1 The amounts charged to Profit and loss account were:

£
19X1 - depreciation 3,000
19X2 - depreciation 7,000
19X3 - depreciation 4,000
- loss on sale of plant 500
£4,500

2 Depreciation was 20 per cent of cost in use at the year end’. There
was thus a full year’s charges in 19X2 for plant purchased on 1 April
and no charge in 19X3 for plant sold on the 30 September.

3 It was necessary to compute the accumulated depreciation on the
plant sold in order to transfer that amount to the Disposal account.



84

4.3.6 What about the fundamental concepts?

We can see all four fundamental concepts within the charge for depreci-
ation:

1 Going concern - use of cost in fixed assets rather than second-hand
value.
- assumption that the asset will have a full useful life.
2 Matchingup - cost less estimated residual value is allocated over the
estimated useful life.
3 Prudence -in estimating the useful life and the residual value.
4 Consistency - use of the chosen method of allocation in every period.

4.4 STOCK VALUATION

It has been assumed in the examples considered so far that stock is valued
at cost, and in each case this figure of cost has always been given. We must
now ask two questions.

(a) How do we compute the cost of stock? and
(b) Is there any value of stock other than cost which may be relevant?

The valuation placed upon stock is important since it affects three
separate financial statements:

(a) Balance sheet, where it indicates the amount of stock held;

(b) Trading, profit and loss account of the current period, when the stock
value represents closing stock; and

(c) Trading, profit and loss account of the next period, when the same
stock value represents opening stock.

Thus any errors which may (and in practice frequently do) arise in
counting, valuing, summarising and ensuring that the paperwork ties up
with the physical movements (we call this ‘stock cut-off’) will affect the
net profit of two accounting periods.

The area of cut-off is often particularly difficult. It requires that the
purchase invoices relating to goods delivered by suppliers are included in
Purchases and Creditors’ accounts, but that invoices for goods not de-
livered at the Balance-sheet date are excluded. Conversely, the sales
invoices relating to goods delivered to customers are included in Sales
and Debtors’ accounts, but that invoices for goods not yet delivered, and
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still in stock, are excluded. The general rule is that the paperwork should
be brought into line with the physical situation at the Balance-sheet date.

4.4.1 How do we compute the cost of stock?

We are attempting to compute the cost of bringing the stock to its current
location and condition. This would include:

(a) the purchase invoice cost of the materials which would be net of trade
discounts;

(b) The cost of transport to its current location (delivery, handling
and distribution to outlying warehouses); and

(¢) The cost of insurance while in transit.

The cost of transport is often called CARRIAGE IN. This idea of
cost will require some amplification when we consider manufacturing
companies. However, it will suffice for the present.

A major problem arises in determining the appropriate purchase invoice
cost when there have been two or more purchases of identical stock items.
We call such identical items FUNGIBLE ASSETS.

Example 5

Henry buys and sells one type of radio. During 19X1, his first year of
trading, he had the following purchases and sales.

Purchases Sales
1Jan 100 radios @ £10.30 each
15 Feb 80 radios @ £13.00 each
30 Mar 70 radios @ £15.00 each

Required:
Compute the cost of stock on three alternative bases.

The closing stock is 110 radios (100 + 80 — 70). The problem is in
deciding which radios were sold on 30 March. There are three possible
assumptions:

1 First-In-First-Out (FIFO)
This method assumes that the first items purchased are the first to be
sold. In the example the 70 radios sold were purchased on 1 January.
The closing stock would be computed:
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£
1Jan 30 radios @ £10.30 = 309
15 Feb 80 radios@ £13.00 = 1,040
Total 110 radios £1,349

2 Last-In-First-Out (LIFO)
This method assumes that the latest items purchased are the first
to be sold. In the example the 70 radios sold were purchased on 15
February. The closing stock would be computed:

£
1Jan 100 radios @ £10.30 = 1,030
15 Feb 10 radios @ £13.00 = 130
Total 110 radios £1,160

3 Average cost
The purchases on 1 January and 15 February are added together to
find the average cost.

£
1Jan 100 radios @ £10.30 1,030
15 Feb 80 radios @ £13.00 1,040
Total 180 radios £2,070
Average purchase cost = £2,070_ £11.50
Applied to 110 radios of closing stock gives £1,265.
Comparison of gross profit arising:
FIFO LIFO Average
£ £ £ £ £ £
Sales (70 @ £15) 1,050 1,050 1,050
Purchases (2,070) (2,070) (2,070)
Closing stock 1,349 1,160 1,265
Cost of sales (721) (910) (805)
Gross profit £329 £140 £245

N.B. The higher the figure of closing stock, then the higher the figure of
gross profit, and hence net profit.
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Of the three methods, FIFO and average cost are widely used and
accepted. The reason is that the assumptions are realistic in relation to
what is likely to have occurred physically. Therefore, the resulting stock
value must give a reasonable approximation to actual cost. LIFO, on the
other hand, has attracted much criticism and is not widely used in the
United Kingdom, although it is popular in the United States. The main
criticism is that it is an unrealistic assumption in relation to physical
movements, since the stock held is deemed to be getting older and older,
and eventually obsolete. In its favour its supporters point out that it gives
the lowest profit figure of the three methods, and is therefore a more
prudent method in an economy where stock purchase prices are increasing
due to inflation or other factors.

442 Is there any value of stock other than cost which may be relevant?

The quick answer is ‘yes’. The relevant figure is called NET REALISABLE
VALUE. This is defined as the estimated selling price less any costs of
completion or costs of selling and distribution. The net realisable value
becomes relevant when it is LOWER than cost. This may occur when stock
has been damaged, become obsolete or when the market selling price has
fallen. In order to determine whether net realisable value is lower than
cost, we must make the comparison on individual stock items (or groups
of fungible items), and then add together the results for all stock items. It
should never be done by comparing total cost and total net realisable value.

Example 6

Mavis buys and sells ladies’ wristwatches. She deals in three models, gold,
silver and steel. The market is volatile due to the rapid changes in fashion.
Mavis values stock at the lower of cost and net realisable value, which are
given below.

Cost Net realisable
value
£ £
Gold 10,500 11,200
Silver 6,900 6,300
Steel 2,100 2,500

£19,500 £20,000
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Required: Mavis’s stock valuation.

Cost Net realisable Lower
value
£ £ £
Gold 10,500 11,200 10,500
Silver 6,900 6,300 6,300
Steel 2,100 2,500 2,100
Stock valuation £18,900

4.4 3 Further alternatives to cost
Two other alternatives to actual cost are possible. These are:

(a) Selling price less gross profit. This method works backwards by
taking the estimated selling price and deducting a percentage repre-
senting gross profit. The method assumes that gross profit is uniform
over different lines of stock, and is used by retailers.

(b) Standard cost. This is a predetermined budget or estimate of the
cost, and is widely used in manufacturing companies as part of an
overall costing and management control system.

The criterion for accepting either of these two methods as an alterna-
tive to actual cost is that they give a reasonable approximation to the
actual cost. Once this is justified, these methods can avoid the need for
maintaining detailed records of stock transactions.

4.4.4 What about the fundamental concepts?

Two concepts are particularly in evidence in the valuation of stock:

1 Matching-up -by computing the cost of stock purchased in one period
and carrying forward to the future period when that
stock is sold.

2 Prudence - by taking the net realisable value when lower than cost
we are providing for any fall in value immediately.

4.5 PURCHASE OF ASSETS ON HIRE-PURCHASE
4.5.1 Substance over form concept

The terms of a hire-purchase contract will require the payment of a
deposit at the date of the contract followed by a series of instalments.
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Typically, such instalments would be paid monthly, and continue for
24 or 36 months.

Together, the deposit and instalments will amount to more than the
outright cash purchase price. This extra amount is called a ‘finance charge’
or ‘hire-purchase interest’. It is a form of interest charged by the seller
(or vendor) to the purchaser on the outstanding instalments.

So far as the law is concerned the asset does not become the property
of the purchaser until all the instalments have been paid. In the meantime
the purchaser has had full use of the asset. This poses two questions when
we consider the accounting treatment of a fixed asset purchased under a
hire-purchase contract. They are:

(a) When should the purchaser record the asset purchased as a fixed
asset?
(b) What figure should be recorded as the cost of the fixed asset?

Before dealing with the answers we will set out a fifth accounting concept.
It is the SUBSTANCE OVER FORM CONCEPT. It means that where
the substance or financial reality of a transaction differs from the
form or legal position, then it is the substance which is reflected
within the accounts. In the case of a hire-purchase contract the
substance of the transaction is that the purchaser acquires an asset
at the contract date and uses it over the asset’s useful life. Such useful
life commences immediately and is independent of the hire-purchase
contract period. In addition the purchaser has contracted to pay
instalments to the vendor, part of which is to cover interest charges.

In the light of this concept we can now answer the two questions:

(a) The purchaser records the fixed asset on the date of the contract,
i.e. immediately the asset comes into use.

(b) The fixed asset is recorded at the price the purchaser would have
paid if the asset had been acquired outright for cash. The difference
between this figure and the total deposit plus instalments is the hire-
purchase interest and is charged to the Profit and loss account as a
financial expense evenly over the duration of the contract.

4.5.2 Double entry

Entry Debit Credit

Open a Hire-purchase a/c - -

Equivalent cash purchase Fixed-asset Hire-purchase a/c
price is recorded cost a/c




20

Cash payments to vendor Hire-purchase Cash a/c
(deposit, instalments) a/c
Proportion of hire-purchase Profit and loss a/c¢ [Hire-purchase a/c

interest related to instalments
paid in current period

Deprecation for period based Profit and loss a/c | Accumulated
on fixed-asset cost recorded, depreciation
and normal factors affecting

depreciation

The balance carried forward on the hire-purchase account represents the
capital element only of the instalments not yet paid. It will appear in the
Balance sheet under ‘creditors: amounts falling due within one year’.
Where the contract has more than one year left to run, then part of the
balance will appear under ‘creditors: amounts falling due after more than
one year’.

Example 7

Jenny owns a shop and makes her accounts up to 30 June each year. On
1 January 19X2 Jenny entered a hire-purchase contract to purchase a
display refrigerator. The terms of the contract required a deposit of £136
followed by 24 monthly instalments of £15 commencing on 1 February
19X2. The outright cash purchase price would have been £400. All instal-
ments were paid on their due dates. Jenny’s policy is to depreciate all
refrigerators at the rate of 12 per cent per annum on cost.

Required:

Record these transactions in the books of Jenny for the accounting
period ended 30 June 19X2.

It is first necessary to compute the hire-purchase interest and depreci-
ation.

WORKINGS

(1) Hire-purchase interest £
Deposit 136
Instalments 24 x £15 360
Total hire-purchase cost 496
Cash price 400

Hire-purchase interest £96
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Instalments paid before 30.6.X2 5
Total instalments 24
Hire-purchase interest related to period

ended 30.6.X2 =5/24 x £96 = £20

(2) Depreciation for six months to 30.6.X2
12% x 6/12 x £400 = £24

@N.B. Depreciation is *. .. at the rate of . . ., hence for six months only.)

Display refrigerator cost account

19X2 £ 19X2 £

1 Jan Hire-purchase a/c 400
30 Jun Balance c/f 400
£400 £400

1 Jul Balance b/f 400

Accumulated depreciation account

19X2 £ 19X2 £
30 Jun Profit and loss a/c 24
(w2)
30 Jun Balance c¢/f 24
£24 £24
11 Jul Balance b/f 24
Hire-purchase account
19X2 £ 19X2 £
1 Jan Cash a/c - deposit 136 | 1Jan Display refrigerator
1 Feb Cash a/c - instalment 15 Cost a/c 400

1 Mar Cash a/c - instalment 15
1 Apr Cash a/c - instalment 15 |30 Jun Profit and loss

1 May Cash a/c - instalment 15 a/c - hire-purchase
1 Jun Cash a/c - instalment 15 interest (W1) 20
30 Jun Balance c¢/f 209
£420 £420
1 Jul Balance b/f 209

N.B. Cross-reference to workings is made by indicating W1, W2, etc.
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The balance of £209 on the hire-purchase account can be explained as:

£
Instalments not yet due 19 x £15 285
Hire purchase interest on those instalments
19/24 x £96 (76)
Capital element of instalments £209

For balance-sheet presentation the figure is split by reference to the twelve
instalments due in the next year, and the further seven thereafter:

£
Creditors: amounts falling due within one year j—‘z x £209 = 132

Creditors: amounts falling due after more than one year 1—97 x £209 =77

£209

Exercises to Chapter 4

1. An asset was purchased on 1 June 19X2 for £10,000. The business
makes up its accounts to 31 December each year. The asset was sold
on 1 April 19X5 for £3,500. Compute the profit or loss on sale, as-
suming alternatively that:

(a) depreciation is charged at 20 per cent on cost in use at each year
end; and

(b) depreciation is charged at the rate of 30 per cent on the reducing
balance.

2. Stock purchased and used by a certain business during one period was
as follows:

Opening stock 5,000 units @ £15
Purchased 2,000 Units @ £16
Used 4,000 Units
Purchased 3,000 units @ £17
Used 1,800 units
Purchased 3,500 Units @ £18
Used 3,100 units

You are required to value the closing stock on the alternative bases of:
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(a) First-in-ast-out: and
(b) Last-in-first-out.

3. An asset was purchased by a business on 1 January 19X3 on hire-
purchase terms. Payments required were a deposit of £432, followed
by 36 monthly payments of £20 each. The first payment of £20 was
due on the 31 January 19X3. The outright cash purchase price of the
asset would have been £840. Accounts are made up to 31 December
each year. Assuming that the asset has no residual value you are required
to:

(a) Calculate the hire-purchase finance charge for each of the three
years; and
(b) Calculate the annual depreciation charge on straight-line basis.
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ACCOUNTS FROM

INCOMPLETE RECORDS

5.1 GROSS PROFIT PERCENTAGES

Gross profit represents the excess of sales over the cost of sales. Gross
profit can be expressed as a percentage of either sales or cost of sales.

Cost of sales

Gross profit as a percentage of | Basis Name

Sales Gross profit ' 190 | Margin
Sales

Cost of sales Gross profit x 100 | Mark-up

Frequently examination questions will supply a gross profit margin or
mark-up in order to compute some missing information. If sales are
known, then cost of sales, and hence purchases, opening stock or closing
stock could be computed as a balancing figure. If cost of sales are known,
then sales could be computed. The key is to work out the ‘profit equation’.

This is:

Cost of sales + Gross profit = Sales

The technique is:

1 If gross profit is given as a margin, then make sales 100. If gross profit
is given as a mark-up, then make cost of sales 100.
2 Enter gross profit as a percentage of 100.

w

Complete the profit equation.

4 Compute sales or cost of sales as required:
Sales factor

Sales = Cost of sales x

Cost of sales factor
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Cost of sales = Sales x Cost of sales factor

Sales factor
Example 1
£
Opening stock 5,000
Purchases 56,000
Closing stock 7,000

Gross profit is constant at 25 per cent on cost.

Required: Compute sales

Cost of sales = £5,000 + 56,000 — 7,000
= £54,000

Profit equation

Cost of sales + Gross profit = Sales

100 + 25 =125
(balance)
Sales = £54,000 x 125
100
=£67,500
Example 2

Facts as in Example 1, but gross profit is constant at 25 per cent on sales.
Required: Compute sales.

Profit equation
Cost of sales + Gross profit = Sales
75 + 25 = 100
(balance)
100

Sales = £54,000 x —
75
= £72,000
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Example 3
£
Sales 90,000
Opening stock 8,000
Purchases 70,000
Gross profit is constant at 20 per cent on sales
Required: Closing stock.
Profit equation
Cost of sales + Gross profit = Sales
80 + 20 = 100
(balance)
80
Cost of sales = £90,000 x —
100
= £72,000
£
Opening stock 8,000
Purchases 70,000
78,000
Cost of sales 72,000
Closing stock £6,000
Example 4

Facts as in Example 3, but gross profit is constant at 20 per cent on cost.

Profit equation
Cost of sales + Gross profit = Sales

100 + 20 = 120
(balance)

100

Cost of sales = £90,000 x —

120

= £75,000
£

Opening stock 8,000
Purchases 70,000
78,000
Cost of sales 75,000

Closing stock £3,000
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5.2 TOTAL SALES AND PURCHASES ACCOUNTS

In Chapter 3 we examined the use of control accounts. The main function
of these was to summarise transactions relating to credit sales and credit
purchases. In certain types of incomplete records questions it is not pos-
sible to separate credit and cash transactions. In such a situation the
control accounts are modified to incorporate cash and credit transactions,
and are then called ‘total accounts’. Total accounts are an examination
technique working, never part of an actual double-entry system. A com-
parison is given in Figure 5.1 opposite.

5.3 PREPARATION OF ACCOUNTS FROM PARTIAL INCOMPLETE
RECORDS

5.3.1 Situation

Two typical situations arise which require the preparation of accounts from
partial incomplete records. These are:

1 A buysiness which has maintained records of cash and bank transactions,
debtors and creditors outstanding, but which has no double-entry
records; and

2 A business where double-entry records have been maintained but
destroyed due to a fire or some other catastrophe.

In each case the objective is to construct a Trading, profit and loss
account and Balance sheet from available information.

5.3.2 Accounts required

There are a limited number of accounts which will deal effectively with
most situations, and certain information can be deducted from these as
balancing figures. Figure 5.2 on page 102 describes these accounts and
their use.

5.3.3 Technique

1 Prepare opening Balance sheet to identify opening balances, and opening
capital. (This will not be required where the business commences to
trade at the beginning of the period.)

2 Open pro-forma Trading, profit and loss account and Balance sheet,
so that figures may be entered as they are computed.
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3 Open working accounts. The exact combination will depend on the
individual question. A typical selection would be: Cash and Bank
account, Total sales account, Total purchases account, profit equation,
Rent account, Rates account.

4 Work systematically through the information provided ensuring strict
double entry is maintained in the workings.

5 Review workings for missing figures, and identify balances to complete
Trading, Profit and loss account and Balance sheet.

Example 5

John was made redundant in May 19X4 and decided to set up his own
business as a shopkeeper. He commenced to trade on 1 July 19X4. Most
sales are for cash, but there are a few credit customers. John acquired an
existing shop, which is rented, and paid the vendor for existing stock,
shop fittings, prepaid rates less an amount for rent outstanding.

John maintains a separate business Bank account, a small notebook
which records payments made from the till, and a file of suppliers and
customers’ invoices outstanding.

The following information is relevant for the year to 30 June 19X5:

(1) Summary Bank account

£ £
Redundancy cheque paid Paid to Vendor 5,815
in 15,000
Loan from Mike Rent - 6 m. to 30.9.X4 320
(interest at 10% p.a.) 3,000 -6 m.to 31.3.X5 360
Cash and cheques banked 59,240 Rates~-12 m. to 31.3.X6 540
Suppliers of food for resale 66,145
Electricity 425
Private expenses 75
Interest on loan 300
Purchase of ice-cream
freezer 800
Balance at 30.6.X5 2,460
£77,240 £77,240

(2) The payment to the vendor consisted of:

£
Stock 3,500
Shop fittings 2,100
Rates for nine months to 31.3.X5 375

c/f 5975
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Rent outstanding for three months to 30.6.X4 (160)
£5815

(3) The notebook of payments from the till showed:

£
Wages for sales staff 4,680
Cash used for private expenses 5,720
Wrapping materials 470
Purchases of food for resale 2,385
Cash in the till on 30 June 19X5 235

(4) There was no stock count at the Balance-sheet date, but John sells
all goods at a selling price which yields a 20 per cent profit on selling
price.

(5) Credit customers owed a total of £1,260 at 30 June 19X5, and a
total of £1,845 was owing to suppliers. In addition rent for the three
months to 30 June 19X5 amounting to £200 was outstanding.

(6) Depreciation is to be provided at 10 per cent on the cost of shop
fittings and 20 per cent on the cost of the ice-cream freezer.

Required.

A Trading, profit and loss account for the year ended 30 June 19X5
and a Balance sheet on that date.

WORKINGS (cross-referenced as W1, W2, etc.)

(1) Cash account (the till)

£ £

Total sales a/c - cash Profit and loss a/c -
and cheques (balance) 72,730 wages 4,680
Drawings a/c 5,720

Profit and loss a/c -
wrapping materials 470

Total purchases a/c -

goods for resale 2,385
Bank a/c - paid to bank 59,240
Balance c/f 235
£72,730 £72,730
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£ £
Trading a/c - total sales Cash a/c - cash and
(balance) 73,990 cheques 72,730
Balance ¢/f 1,260
£73,990 £73,990
(3) Total purchases account
£ £
Cash a/c - payments 2,385 Trading a/c ~ total
Bank a/c - payments 66,145 purchases (balance) 70,375
Balance ¢/f 1,845
£70,375 £70,375
(4) Rent account
£ £
Bank a/c - payment 320 Balance b/f 160
Bank a/c - payment 360 Profit and loss a/c
(balance) 720
Balance c/f 200
£880 £830
(5) Rates account
£ £
Balance b/f 375 Profit and loss a/c
Bank a/c - payment 540 (balance) 510
Balance c/f (9/12 x £540) 405
£915 £915

(6) Cost of sales

Cost of sales + gross profit = Sales

80 + 20 =100
Cost of sales = £73,990 (W2) x %g

£59,192
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JOHN

Trading, profit and loss account for year to 30 June 19X5

Sales (W2)
Opening stock
Purchases (W3)

Closing stock (balance)
Cost of sales (W6)

Gross profit
Establishment costs
Rent (W4)
Rates (W5)
Depreciation of shop fittings (10% x £2100)

Selling costs
Wrapping materials
Staff wages
Depreciation of freezer (20% x £800)

Administration and general
Electricity

Financial
Loan interest

Total overheads

Net profit
Balance sheet at 30 June 19X5
Fixed assets - tangible

Shop fittings at cost

Accumulated depreciation

Freezer at cost
Accumulated depreciation

£

(3,500)

(70,375)

(73,875)

14,683

(720)
(510)
(210)

£(1,440)

(470)
(4,680)
(160)

£(5,310)

(425)

(300)

2,100
(210)

800
(160)

73,990

(59,192)

14,798

(7,475)
£7,323

1,890

640
2,530



Current assets
Stock
Debtors
Prepaid rates
Cash at bank
Cash in hand

Creditors: amounts falling due within one year
Suppliers of goods
Rent accrued

Net current assets

Total assets less current liabilities

Creditors: amounts falling due after more
than one year - loan from Mike

Representing
Capital introduced
Net profit for year

Drawings (£75 + 5,720)
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14,683
1,260
405
2,460
235
£19,043
(1,845)
(200)
£(2,045)
16,998
19,528
(3,000)
£16,528
£
15,000
7323
22,323
(5,795)
£16,528

5.4 CAPITAL STATEMENTS - TOTAL INCOMPLETE RECORDS

5.4.1 Situation

Capital statements are used where a business has no separate business

accounts at all. This arises in two situations:

1 A new business where the proprietor has no knowledge of accounting
matters, and has mixed business and private transactions in a single

bank account; and

2 A business where accounting records deliberately fail to record all
transactions, possibly giving rise to an Inland Revenue investigation.
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5.4.2 Basis of capital statement

A capital statement is a computation of an individual’s wealth, represented
by net assets, at a particular date. Both private and business assets and
liabilities are included. By preparing a capital statement on two dates,
the beginning and the end of a period, we can compute the increase or
decrease in wealth during the period. Part of the change in wealth will be
due to private income and expenses. The balance of the change must then
represent business net profit or loss.

5.4.3 The capital statement equation

Opening net  business private private Closing
assets +net profit + income — expenditure = net assets

It follows that:

Business Closing Opening private private

net profit = netassets — net assets — income + expenditure
Example 6

Susan owned net assets worth £10,000 on 1 January. During the next
twelve months she received private income of £6,000 and spent £5,500
on private expenses. By 31 December her net assets were £25,000.

Required: Compute Susan’s business net profit.

£
Closing net assets 25,000
Opening net assets (10,000)
Increase in net assets 15,000
Private income (6,000)

9,000
Private expenditure 5,500

Business net profit £14,500
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5.4.4 Special points

(a) Purchase and sale of private assets. Purchase of a private asset (e.g.
house, car) does not qualify as private expenditure. The cost of the asset
is included as an asset in the next capital statement. Only the cost con-
tinues to appear in subsequent capital statements until the asset is sold.
On sale it is the profit or loss only that is included in private income or
expenditure. The proceeds do not qualify as private income.

(b) Mortgages and loans. In computing the net assets at any date it is the
capital outstanding on a private mortgage or loan which is included as
a liability. The interest element only of repayments are included as private
expenditure.

(c) Depreciation of business assets. In listing business assets only the cost
of each asset is included. Any amounts to be charged for depreciation are
deducted from the final net profit figure.

Example 7

Dave started a business during 19X7, but failed to open a separate Bank
account or keep any records. The following were his assets and liabilities:

31.13.X6 31.12.X7
£ £
Private house at cost 25,000 25,000
Business fixed assets at cost - 10,000
Building society a/c 12,300 2,200
Business stock - 4,500
Business debtors - 2,800
Business creditors - 1,500
Mortgage on house 18,000 17,500
Business loan - 3,000
Bank a/c 2,100 1,550
Motor-car - Mini at cost 4,200 -
- Jaguar at cost - 9,800

The following information is relevant:

1 The building society credited Dave’s account with £325 interest during
the year.

2 Mortgage repayments totalled £2,400.

The Mini motor-car was sold in the year for £3,500.

4 Dave spent £4,200 on living expenses and £1,050 on holidays.

w
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5 During the year, Dave received a £600 legacy from his Aunt’s will.
6 Depreciation of £1,000 on the business fixed assets is to be provided.

Required: Compute Dave’s net profit after depreciation for the year.

Capital statements 31.12.X6 31.12.X7
Liabilities  Assets Liabilities Assets
£ £ £ £
House - 25,000 - 25,000
Fixed assets - - - 10,000
Building society a/c - 12,300 - 2,200
Stock - - - 4,500
Debtors - - - 2,800
Creditors - - 1,500 -
Mortgage - capital 18,000 - 17,500 -
Loan - - 3,000 -
Bank a/c - 2,100 - 1,550
Car - 4,200 - 9,800
18,000 43,600 22,000 55,850
TTT—— (18,0000 T T——_(22,000)
Net assets 25,600 33,850
25,600
Increase in net assets - - - 8,250
Private expenditure (W1) - - - 7,850
16,100
Private income (W2) - - - (925)
Net profit before depreciation - - - 15,175
Depreciation - - - (1,000)
Net profit after depreciation - - - £14,175
WORKINGS
(1) Private expenditure £ £
Mortgage interest
Repayments 2.400
Reduction in capital (£18,000 - 17,500) 500
1.900
Loss on sale of Mini motor-car
Proceeds 3.500
Cost 4200

700



Living expenses
Holiday expenses

(2) Private income
Legacy
Building society interest

Exercises to Chapter 5
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4,200
1,050

£7,850

600
325

£925

1. For each of the following sets of data compute the missing item by

using the gross profit percentage.

(a) Opening stock £1,500, purchases £8,500, closing stock £2,000,

gross profit 30 per cent on cost, compute sales.

(b) Opening stock £3,200, purchases £6,300, closing stock £1,300,

gross profit 20 per cent on sales, compute sales.

(c) Opening stock £1,100, closing stock £1,500, sales £12,000, gross

profit 33% per cent on cost, compute purchases.

2. From the limited data given below you are required to compute gross

profit.

Opening Stock

Closing Stock

Opening trade debtors

Closing trade debtors

Opening trade creditors

Closing trade creditors

Opening cash in hand

Closing cash in hand

Total cash payments (including drawings)
Total payments to suppliers (all by cheque)
Bad debts written off

£

2,500
3,500
800
1,300
500
900
150
250
10,500
7,200
350

There were no cash receipts other than for sales or receipt of debtor

accounts.
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3. A private individual who has confused private and buisness affairs in
a single Bank account has requested a calculation of net profit.
Business assets, excluding cash, grew from £10,500 to £13,200 in the
period, while business liabilities decreased from £2,200 to £1,800.
Private assets were £50,000 at the outset of the period. The only
change was the sale of a house which had cost £40,000 for proceeds
of £82,000. A new house was purchased for £90,000. A building
society mortgage of £15,000 was raised. Apart from the above, other
private income totalled £1,200 and private expenditure totalled £3,600.
The single Bank account balance decreased in the period from £5,650
to £4,840.



CHAPTER 6 "

INCOME AND EXPENDITURE

ACCOUNTS

6.1 NONPROFIT-MAKING ORGANISATIONS

All the examples considered so far have assumed a profit motive. Certain
organisations, however, require financial statements to record the activities
over a period and the position at the closing date, but do not set out to earn
a profit. The motive may be social, sporting, educational or charitable, and
the organisation concerned a club, society, school or trust.

The differences apparent in the financial statements are due mainly to
different terminology.

6.2 TERMINOLOGY

Profit-making organisation | Non-profit-making organisation

Trading a/c No equivalent

Profit and loss a/c Income and expenditure a/c

Net profit for period Excess of income over expenditure for period
Balance sheet Balance sheet

Capital a/c General fund or accumulated fund

6.3 SUBSCRIPTIONS

Subscriptions will normally form the main source of income of a club or
society. It is therefore the first item of income to be shown on the Income
and expenditure account. When preparing a Subscriptions account, there
may be two balances brought forward and two balances carried forward.
Subscriptions in arrears for an earlier period would be a debit balance,
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whereas subscriptions paid in advance for the next period would be a
credit balance.

Example 1
On 1 January subscriptions in arrears for the Jolly Social Club amounted
to £320, while subscriptions in advance amounted to £155.

Receipts of subscriptions during the next year totalled £17,750.

On 31 December subscriptions in arrears and in advance amounted
to £430 and £170 respectively.
Required:

Prepare a Subscriptions account indicating the total subscriptions for the
period credited to Income and expenditure account.

Subscriptions account

£ £
Balance b/f - in arrears 320 | Balance b/f - in advance 155
Income and expenditure a/c Cash a/c - receipts 17,750
- subscriptions for period Balance c/f - in arrears 430
(balance) 17,845
Balance c/f - in advance 170
£18,335 £18,335

6.4 PRESENTATION OF INCOME AND EXPENDITURE

In order that the Income and expenditure account gives as much information
as possible certain items of income and of expenditure are grouped together,
while other items may be excluded.

6.4.1 Bar trading account

Social and sporting clubs and societies often have a bar. In order to show
whether the bar earned a profit or loss we prepare a Bar trading account.
This shows bar sales, opening stock of bar supplies, purchases and closing
stock. Together these show gross profit from which any barman’s wages
and other costs are deducted to show net profit or loss. In the context of
the bar, the terms ‘profit’ and ‘loss’ are used.
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6.4.2 Dances, fetes and special events

Income from sale of tickets and side shows are shown. together with re-
lated expenditure (prizes, hire of premises. music. etc.) to show whether
the event was a financial success or failure.

6.4.3 One-off receipts

Receipts which are substantial and unusual, such as legacies received. are
not shown as part of income in the Income and expenditure account,
but are credited directly to the general fund. The reason is that inclusion
in the Income and expenditure account would give a misleading picture
of income for the period when compared with the previous or next ac-
counting periods. The treatment is comparable with capital introduced
in a business.

6.5 SPECIAL FUNDS

Occasionally a special fund may be set up to meet the cost of a particular
project such as a building extension, or to provide scholarship payments.
Such a special fund is separate within the Balance sheet. There will be a
credit balance representing the capital of the fund, and an equal amount
of assets. The two are always equal. It follows that income earned from
special-fund assets is added to the Special-fund account and the special-
fund assets.

Example 2

On 1 January 19X3 the Balance sheet of the Orange Squash Club showed
the following position:

£ £

Fixed assets

Freehold property at cost 15,000

Accumulated depreciation (5,100)

9,900

Current assets

Bar supplies at cost 4,300

Subscriptions in arrears 420

Prepaid rates 320

Cash at bank 1,100

£6,140
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Creditors: amounts falling due within one year

Due to brewery for bar supplies (1.250)
Subscriptions in advance (270)
£1.3520)
Net current assets 4.620
Net assets representing general fund £14.520

The following information is relevant:

(1) Summary of receipts and payments (all through the Bank account):

Receipts £ Payments £
Balance b/f 1,100  Bar supplies 13.590
Subscriptions 21560 Barman's wages 2.340
Legacy from Smith’s Maintenance of courts 2.950
* estate 5.000 Electricity 1.875
Bar sales 20400 Rates for twelve months
Ticket sales of Valentine's to 31.3.X4 1.500
Day banquet 1.100  Cleaning 550
Interest on Treasury Cost of food and dance
Stock 400 band for Valentine's
Day banquet 970
Insurance 420
Heating 1975
Purchase of furniture 5.800
Investment in Treasury
Stock 5.000
Secretary’s salary 7.200
Balance ¢/f 5.390
£49.560 £49.560

(2) It was decided to set up a special fund to build new changing-rooms.
To this end the legacy received was used to purchase Treasury Stock.

(3) At 31 December 19X3 bar stocks amounted to £3,800. subscriptions
in arrears £550, subscriptions in advance £310 and owing for bar
supplies £1,400.

(4) Freehold property is depreciated at 2 per cent on cost, and furniture
at 10 per cent on cost.
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Income and expenditure account for the year and a balance sheet at 31

December.

WORKINGS

(1) Subscriptions account

£ £
Balance b/f - in arrears 420 | Balance b/f - in advance 270
Income and expenditure a/c 21,650 | Bank a/c 21,560
Balance ¢/f - in advance 310 | Balance c/f - in arrears 550
£22,380 £22,380
(2) Creditors for bar supplies
£ £
Bank a/c 13,590 | Balance b/f 1,250
Balance c/f 1,400 | Income and expenditure
a/c - purchases 13,740
£14 990 £14,990
(3) Rates account
£ £
Balance b/f 320 { Income and expenditure
Bank a/c 1,500 a/c 1,445
Balance c/f
(3/12 x £1,500) 375
£1,820 £1,820
ORANGE SQUASH CLUB
Income and expenditure account for year to 31 December 19X3
£ £ £
Subscriptions (W1) 21,650
Bar Trading a/c
Sales 20,400
Opening stock (4,300)
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Purchases (W2) (13,740)

(18,040)
Closing stock 3,800

Gross profit

Barman’s wages

Net profit
Valentine’s Day banquet

Ticket sales

Costs

Other costs:

Maintenance of courts

Electricity

Rates (W3)

Cleaning

Insurance

Heating

Depreciation of freehold
(2% x £15,000)

Depreciation of furniture
(10% x £5,800)

Secretary’s salary

Excess of income over expenditure

Balance sheet at 31 December 19X3

Fixed assets
Freehold property at cost
Accumulated depreciation

Furniture at cost
Accumulated depreciation

Current assets
Bar supplies at cost
Subscriptions in arrears
Rates in advance (W3)
Cash at bank (see point arising below)

(14.240)

6,160
(2.340)

1,100

(970)

(2,950)
(1,875)
(1,445)
(550)
(420)
(1,975)

(300)

(580)
(7,200)

£
15,000
(5.,400)

5,800
(580)

3,800
550
375

4,990

£9715

130
25.600

(17,295)

£8,305

9,600

5,220
14,820
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Due to brewery for bar supplies (1,400)
Subscriptions in advance (310)
£(1,710)
Net current assets 8,005
Net assets in general fund 22,825
Special building fund assets
Treasury stock at cost 5,000
Cash at bank 400 5,400
£28,225
General fund at 1 January 14,520
Excess of income over expenditure in period 8,305
22,825
Special building fund
Legacy 5,000
Interest on Treasury stock 400 5,400
£28,225

Point arising:

£400 of the balance of cash at bank relates to the special building fund, and

has been shown as part of the special fund assets.

Exercises to Chapter 6

1. A club received a total of £15,545 for subscriptions during a particular

year. At the beginning of the year a total of £185 had been owing in
arrears and £75 had been received in advance. At the end of the year,
arrears totalled £270 and receipts in advance totalled £110.

You are required to prepare a Subscriptions account in order to identify
the total subscriptions to be included in the Income and expenditure
account.

. A certain club runs a bar for members. During a particular year sales
totalled £20,145. Payments to the brewery totalled £12,490. At the
beginning of the year £460 was owed to the brewery and stocks at cost
were £870. At the end of the year £630 was owed to the brewery and
stocks at cost were £910.

You are required to compute a Bar trading account to identify the bar
profit for the period.
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PARTNERSHIP ACCOUNTS

7.1 DEFINITION AND PARTNERSHIP AGREEMENT
7.1.1 Definition of a partnership

The relationship which subsists between persons carrying on a business in
common with a view to profit (Section 1, Partnership Act 1890).

7.1.2 Partnership agreements

A partnership agreement is the arrangement under which the business is
conducted. Such an agreement may be:

(a) in writing; or
(b) verbal; or
(c) implied by a course of dealing.

It is desirable that the agreement should be in writing.
The points covered would include:

name of business

object of business

capital contribution of each partner

profit-sharing arrangements including partners’ salaries and interest on
capital

drawings

accounts preparation and audit

conduct of meetings

provisions for decision-making on day-to-day basis, admission of new
partners and settlement of disputes
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® arrangements covering the death and retirement of partners
® banking arrangements.

7.1.3 Partnership Act 1890

This Act contains provisions which will be applied by the Courts in the
absence of any agreement to the contrary.

The provisions regarding accounting and administration are contained
in Section 24

Capital contribution Equal
Salaries None
Interest on capital None
Interest on advances beyond capital 5% per annum
Accounts All partners entitled to view
Management All partners partake
Admission of new partners By unanimous agreement
Decisions - ordinary Simple majority

- nature of business Unanimous

7.1.4 Capital and current accounts

When we considered a sole trader only one Capital account was maintained.
Capital introduced and net profit were added to the balance brought for-
ward, and drawings and any net loss were deducted. There was a single
balance carried forward.

In the case of a partnership we increase the number of separate balances
for two reasons.

First, we keep separate the capital of each partner. This is done by using
columnar T accounts.

Second, we draw a distinction between the permanent or fixed capital
for which we use a CAPITAL ACCOUNT, and the undistributed shares of
profit for which we use a CURRENT ACCOUNT. Both the Capital account
and the Current account will have columns for each partner.

Account Purpose Entries
Capital a/c Indicates each partner’s Only when there is some
contribution to the permanent adjustment, e.g.
permanent capital of the new partner, existing
business. partner retires, alteration
to asset book values
including goodwill.
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Current a/c Indicates each partner’s Credited with share of net
undrawn share of profits, profit. Debited with
drawings. Normally there
are no other entries to the
Current account.

7.2 APPROPRIATION STATEMENTS
7.2.1 Computation of net profit

The Trading, profit and loss account of a partnership is very similar to
any other Trading, profit and loss account. Items charged in arriving at
net profit include establishment, administration, selling and financial
expenses. The latter class would include interest charges on any loans,
including loans from partners.

However, any amounts paid or allocated to partners such as salaries,
interest on capital or share of residual profit do not appear in the Profit
and loss account, but in the APPROPRIATION STATEMENT. Drawings
represent a payment to partners on account of their total profit share,
and are debited to the Current accounts.

7.2.2 Appropriation statements

The appropriation statement appears beneath the Profit and loss account.
Its purpose is to show the division of net profit between the partners. The
division is in three stages:

Item Purpose

Interest on capital - expressed Preferential share of profit
as a rate per annum on the intended as a reward for
Capital account balance. investment of fixed capital.
Salary - expressed as an annual sum. Preferential share of profit

intended as a reward for
involvement in day-to-day
activities.

Balance in profit-sharing ratio. The surplus (or deficiency)
remaining after the preferential
shares is divided in an agreed
ratio.
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Example 1

A, B and C are in partnership. Their Capital account balances at 1 January
19X4 stand at £10,000, £8,000 and £6,000 respectively. The agreement
specifies that partners are to receive interest on capital at the rate of 8
per cent per annum, B and C to receive salaries of £5,000 per annum, and
the balance of profits to be shared in the ratio 5:3:2. Net profit for the
year 19X4 was £50,000, and drawings by A, B and C were £15,000,
£14,000 and £13,000 respectively. Balances brought forward on Current
accounts at 1 January 19X4 were A: £2,500, B: £3,000 and C: £1,000.

Required: Appropriation statement, and Current accounts for the year to
31 December 19X4.

Appropriation statement for year to 31.12.X4

Total A B C
£ £ £ £
Net profit available 50,000
Interest on capital
(8% x capital balance) 1,920 800 640 480
Salaries 10,000 - 5,000 5,000
Balance in profit-sharing
ratio (5:3:2) 38,080 19,040 11,424 7,616
Total profit share £50,000 £19,840 £17,064 £13,096
Current account
A B c A B c
£ £ £ £ £ £
Cash a/c - Balance b/f
drawings 15,000 14,000 13,000 1.1.X4 2,500 3,000 1,000
Balance Appropriation
31.12.X4 7,340 6,064 1,096 a/c - net
profit share 19,840 17,064 13,096
£22,340 £20,064 £14,096 £22.340 £20,064 £14,096
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N.B. The only payments to partners are their drawings. Interest on capital
and salaries are simply preferential shares of the profit, and are not auto-
matically paid to the partners.

Example 2

Facts as in Example 1 except that the net profit for the year 19X4 was
£8,000 only.

Required: Appropriation statement and current accounts.
Appropriation statement for the year to 31.12.X4

Total 4 B C
£ £ £ £
Net profit available 8,000
Interest on capital
(8% x capital balance) 1,920 800 640 480
Salaries 10,000 - 5,000 5,000
Deficit in profit-sharing
ratio 5:3:2 (3,920) (1,960) (1,176) (784)

Total profit (loss) share £8,000 £(1,160) £4,464 £4,696

Current accounts
A B C A B C
£ £ £ £ £ £
Appropri- Balance b/f
ation a/c - 1.1.X4 2,500 3,000 1,000
net loss Appropriation
share 1,160 - - a/c - net
Cash a/c - share - 4464 4,696
drawings 15,000 14,000 13,000 | Balance ¢/f
31.12.X4 13,660 6,536 7,304
£16,160 £14,000 £13,000 £16,160 £14,000 £13,000

N.B. Each partner now has a debit (adverse) balance on Current account,
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7.2.3 Interest charged on debit balances or drawings

A debit balance on a Current account indicates that a partner has with-
drawn more than his or her entitlement. It can easily arise when profits
are low, or if a loss is made. The partnership agreement may contain a
penalty for such a situation by charging interest on the debit balance.
An alternative may be to charge interest on all drawings. The treatment
in both cases is to include a negative item in the appropriation statement.
The effect will be to increase the balance shared in profit-sharing ratio.

Example 3

Facts as in Example 2. In the year ended 31 December 19X5 the business
earned a net profit of £60,000. The partnership agreement requires that
interest at the rate of 10 per cent per annum be charged on Current
account adverse balances. Drawings for the year were A: £12,000, B:
£10,500 and C: £9,000.

Required: Appropriation statement and Current accounts for the year
to 31 December 19X5. All workings should be to the nearest £1.

Appropriation statement for the year to 31.12.X5

Total A B C
£ £ £ £
Net profit available 60 000
Interest on capital
(8% x £10,000/8,000/
6,000) 1,920 800 640 480
Salaries 10,000 - 5,000 5,000

Interest charged on Current
accounts (10% x £13,660/

6,536/7,304) (2,750)  (1,366) (654) (730)
Balance in profit-sharing ratio
(5:3:2) 50,830 25,415 15,249 10,166

Total profit share £60,000 £24,849 £20,235 £14916




126

Current account

A B c A B C

£ £ £ £ £ £

Balance b/f Appropriation

1.1.X5 13,660 6,536 7,304 afc - net

Cash a/c - profit share 24,849 20,235 14916
drawings 12,000 10,500 9,000 | Balances c/f
Balance c/f 31.12.X5 811 - 1,388
31.12.X5 - 3,199 -
£25,660 £20,235 £16,304 £25,660 £20,235 £16,304

N.B. 4 and C have adverse balances, B has a favourable balance carried
forward.

7.2.4 Guaranteed minimum share of profit

When a new partner is admitted, he or she may be concerned that their
total share of profits may fall below expectations. One remedy is for the
incoming partner to seek a guarantee from some or all of the existing
partners to make good any deficit for the first few years. The adjustment
is between the partners and is effected as a transfer of profit at the foot
of the appropriation statement.

Example 4

A and B are partners sharing profits in the ratio 3:2. No salaries or interest
on capital are allowed. On 1 January 19X8 C is admitted as a partner.
Previously C was a salaried manager earning a salary of £15,000. The new
profit-sharing ratio is to be 3:2:1. No salary or interest on capital are
allowed to C. 4 and B agree that if C’s share of profit falls below £15,000
they will make up the difference. The total net profit for 19X8 is £72,000.

Required: Appropriation statement for the year to 31 December 19X8.
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Appropriation statement for year to 31.12.X8

Total A B c
£ £ £ £
Net profit available 72,000

Total shares in profit-sharing

ratio 3:2:1 72,000 36,000 24,000 12,000
Guaranteed minimum

adjustment: £3,000

borne by 4 and B in

ratio 3:2 - (1,800) (1,200) 3,000

Credit to Current a/c £72,000 £34200 £22,800 £15,000

N.B. (i) 4 and B bear the £3,000 in their respective profit-sharing ratio.
(i) The guarantee adjustment does not affect the total net profit.

7.2.5 Guaranteed maximum share of profit

We have seen the effect on an incoming partner of a guaranteed minimum
share of profits. However, where it is envisaged that the incoming partner
may receive more than expectations, the existing partners may be con-
cerned that their share of profits will be affected. Therefore, one existing
partner may guarantee another existing partner to make good the amount
by which that partner has suffered. The adjustment is between the two
existing partners, and is effected as a transfer of profits at the foot of the
appropriation statement.

Example 5

A and B are partners sharing profits in the ratio 3:2. C is their manager
earning a salary of £20,000. On 1 January 19X6 C is admitted as a partner.
The new profit-sharing ratio is 3:2:1. 4 guarantees that he will indemnify
B against the amount by which B suffers if C’s share of profit exceeds his
previous salary as a manager. Net profit for 19X6 is £132,000.

Required: Appropriation statements for the year to 31 December 19X6.
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Appropriation statement for year to 31.12.X6

Total A B C
£ £ £ £
Net profit available 132,000
Total shared in profit-
sharing ratio 3:2:1 132,000 66,000 44,000 22,000
Guaranteed maximum ad-
justment:

C’s share of profit exceeds
£20,000 by £2,000. This
would be shared by 4
and B in the ratio 3:2.
B’s share is 2/5th - (800) 800 -

Credit to current account £132,000 £65,200 £44.800 £22,000

N.B. (i) Cis unaffected, since the guarantee is between A and B.
(ii) The adjustment is for B’s share of the excess only, ie. the
amount B would have received had C received a £20,000 salary.
(iii) The total net profit is unaffected.

7.3 ADMISSION OF A PARTNER
7.3.1 Profit allocation

When a new partner is admitted the partnership agreement will be revised
in relation to capital to be introduced, profit shares, salaries and interest
on capital.

When the new partner is admitted at the beginning of a new accounting
period no special points arise. The old agreement is used to appropriate
the previous period’s profit and the new agreement is used to appropriate
the new period’s profit.

However, when the new partner is admitted DURING an accounting
period it is necessary to compute the net profit for the separate parts of
the accounting period before and after the change. This is called a PROFIT
ALLOCATION. It involves dividing gross profit and the various Profit
and loss account expenses into the two part-periods. The resulting net
profit figures are then appropriated to the partners, using two separate
appropriation statements.
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The technique of a profit allocation is as follows:

1 Compute total gross profit for the full period and allocate between the
parts of the period by reference to SALES.

2 Compute total sales based expenses (e.g. commissions to salesmen,
delivery costs) and allocate by reference to SALES.

3 Compute total time-based expenses (e.g. establishment, administration,
interest charges on loans) and allocate by reference to TIME.

4 Identify any specific costs which occurred in one particular part of the
accounting period (e.g. manager’s salary prior to admission as a partner,
bad debts) and allocate to relevant period.

Example 6

X and Y are partners together making up their accounts to 31 December
each year. X and Y receive salaries of £10,000 each per annum and there-
after share profits and losses in the ratio 2:1. Z is their office manager
earning a salary of £12,000 per annum.

On 1 September 19X7 Z is admitted as a partner. From that date, X,
Y and Z are to receive salaries of £8,000 each per annum, and share
profits and losses in the ratio 5:3:2. No interest on capital is allowed
before or after Z’s admission.

Details of Trading, profit and loss account items for the year ended
31 December 19X7 are as follows:

£

Sales - for 9 m. to 30.9.X7 400,000

- for 3m. to 31.12.X7 300,000
Stock at 1.1.X7 55,000
Purchases 520,000
Stock at 31.12.X7 15,000
Rent, rates, heat and light 13,500
Salaries (including Z’s salary to 30.9.X7) 36,700
Delivery expenses 10,500
Other selling expenses 21,000
Loan interest 2,800
Bad debt written off in April 500
Bad debt written off in November 1,500

Required: Prepare a Trading, profit and loss account and appropriation
statements for the year to 31 December 19X7.
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Trading, profit and loss account for year to 31.12.X7

Sales
Opening stock
Purchases

Closing stock
Cost of sales

Gross profit

Gross profit on sales
ratio 400:300

Sales-based costs:

Delivery

Other selling costs

Sales ratio 400:300
Time-based costs:
Salaries
less: Z

(9/12 x £12,000)

Rent, rates, heat
and light
Loan interest

Time ratio 9:3

Specific costs:
Z salary (9 months)
Bad debts

Net profit

£
(55,000)
(520,000)
(575,000)
15,000
Total 9 months to
30.9.X7
£ £ £
140,000 80,000
10,500
21,000
31,500 (18,000)
36,700
(9,000)
27,700
13,500
2,800
£44,000 (33,000)
(9,000)
(500)
(60,500)
£19,500

£
700,000

(560,000)
£140,000

3 months to
31.12.X7
£ £

60,000

(13,500)

(11,000)

(1,500)

(26,000)
£34,000
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Total X Y VA
(i) For 9 months to 30.9.X7 £ £ £ £
Net profit available 19,500
Salaries for 9 months 15,000 7,500 7,500 -
Balance in profit-sharing
ratio 2:1 4,500 3,000 1,500 -
£19,500 £10,500 £9,000 -
(ii) For 3 months to 31.12.X7
Net profit available 34,000
Salaries for 3 months 6,000 2,000 2,000 2,000
Balance in profit-sharing
ratio 5:3:2 28,000 14,000 8,400 5,600
£34,000 £16,000 £10,400 £7,600
Total for year - credited to
current accounts £53,500 £26,500 £19,400 £7,600

7.3.2 Cash introduced and cash paid privately

Whenever an incoming (or existing) partner pays cash into the business
the capital account of that partner is credited, signifying an increase in
the interest of that partner in the fixed capital of the business.

Frequently, however, an incoming partner will purchase an interest in
the business from an existing partner. Cash is paid by the incoming partner
to the existing partner privately. It does not pass through the business
Cash account. In such cases the incoming partner’s capital account is
credited and the existing partner’s Capital account is debited signifying
that the paying partner has increased his or her interest in the fixed capital
and that the receiving partner has reduced his or her interest.

Transaction Debit Credit
Cash introduced to business Cash a/c Capital a/c of partner
who paid cash.
Cash paid privately for an Capital a/c of Capital a/c of partner
interest in the business partner who who paid cash.
received cash.
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This double entry is demonstrated in Example 9 below.

Where other assets are introduced by an incoming partner the entry
will be similar to cash introduced to the business, except that the rele-
vant Asset account will be debited.

7.3.3 Goodwill - nature

Goodwill is an intangible asset. There is nothing physically to show, but
there is value. Reputation, good location, expertise are all examples. The
only precise way to value goodwill is to sell the business as a going con-
cern. The amount by which the purchase price of the entire business
exceeds the value of the separate net assets is attributable to goodwill.

In most businesses goodwill exists. However it is not normally shown as
an asset in the Balance sheet. There are two reasons for this:

(i) goodwill cannot be separately sold. This follows from its nature and
existence in a going-concern business. To show it as an asset in the
Balance sheet would indicate it is a separate asset;

(ii) any method of valuation other than actually selling the business will
be highly subjective, verging on arbitrary.

In a partnership the partners will wish to take account of goodwill
when there is a change in the partners or in the profit-sharing ratio. This
will ensure that an incoming partner pays a fair contribution towards the
unrecorded asset, and that an outgoing partner receives a fair share of that
same asset’s value, to which he or she has contributed in the past.

7.3.4 Goodwill - methods of valuation

The partnership agreement will specify a method of valuation to be used
in the event of a change in the partners or profit-sharing ratio. There are
two methods:

(a) Purchase of a number of years’ average profits. The technique is as
follows:

1 Identify profits of recent years. These may require adjustment for
unusual items.

2 Apply weighting, if required, to give greater emphasis to recent
years.

3 Compute average.

4 Multiply by number of years required.
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Example 7

The partnership agreement of A, B and C contains the following provision:

‘Goodwill shall be valued at one and a half times the weighted average of
net profits of the last three completed accounting periods. Weighting
shall be one for the earliest year, two for the second year and three for
the most recent year.’

Profits for the latest three completed accounting periods are 19X4
£11,000, 19X5 £14,000; 19X6 £16,500.

Required: Valuation of goodwill at 1 January 19X7

Year Net profit Weighting
£ £

19X4 11,000 x 1 = 11,000
19X5 14,000 X 2 = 28,000
19X6 16,500 X 3 = 49,500
Total 6 £88,500
Weighted average net profit = £i8§)9 = £14,750

One and a half times thereof = 1% x £14,750 = £22,125

(b) Capitalised superprofits
A superprofit is a profit earned in excess of that which is expected
from the separate net assets. In order to compute the goodwill we
must decide upon the profit that we expect the separate net assets
to generate. We called this the RETURN ON CAPITAL EMPLOYED.
The technique for computing goodwill is as follows:

1

Identify the actual net profit of the partnership. (This could be
an average or weighted average.)

Identify the return on capital employed expected from the business.
Divide the net profit by the return on capital employed to find the
value of the capital (i.e. net assets) employed by the business.
Deduct the fair value of the separate net assets from the capital
employed. The result represents goodwill (i.e. the value of capital
employed which is not explained by separate net assets in the
Balance sheet).
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Example 8

The Balance sheet of P, Q and R shows net separate assets of £70,000.
The partnership agreement provides that goodwill be valued on the basis
of capitalised superprofits using the most recently completed accounting
periods net profit and a return on capital employed of 20 per cent. Net

profit for the year ended 31 December 19X7 was £19,000.

Required: Valuation of goodwill at 1 January 19X8.

Net profit to be used £19,000
Expected return on capital employed 20 per cent
Value of capital employed:
£

£19,000 x 100 95,000
Separate net assets per Balance sheet (70,000)
Value of goodwill £25,000
N.B. Alternative layout:

£

Actual net profit 19,000
Net profit expected from separate net assets

20 per cent x £70,000 (14,000)
Superprofit £5,000
Capitalised at the rate of 20 per cent

£5,000 x 100 = £25,000

20 —

7.3.5 Goodwill - double entry
Having valued the goodwill the double entry will be:
Event, and timing Debit Credit
Immediately BEFORE a Goodwill a/c Capital a/c - of OLD
new partner is admitted or partners in OLD
the profit-sharing ratio is profit-sharing ratio
changed.
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If goodwill is to be elimi- Capital a/c - of Goodwill a/c
nated again, then im- NEW partners in
mediately AFTER the NEW profit-sharing

change. ratio.

Points arising:

1 The Goodwill account begins and ends with a zero balance.

2 Whenever an examination question states ‘no goodwill account is to
be raised’ then the adjustment is still made, but the question is con-
firming that goodwill is to be eliminated after the change.

3 The adjustments for goodwill are normally recorded in the Capital
accounts, and not the Current accounts. Individual exam questions
may give a specific instruction to deviate from this norm.

This double entry is demonstrated in Example 9 below.

7.3.6 Revaluation of assets

Where the value of tangible assets recorded in the Balance sheet increase
or decrease, then it is the existing partners who should benefit from the
surplus or suffer the deficit.

Whenever a new partner is admitted we therefore need to review the
value of tangible assets and take account of those values where they
differ from book values.

The double entry is as follows:

Event, and timing Debit Credit

Asset valued higher than book Asset a/c - thus Capital a/c - of
value. Identify revaluation incresing the OLD partners in
SURPLUS and enter BEFORE stated value of OLD profit sharing
the change in partners. the asset. ratio.

Asset valued lower than book Capital a/c - of Asset a/c - thus
value. Identify revaluation OLD partners in reducing the
DEFICIT and enter BEFORE OLD profit stated value of

the change in partners. sharing ratio. the asset.

This double entry is demonstrated in Example 9 below.

Exceptionally, some exam questions require that the assets be returned
to their original book values. In this case the above entries are made and
then reversed AFTER the change in partners. The entry in the Capital
account will then be to the NEW partners in the NEW profit-sharing ratio.




136

Example 9

R and S have been in partnership for some years, sharing profits in the
ratio 3:2. Their Balance sheetat 31 December 19X3 included the following
items;

£
Capital accounts R 30,000
S 25,000
Land and buildings 12,000
Motor-vehicles 7,000

No goodwill account appears in the Balance sheet, and no goodwill
account is to be maintained in the future.
On 1 January 19X9 T was admitted to the partnership. The terms of
T’s admission were:
(a) Profit-sharing ratiobe R,S and T 5:3:2.
(b) T pay £5,000 cash privately to R and £4,000 privately to S. In ad-
dition, T is to pay £8,000 cash into the business.
(c) Goodwill is to be valued at £12,000.
(d) Land and buildings are valued at £15,000 and motor-vehicles at
£6,000. These values are to be recorded.
(e) T is to introduce his own car, valued at £4,500, into the partner-
ship.

Required: Record the admission of T in the Capital account of the partner-
ship and identify the balances carried forward. (Answer appears on page
137))

7.3.7 Arrangement of capital balances to predetermined levels

The partners may agree that after the entries to admit a partner are com-
plete, the capital balances should be adjusted to some predetermined
balances. The excess or deficit arising in each partner’s Capital account
can be either:

(a) settled by withdrawing and paying in cash; or
(b) transferred to and from their Current accounts.

One special case arises when the Capital account balances are to be
adjusted so that they are in the profit-sharing ratio. The technique is:
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b

Add together the capital balances of all partners.

2 Divide this total in profit-sharing ratio and carry forward as capital

balances.

3 Identify the excess capital or capital deficiency for each partner and
settle according to the instructions given.

Example 10

Facts as in Example 9. After completion of the entries in Example 9 the
capital balances are to be adjusted to profit-sharing ratio by transfers to
and from the Current account. The Current account balances on 31
December 19X8 were R £7,500 and S £4,700.

Required:
Show the necessary adjustment in the Capital and Current accounts.
Capital accounts
R S R R S T
£ £ £ £ £ £
Current a/c - 2,150 5,200 | Balances b/f
Balances c/f from
(£69,500 in Example 9 27,400 23,000 19,100
ratio (total
5:3:2) 34,750 20,850 13,900 £69,500)

£34.750 £23,000 £19,100

Current a/c 7,350 - -

£34,750 £23,000 £19,100

Current accounts

R S T R S T

£ £ £ £ £ £
Capital a/c 7,350 - - Balances b/f 7,500 4,700 -
Balances c/f 150 6,850 5,200 Capital a/c - 2,150 5,200

£7,500 £6,850 £5,200

£7,500 £6,850 £5,200

7.4 RETIREMENT OR DEATH OF A PARTNER

7.4.1 Computing the balance due

On the retirement or death of a partner it is first necessary to compute the
total amount to which he or she is entitled. There are three elements to

the total:
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Element of total Adjustment required

Capital a/c balance As for the admission of a partner:
- goodwill (Section 7.3.5)
- asset revaluations (Section 7.3.6)

Current a/c balance Includes share of profit and drawings to
date of retirement or death

Loan a/c Includes accrued interest to date of
retirement or death

7.4.2 Settlement of the total amount due

The balance due to a retired partner or to the executors of a deceased
partner can be settled in three ways (or in any combination of the three
ways). They are:

(a) Withdrawal of cash and assets;
(b) Transfer to a Loan account carrying an agreed rate of interest; and
(c) Acceptance of an annuity in lieu of the balance due.

Each of the three methods is considered in turn.

7.4.3 Withdrawal of cash and assets

A retired partner is entitled to payment of sums due in full. To this end
the partnership may have set aside cash over some period to meet the often
substantial payment of cash. In addition the retiring partner may wish to
take certain assets such as a motor-car or office desk. In the context of a
partnership of accountants or solicitors the retiring partner may wish to
continue to act privately for certain clients, and would therefore collect
any debtor and work-in-progress balances due from that client and pay any
sums due to that client. The relevant entries are as follows:

Entry Debit Credit
Cash withdrawn Capital a/c of partner Cash a/c
to whom payment is
made
Assets taken AT Capital a/c of partner Asset a/c
VALUATION taking asset
Liabilities assumed Liability a/c Capital a/c of
) partner assuming
liability
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7.4.4 Transfer to a Loan account

Although a retiring partner is entitled to be paid all sums due in full, it
is unlikely that a going concern business would have sufficient cash avail-
able. One solution suggested above was to set aside funds over a period of
years prior to the retirement; but this assumes that the retirement is
planned some years ahead.

Another more common solution is for the retiring partner to leave
some or all of the balance due as a loan to the partnership. Such a loan
would carry an agreed rate of interest from the date of retirement. Where
a rate of interest has not been agreed then the Partnership Act 1980 pro-
vides that the rate of 5 per cent per annum be used.

The loan could then be cleared by a series of payments, thus spreading
the drain on the partnership assets over several periods.

The same arrangement may apply on the death of a partner, except that
the loan would be from the executors of the deceased partner.

The relevant double entry would be:

Entry Debit Credit

Transfer Capital a/c Capital a/c Loan a/c

balance to Loan a/c

Transfer Current a/c Current a/c Loan a/c

balance to Loan a/c

Interest charged on Loan a/c Profit and loss a/c Loan a/c (where
(of the period AFTER |interest is not
the retirement or paid immediately)
death or

Cash a/c (where
interest is paid
immediately)

Cash payments to retired Loana/c Cash a/c
partner/executors of
deceased partner

7.4.5 Acceptance of an annuity

A further alternative to immediate payment in full of a retired partner’s
balances due is for the retired partner to accept an annuity from some or
all of the continuing partners. This means that the continuing partners
agree to pay an agreed sum to the retired partner each year for as long as he
or she may live. It is similar to a pension and contains an element of risk
on the part of the continuing partners, since they do not know how many
payments they will have to make before the death of the retired partner.
The following points are relevant:
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1 The arrangement is a PRIVATE contract between the retired and con-

tinuing partners. Where any of the continuing partners use business
cash to pay their share of the annuity the payment will be treated as
drawings.

The continuing partners will agree the ratio in which they will bear
the annuity payments. This ratio need not be the profit-sharing ratio.
The balances due to the retired partner are transferred to the Capital
accounts of the partners bearing the annuity payments in the ratio
that they pay the annuity (this was the decision in the case Elliott
v. Elliott). Thus no record is then maintained in the partnership books
of any balances due to the retired partner, or any annuity payments
made.

The relevant double entry would be:

Debit Credit

Entry

Transfer Capital and
Current a/c balances
due to retired partner
to continuing partners

IAnnuity payments
from partnership cash

Capital a/c and
Current a/c of
retired partner

Current a/c of

partner for whom
payment made
(equivalent to drawings)

Capital a/c of partners
who agree to pay
annuity in ratio that
annuity is paid.

Cash afc

7.4.6 Insurance policies

In order to provide the necessary funds to repay capital on the death or

retirement of a partner the partnership may enter insurance policies on

some or all of the partners’ lives.
The particular points arising are:

Premiums paid are not charged in the Profit and loss account, but are
debited to an Insurance policy account. This account appears in the
Balance sheet as an investment.

On maturity the proceeds received will exceed the total premiums
paid. The surplus is shared between all the partners in profit-sharing
ratio.

The proceeds received may then be paid to the retiring partner or
to the executors of the deceased partner.
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The relevant double entry is:

Entry

Debit

Credit

Premiums paid
Proceeds received

Surplus arising on
Insurance policy a/c

Proceeds paid to one
partner.

Insurance policy a/c
Cash a/c

Insurance policy a/c

Capital a/c of
receiving partner.

Cash a/c
Insurance policy a/c

Capital a/cs in profit-
sharing ratio.

Cash a/c

Example 11

D, E and F have been in partnership for some years sharing profits and
losses in the ratio 5:3:2. There were no salaries, and no interest on capital
allowed. The trial balance of the partnership at 31 December 19X9 was

as follows:
Cr
Capital a/cs at 1 January 19X9 £
D 10,000
E 8,000
F 6,000
Current a/cs at 1 January 19X9
D 1,875
E 1,225
F 500
Net profit for year to 31 December 19X9 15,000
Fixed assets - net book value 16,300
Stock at 31 December 19X9 14,200
Debtors 3,500
Cash at bank 6,300
Life-insurance policies at cost 4,000
Creditors 2,700
£44.800 £44 800

The following points are relevant:

1 On 1 October 19X9 D had retired. Goodwill was valued at £8,000 on
that date. No adjustment has been made and no Goodwill account is to
appear in the books. Other assets were agreed to be worth their book

value.
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2 F and F are to continue in business, sharing profits in the ratio 7:3.

3 On 1 October 19X9 £5,000 was received in full settlement of the life-
insurance policies which were surrendered. The proceeds have been
paid to D.

4 Net profit has accrued evenly over the year.

Drawings have been debited to Current accounts.

6 Any balance due to D is to remain as a loan to the partnership carrying
interest at the rate of 8 per cent per annum.

(%]

Required. Appropriation statements. Capital, Current and Loan accounts,
and a Balance sheet at 31 December 19X9.

Appropriation statement for year to 31 December.

Total D E F
£ £ £ £
Net profit for year 15,000
(i) 9 months to 30.9.X9
9/12 x £15,000 11,250
Shared in profit-sharing
ratio 5:3:2 5,625 3,375 2,250
(ii) 3 months to 31.12.X9
3/12 x £15,000 3,750
Interest on loan from D
3/12 x 8% x £17,000 340
Shared in profit-sharing —_
ratio 7:3 3410 2,387 1,023
Loan account - D
£ £
c/d 1.10.X9 17,000  Capital a/c 9,500
Current a/c 7,500
£17,000 £17,000
c/f 31.12.X9 17,340 b/f 1.10.X9 17,000
Interest for three months 340

£17,340 £17,340
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Balance sheet at 31 December 19X9

Fixed assets - net book value
Current assets

Stock

Debtors

Cash at bank

Creditors: amounts falling due within one year

Trade creditors
Net current assets

Total assets less current liabilities
Loan account - D

Representing: Capital
£
E 5,100
F 5,400
£10,500
Example 12

Facts as in Example 11.

Current

£
6,987
2,773

£9,760
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£ £
16,300
14,200
3,500
6,300
24,000
(2,700)
21,300
37,600
(17,340)
£20,260
Total
£
12,087
8,173
£20,260

On 1 January 19Y0 D accepts an annuity from £ and F of £4,500 per
annum to be paid by £ and F in the ratio 2:1.

Required: Show the transfer from the Loan account to the Capital accounts

on 1 January 19Y0.
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Capital accounts

¢/d 1 January 19X0 16,660 11,180

£16,660£11,180

Loan account - D

F F
£ £
b/f 1 January
19X0 5,100 5,400

Loan a/c - balance
transferred in
lieu of annuity 11,560 5,780

£16,660 £11,180

£
Capital a/cs - in ratio 2:1
E 11,560
F 5,780
£17,340

£

b/f 1 January 19X0 17,340

£17,340

7.5 DISSOLUTION OF A PARTNERSHIP

7.5.1 Accounts required

On a dissolution of a partnership two special accounts are used in addition
to the normal partnership accounts. These are Realisation account and

Purchasers’ account. A typical dissolution situation will require a total of
six accounts. These are briefly described below.

1

Realisation account

This is essentially a disposal account which deals with the disposal of
all the partnership assets (except cash which is kept separate). The
purpose is thus to find the profit or loss arising on disposal of these
assets which will be shared by the partners in profit-sharing ratio. The
profit or loss is found by comparing the book value of assets and
costs of dissolution with the proceeds of the assets.

Purchasers’ account

This account is only used where some or all of the partnership assets
are being purchased by another business (which may be a company).
The purpose of the account is to add together the various elements of
the purchase consideration (cash received, shares and debentures in
the company, liabilities taken over, costs borne) so that the total
consideration can be transferred to the realisation account as a single
figure.
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Capital accounts

The final balances on Capital accounts will determine how much each
partner will receive from the partnership (or in extreme cases, the
amount a partner must contribute to a deficit). Current account ba-
lances will normally be transferred to the Capital accounts to determine
this final settlement.

Creditors’ account

It is necessary to pay all creditors before any payments are made to
partners. To ensure this is done the creditors are kept separate from the
assets (which are dealt with in the Realisation account).

Loan account

Loans from partners will be settled before partners’ capital is repaid.
Cash account

This is kept separate from the other assets, since there will be both
receipts and payments before the final settlement is made to partners.

7.5.2 Double entry of a dissolution

Entry

Debit

Credit

Assets, at book value, are trans-
ferred to the Realisation account
(N.B. Unrecorded goodwill and
revaluations may be ignored.)

Cash received for assets sold

Assets taken by partners at
valuation

Costs paid by partnership
Costs paid by acquiring company

Cash received from acquiring
company

Shares received from acquiring
company and distributed to
partners

Creditors paid in cash

Creditors taken over by
acquiring company

Discount on settlement of
creditors

Loan from partner settled in cash

Realisation a/c

Cash a/c

Capital a/c of
receiving partner

Realisation a/c
Realisation a/c
Cash a/c

Capital a/c of each
partner with value
of shares received

Creditors’ a/c

Creditors’ a/c
Creditors’ a/c

Loan a/c

Asset a/cs

Realisation a/c

Realisation a/c

Cash a/c
Purchasers’ a/c

Purchasers’ a/c
Purchasers’ a/c
Cash a/c

Purchasers’ a/c
Realisation a/c

Cash a/c
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Loan from partner settled by issue
of debenture stock in acquiring
company

Balance on Purchasers’ a/c repre-
sents total purchase consideration

Balance on Realisation a/c repre-
sents profit on realisation (reverse
entries for a loss

Current a/cs transferred

Final balances on Capital

Loan a/c

Purchasers’ a/c

Realisation a/c

Current a/cs

Capital a/cs

Purchasers’ a/c

Realisation a/c

Capital a/cin
profit-sharing
ratio

Capital a/cs
Cash a/c

a/cs settled in cash

7.5.3 Debit balances on Capital account

At the final cash-settlement stage a partner with a debit (adverse) balance
on Capital account is obliged to pay cash into the partnership to settle
the balance.

Where a partner in this position is unable to meet such a payment, then
the rule in the leading case of GARNER v MURRAY requires that the
debit balance is borne by the other partners in the ratio of their last
agreed capital balances. This would be the balances at the last Balance-
sheet date.

Example 13
X, Y and Z have been partners for some years, sharing profits in the

ratio 3:1:1. On 31 December 19X9 the summarised Balance sheet ap-
peared as follows:

£ £

Fixed assets at net book value 55,000
Current assets

Stock and debtors 32,600

Cash 9,200

£41,800

Creditors: amounts falling due within
one year

Trade creditors (15,100)

Hire-purchase liability (1,100)

£(16,200)



149

Net current assets 25,600

Total assets less current liabilities 80,600
Creditors: amounts falling due after
more than one year

Loan account - Y (5,000)
£75,600
Representing:
Capital Current Total
accounts accounts
£ £ £
X 20,000 8,300 28,300
Y 20,000 5,400 25,400
Z 20,000 1,900 21,900
£60,000 £15,600 £75,600

On 1 January 19XO0 they accepted an offer from Big Plc to acquire their
business as a going concern. The dissolution was effect as follows:

(1) BigPlc paid a total of £121,000 being:
(a) 50,000 shares in Big Plc valued at £1.60 each to be distributed
among the partners in profit-sharing ratio;
(b) £20,000 in cash;
(c) £5,000 debenture stock in Big Plc at par to settle Y’s Loan
account;
(d) The trade creditors assumed; and
(e) Solicitors’ costs of £900 paid;
(2) X took a car valued at £9,000 and assumed the hire-purchase liability
which related to that car;
(3) The remaining fixed assets, stock and debtors were transferred to Big
Plc;
(4) The partnership paid further costs of £500;
(5) Final amounts due to and from partners were settled in cash.

Required: Record the dissolution in the books of the partnership.
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Realisation account

£ £
Fixed assets 55,000 | Capital a/c - X -
Stock and debtors 32,600 motor-car 9,000
Purchasers’ a/c - costs 900 | Purchasers’ a/c - total
Cash a/c - costs 500 consideration 121,000
Capital a/c - profit on
realisation 41,000
£130,000 £130,000
Purchasers’ account
£ £
Realisation a/c - total Capital a/c - shares
consideration transferred 121,000 (50,000 x £1.60) 80,000
Cash a/c 20,000
Loan a/c - debenture
stock 5,000
Trade creditors’ a/c 15,100
Realisation a/c - costs
£121,000 £121,000
Cash account
£ £
b/f 9,200 | Realisation a/c ~ costs 500
Purchasers’ a/c 20,000 | Capital a/c - withdrawn
Capital a/c - paid in by to settlement
X to settle deficit on balances due:
Capital a/c 3,000 Y 17,600
VA 14,100
£32,200 £32,200
Trade creditors’ account
£ £
Purchasers’ a/c 15,100 | b/f 15,100
Hire-purchase liability account
£ £
Capital a/c - X 1,100 | b/f 1,100
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Loan account - X

£ £
Purchasers’ a/c - b/f 5,000
debenture stock 5,000

N.B. The profit arising on realisation represents goodwill and asset values
in excess of book value. These items are not recognised separately.

7.5.4 Piecemeal dissolutions

When a partnership is dissolved, and the individual assets are sold for
cash, then it is likely that it will be some months before all cash is received
and the final settlement made. However, once the liabilities and costs
have been settled the partners may make a series of distributions to them-
selves as the cash is received, but in such a way that no partner will be
required to repay any sums at a future date.

The key is to assume that each distribution is the last, and consider the
position which would arise as a result. This is achieved by carrying forward
a balance on the Realisation account at each distribution date which
represents the loss (or profit) on realisation if that distribution were the
last. The cash distribution can then be determined from Capital account
workings (NOT the actual Capital account).

The technique is as follows:

Enter receipts and payments as before.

At first distribution date carry forward the balance on the Realisation

account - the maximum possible loss.

3 Open a vertical Capital account working and write off the maximum
possible loss in profit-sharing ratio.

4 Apply the Garner v. Murray rule to any deficits arising.

Identify cash to be paid to each partner.

6 Identify revised balances on Capital account and return to step 2 for

next distribution date.

N

wn

N.B. The Garner v. Murray ratio will not change between successive
distributions, since it is the last AGREED capital balances which deter-
mine the ratio.

Example 14
S, T and U have traded as partners for several years, sharing profits and

losses in the ratio 5:3:2. Their summarised Balance sheet at 30 June 19X1
was as follows:



Assets (excluding cash)
Cash

Creditors

Capital accounts
S
T
U
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£
70,000
10,000

80,000
(12,000)

£68,000

26,000
28,000
14,000

£68,000

On 1 July 19X1 the partnership was dissolved. Transactions were as

follows:

1 Jul
5 Jul
12 Jul
31 Jul
31 Aug
30 Sep

Required:

Received £4,000
Paid creditors in full
Received £5,000, and paid costs of £3,000
Received £6,000 and made first distribution to partners

Received £20,000 and made second distribution to partners
Received £30,000 and made final distribution to partners.

Realisation account and workings to show the distributions to the partners.

Realisation account

Assets at book value
Cash a/c

Balance b/d

Balance b/d

£
70,000
3,000

£73,000

58,000

£58,000

38,000

£38,000

Cash a/c (1 July)

Cash a/c (12 July)

Cash a/c (31 July)

Balance ¢/d - maximum
possible loss on 31 July

Cash a/c (31 August)
Balance c¢/d - Maximum
possible loss on 31 Aug

Cash a/c (30 Sep)
Capital a/c - actual loss
on realisation
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First distribution - 31 July

Total N
£ £
Capital account balance 68,000 26,000

Maximum possible loss in
profit-sharing ratio 5:3:2  (58,000) (29,000)

T
£
28,000

U
£
14,000

(17,400) (11,600)

£10,000 (3,000) 10,600 2,400
Deficit written off in ratio
of capital balances
28,000: 14,000 3,000 (2,000) (1,000)
Distribution £Nil £8,600 £1,400
Second distribution - 31 August
Total S T U
£ £ £ £
Capital account balance 68,000 26,000 28,000 14,000
First distribution (10,000) - (8,600) (1,400)
58,000 26,000 19,400 12,600
Maximum possible loss in
profit-sharing ratio 5:3:2  (38,000) (19,000) (11,400) (7,600)
Distribution £20,000 £7,000 £8,000 £5,000
Final distribution - 30 September
Total S T U
£ £ £ £
Balance above 58,000 26,000 19,400 12,600
Second distribution (20,000)  (7,000)  (8,000) (5,000)
38,000 19,000 11,400 7,600
Final loss on realisation in
profit-sharing ratio 5:3:2 (8,000)  (4,000) (2,400) (1,600)
Final distribution £30,000 £15,000 £9,000 £6,000
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Exercises to Chapter 7

1. A, B and C are in partnership. B and C are entitled to salaries of £10,000
each. Interest on capital is allowed at the rate of 10 per cent per annum.
The balance of profit or loss is shared in the ratio 5:3:2. Opening
capital balances were £20,000:£12,000:£8,000, and Current account
balances £5,000:£2,000:£2,500. You are required to prepare an ap-
propriation statement to share a net profit of £32,000.

2. Facts as in exercise 1. Drawings were A £5,000: B £7,000: C £4,000.
You are required to prepare Current accounts and identify the closing
balances carried forward.

3. Facts as in exercise 1, but the profit amounted to £9,000 only. You
are required to prepare an appropriation statement.

4. Facts as in exercise 1, but B and C have guaranteed A a share of profits,
which is not less than £9,000. You are required to revise the appro-
priation statement.

§. Facts as in exercise 1, but B has guaranteed C that 4’s share of profits
will not exceed-£5,000. You are required to revise the appropriation
statement.

6. X, Y and Z are partners sharing profits and losses in the ratio 2:2:1.
Their Capital account balances are £15,000:£12,000:£10,000 res-
pectively. Q is admitted as a partner and pays £5,000 cash into the
business. In addition he pays £2,500 privately to X for a one-fifth share
of goodwill. The new profit-sharing ratio is X:Y:Z:Q; 1:2:1:1. No
Goodwill account is carried in the books. Tangible assets are to be
valued at £4,000 above their book value; this value is to remain in the
books. You are required to record the above entries in the Capital
accounts of the partners, and identify the balances carried down.

7. Facts as in exercise 6. Following the admission of Q, X retires. Good-
will is to be valued at £9,000. A life-insurance policy which appears in
the books at cost of £13,000 was cashed for a sum of £15,000 and this
was paid to X in part satisfaction of amounts due to him. The remaining
balance is to be transferred to a Loan account. Y, Z and Q continue in
business, sharing profits and losses equally. You are required to write
up the Capital accounts of the partners and the Loan account of X
and identify all relevant balances carried forward.



198 CHAPTER 8

INTRODUCTION TO LIMITED

COMPANY ACCOUNTS

8.1 LEGAL STRUCTURE, BIRTH AND DEATH
8.1.1 The separate entity concept

In Chapter 1 we examined companies briefly in relation to the need for
accounts. In particular we stated that:

1 A company is a legal person separate from its owners, managers and
employees. This was decided in the leading case of Saloman v. Saloman.
It is known as the SEPARATE ENTITY CONCEPT and implies that
the company’s life may be unlimited. Companies may be incorporated
in one of three ways:

(a) by Royal Charter (e.g. Hudson’s Bay Company)
(b) by Special Act of Parliament (e.g. Bank of England)
(c) by registration under the Companies Acts.

2 Companies Acts contain a substantial amount of detail regulating
companies accounting and administration. In 1985 a new Companies
Act consolidated the provisions of several earlier Acts. In addition
each company is further regulated by two documents which are unique
for each company. These are:

(a) Memorandum of association, which covers dealings with the out-
side world. In particular:

- Name

- Registered office

- Objects

- Declaration of limited liability
- Capital of the company
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(b) Articles of association, which covers the internal management of
the company. The Companies Act 1985 contains a model set of
Articles known as Table A.

3 The owners of a company are its shareholders (also called members).
The total capital is divided into many, possibly thousands or millions,
of shares. The shares may be held by many different shareholders,
who may be individuals, or other companies. The shares carry votes
which are used in the company’s general meetings and represent the
ultimate power behind a company. If one person or company owns a
majority of the shares then they will control the company in which
the shares are held. Shares may be purchased and sold independent of
the company.

4 The management of a company is delegated to directors, who may
or may not also own shares. The directors are appointed by share-
holders in general meeting. The directors act in a stewardship capacity
and are required to lay financial statements before the shareholders at
each annual general meeting.

The life of a company is terminated by liquidation or by dissolution by
a Court order.

8.1.2 Limited liability and nominal value

Each share has an assigned nominal value. Typical nominal (alias par)
values are 25 p, 50 pand £1. Once a shareholder has fully paid the nominal
value on shares held there can be no further obligation on the shareholder
towards the liabilities of the company. We say that the shareholders have
limited liability. The name of the company will include the word ‘Limited’.

In addition to denoting the shareholder’s liability the nominal value is
the figure at which shares are stated in the Balance sheet. The total nominal
value of all shares is called the ‘company’s share capital’.

8.2 PUBLIC AND PRIVATE COMPANIES
Companies are subdivided into two classes:
8.2.1 Public company

Conditions:

(a) Limited by shares or guarantee and has a share capital; and
(b) Has a memorandum which states that it is a public company; and
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(c) Registered as a public company; and

(d) At least two shareholders; and

(e) Name ends with ‘public limited company’ or ‘Plc’; and
(f) Minimum paid up share capital of £50,000.

Benefits:

May offer shares and debentures to the public.

8.2.2 Private company

This is any company which fails to meet any of the conditions above.
The name will then end with ‘Limited’ or ‘Ltd’. The company may not
offer shares and debentures to the public.

8.3 SHARE CAPITAL
8.3.1 Classes of shares
Share capital is divided into various classes:

1 Ordinary shares. All companies must have ordinary shares since they
carry the votes. Ordinary shareholders may receive a dividend for each
accounting period which varies according to the amount which the
directors recommend. This will depend on how well the company has
traded. In addition the increase in a company’s value will be reflected
in an increase in the value of each ordinary share.

2 Preference shares. A few companies additionally issue preference shares.

Preference shares do not normally carry votes and are entitled only to
a fixed rate of dividend. Consequently the value of a preference share
will not increase as an ordinary share will increase.
Preference shares may be CUMULATIVE. This means that if the
dividend in any period is not paid, then it is not lost, but carried
forward. The full backlog must be paid before any ordinary dividends
are paid.

Both ordinary and preference shares may be REDEEMABLE. This
means that the company may purchase back the shares at some future
date, at an agreed price.
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8.3.2 Authorised, issued and paid-up share capital

AUTHORISED share capital is the maximum nominal amount of share
capital which the company is entitled to issue. The Memorandum of
association will stipulate the authorised share capital.

ISSUED share capital is the full nominal value of that part of the
authorised share capital which has been allotted to shareholders.

PAID-UP or CALLED-UP share capital is that part of the issued share
capital for which the shareholders have paid the company. Where this is
less than the full issued nominal value, then we say that shares are ‘partly
paid’.

Dividends may be expressed as either:

(a) pence per issued share; or
(b) a percentage of the called-up share capital.

Example 1

ABC Plc has an authorised share capital of 1,000,000 25p ordinary shares
of which 800,000 have been allotted. Of this 15 p per share has been
called-up and paid-up.

Required:
(a) Compute a 10 p per share dividend; and
(b) Compute a 10 per cent dividend.

(a) Number of shares issued = 800,000
Dividend = 800,000 x £0.10 = £80,000.

(b) Called-up share capital = 800,000 x £0.15 = £120,000
Dividend = £120,000 x 10 per cent = £12,000.

8.4 RESERVES

In addition to share capital the company’s capital includes reserves. A
reserve can be distinguished from a provision. A provision is an amount
set aside to meet a probable liability, but the exact amount is uncertain.
A reserve is any amount set aside in excess of probable liabilities. Below
are the more common reserves:

8.4.1 Profit and loss account

The Profit and loss account or retained profits represents the accumulated
balances of net profit which have not been used to pay dividends. The
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reserve remains available to charge dividends paid in the future. We there-
fore say that it is a DISTRIBUTABLE RESERVE. The remaining reserves
are UNDISTRIBUTABLE, since they are not available for the charging of
dividends paid.

8.4.2 Share premium account

This reserve arises when shares are issued at a price above nominal value.
The issue price is an estimate of what potential shareholders are willing

to pay.

Example 2

DEF Plc issues 50,000 25 p ordinary shares at 125 p each fully paid in
cash.

Required:
Prepare the journal entry to record the share issue.

£ £
Dr Cash account (50,000 x £1.25) 62,500 -
Cr  Ordinary share capital account (50,000
x £0.25) - 12,500
Cr  Share premium account (50,000
x £1.00) - 50,000
£62,500 £62,500

The issue of shares is dealt with in more detail in Chapter 12.
The uses of a Share premium account are:

1 Writing-off preliminary expenses. These are expenses incurred in forming
a company prior to trading;

2 Writing-off share issue expenses. These would constitute commissions,
underwriting costs and professional fees;

3 Writing-off the premium payable on redemption or purchase of shares
and debentures subject to limits (see Chapter 10);

4 Writing-off the discount on issue of debentures; and

5 Issue of bonus shares (described in Section 8.6 below).
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8.4.3 Capital redemption reserve

This reserve arises when a company redeems or purchases its own shares.
It is created by a transfer from the Profit and loss account to replace the
lost share capital. (This is dealt with in more detail in Chapter 10.)

The uses of a Capital redemption reserve account are the issuing of
bonus shares only (described in Section 8.6 below).

8.4.4 Fixed-asset replacement reserve

This account represents transfers from the Profit and loss account in order
to retain funds within the company toward the increases in replacement
costs of fixed assets.

8.4.5 Debenture redemption reserve

This reserve, known as a ‘sinking fund’, represents transfers from the
Profit and loss account in order to retain funds within the company
towards the cost of redeeming debentures.

8.4.6 Revaluation reserve

This reserve arises when the recorded value of fixed assets is increased to
reflect some current measure of the assets value.

Example 3
GHI Plc owns a piece of land which is recorded in the accounts at a cost

of £10,000. The directors wish to show the value of the land in the ac-
counts. The value is agreed at £23,000.

Required:
Prepare the necessary journal entry to record the revaluation.
£ £
Dr Land account £13,000
Cr Revaluation reserve £13,000

8.5 LOAN CAPITAL

In addition to capital provided by shareholders a company may raise capital
in the form of loan stock or debenture stock. Both will carry a fixed rate
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of interest and preferential rights to repayment of capital before share-
holders.

8.5.1 Loan stock

Loan stock may carry a fixed repayment date or it may be irredeemable.
The rate of interest will be set at or above the market rate depending on
the risk involved. Generally loan stock is unsecured. This means that the
loan stock ranks with creditors in a liquidation.

8.5.2 Debenture stock

Debenture stock carries additional rights to loan stock. It is covered by a
debenture trust deed. This appoints a representative to safeguard the
interests of the debenture holders. The debenture stock is normally
secured on the assets of the company, and if interest or capital is not paid
on the due date, then a receiver is appointed to seize specified assets
and sell them to satisfy any amounts due to the debenture holders.

Both loan stock and debenture stock have a nominal value on which
interest is calculated. They can both be issued and redeemed at a premium
or discount.

Debenture stock may carry rights to convert into ordinary shares at
some future date. It would then be called CONVERTIBLE DEBENTURE
STOCK.

8.6 FORMS OF SHARE ISSUE
There are three basic types of share issue:
8.6.1 Market issue

A market issue involves the issue of new shares for cash at a price equal to
the current market price, or an estimate thereof where no shares are
previously in issue. Shares may never be issued at a price below nominal
value.

The share issue is normally arranged by a separate expert body such as
a merchant bank, or firm of stockbrokers.

Example 4

JKL Plc makes a market issue of 20,000 50 p ordinary shares at the
current market price of 375 p.



Required:
Journal entry to record the issue.

£
Dr Cash account (20,000 x £3.75) 75,000
Cr Ordinary share capital account
(20,000 x £0.50)
Cr  Share premium account
(20,000 x £3.25)
£75,000

8.6.2 Rights issue
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10,000

65,000
£75,000

A rights issue is an issue of new shares for cash to existing shareholders
in proportion to the number of shares already held, e.g. a 1-for-10 rights
issue gives the right to acquire one new share for every ten held. The issue
price will be below the current market price to make the issue attractive

to shareholders.

Shareholders are not bound to take up their rights issue, but may sell
the right to some other person. This is called a ‘sale of rights nil paid’

since the purchaser has still to pay the company the issue price.

Example 5

MNO Plc has 500,000 25 p ordinary shares in issue. A 1-for-5 rights issue

was made at 160 p.

Required:
Journal entry to record the share issue.

Number of shares issued 500,000 x 1/5 = 100,000

25,000

135,000

£
Dr Cash account (100,000 x £1.60) 160,000
Cr Ordinary share capital account
(100,000 x £0.25)
Cr Share premium account
(100,000 x £1.35)
£160,000

£160,000
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8.6.3 Bonus issue

A bonus issue alias scrip issue or capitalisation issue does not involve any
cash at all. It is an issue of shares to existing shareholders in proportion
to shares already held, which is charged to available reserves. The effect
of a bonus issue is to divide the total share capital into a larger number
of smaller units of nominal value. The reason for such an issue may be
to make the shares more easily marketable.

The reserves available for making a bonus issue are:
1 Capital redemption reserve
2 Share premium account

3 Profit and loss account
4 Revaluation reserve.

Example 6

PQOR Pic has 400,000 25 p ordinary shares in issue. A 1-for-5 bonus issue
was made from the Share premium account.

Required:
Journal entry to record the share issue.

Number of shares issued 400,000 x 1/5 = 80,000

Dr Share premium account (80,000 x 25p) £20,000
Cr  Ordinary share capital account £20,000

In addition to these forms of share issue there are two further methods
by which shares may be issued.

8.6.4 Options

Options are often given to directors and employees. They give the holder
an option to purchase shares in the future at an agreed price. If the market
price is above the agreed issue price then it is likely the options will be
exercised, and shares issued.

8.6.5 Convertible debentures

Debentures may carry an option to convert into shares. There will norm-
ally be a cash redemption alternative and the decision to convert or have
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shares redeemed will depend on the market price of the shares at the time
of choice.

Example 7

Specimen Plc is a trading company. The accountant has prepared the
following Trial balance at 31 December 19X8

£ £
Ordinary shares of 25p 230,000
Share premium account 40,000
Profit and loss account at 1 January 19X8 7,400
8% Debentures repayable 19Y8 70,000
Leasehold property at cost 270,000
Accumulated depreciation 61,200
Office equipment and machinery at cost 145,000
Accumulated depreciation 48,000
Proceeds of equipment sold 5,000
Stock at cost 1 January 19X8 47,000
Trade debtors 54,570
Balance at bank 18,400
Trade creditors 29,930
Sales 455200
Purchases 325,950
Rent and rates 23,210
Wages and salaries 39,300
Distribution costs 16,900
Debenture interest 5,600
Telephone, postage and sundry costs 800

£946,730 £946,730

The following information is relevant:

1 Stock at cost on 31 December 19X8 was £62,570

2 A bonus issue of one new share for ten held was made during the year
from Share premium account. This has not been recorded in the ac-
counts. The new shares rank for dividend in the current period.

3 The proceeds of equipment sold relates to equipment which had cost
£20,000, and accumulated depreciation £14,000, and was sold on
2 January 19X8. The equipment is still included in the Trial balance.
Depreciation of £25,000 is to be provided, being 20 per cent on cost.

4 Leasehold property was revalued on 1 January 19X8 to £300,000.
This is to be depreciated over 40 years.
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5 Corporation tax of £8,000 is to be provided.
6 A dividend of 1 p per share is proposed.

Required:

A Trading, profit and loss account for the year and a Balance sheet at the
31 December 19X8 for management. (Ignore advance corporation tax.)

(N.B. Published accounts are not required.)

SPECIMEN PLC

Trading, profit and loss account for the year to 31 December 19X8

Sales
Opening stock
Purchases

Closing stock
Cost of sales

Gross profit
Establishment costs
Rent and rates
Depreciation of leasehold (WI)

Administration and general costs
Wages and salaries
Telephone, postage and sundry
Depreciation of equipment
Underprovision for depreciation on
equipment sold (W2)

Selling and distribution costs
Distribution costs
Financial costs
Debenture interest
Total overheads

Net profit before taxation
Corporation tax

£

(47,000)
(325,950)

(372,950)
62,570

(23,210)
(7,500)

(30,710)

(39,300)
(800)
(25,000)

(1,000)
(66,100)

(16,900)

(5,600)

£
455,200

(310,380)

144,820

(119,310)

25,510
(8,000)




Net profit after taxation
Proposed dividend (W3)

Retained profit for year
Balance sheet at 31 December 19X8
Fixed assets - tangible

Leasehold property at valuation (W4)
Accumulated depreciation (W4)

Office equipment and machinery at cost (W5)

Accumulated depreciation (W5)

Current assets
Stock at cost
Trade debtors
Cash at bank

Creditors: amounts falling due within one year

Trade creditors
Corporation tax
Proposed dividend

Total assets less current liabilities
Creditors: amounts falling due after more
than one year
8% Debenture stock 19Y8

Capital and reserves

Called-up share capital (W3)

Share premium account (£40,000 — 23,000)
Revaluation reserve (W4)

Profit and loss account (£7,400 + 7,390)

£

300,000
(7,500)

125,000
(59,000)

62,570
54,570
18,400

£135,540

(29,930)
(8,000)
(10,120)

£(48,050)

17,000
91,200
14,790

167
17,510

(10,120)
£7,390

292,500

66,000
358,500

87,490
445,990

(70,000)

£375,990

£
253,000

122,990
£375,990
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WORKINGS
1 Depreciation of leasehold

£300,000 x 1/40 = £7,500

2 Underprovision for depreciation on equipment sold

£
Cost 20,000
Accumulated depreciation (14,000)
Net book value 6,000
Proceeds (5,000)
Loss £1,000
3 Share capital and proposed dividend
No. £
Ordinary shares at 1 January 19X8 920,000 230,000
Bonus issue 92,000 23,000

1,012,000 £253,000

Proposed dividend 1,012,000 x £0.01 = £10,120

4 Leasehold property

Gross Depreciation Net
£ £ £
At 1 January 19X8 270,000 (61,200) 208,800
Revaluation surplus 30,000 61,200 91,200
300,000 - 300,000
Depreciation for 19X8 - (7,500) (7,500)

£300,000 £(7,500) £292,500
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5 Office equipment and machinery

Gross Depreciation  Net
£ £ £
At 1 January 19X8 145,000 (48,000) 97,000
Disposal (20,000) 14,000 (6,000)
Depreciation for 19X8 - (25,000) (25,000)
£125,000 £59,000 £66,000

Exercises to Chapter 8

1. A company has an authorised share capital of 400,000 25 p shares, of
which 300,000 are in issue, but only 20 p per share has been called up.
You are required to compute:

(a) a30 p per share dividend; and
(b) a 30 per cent dividend.

2. A company has 100,000 ordinary shares of £1 each in issue, fully paid.
You are required to make journal entries for the following transactions:

(a) an issue of 30,000 shares for £2.50 each to the open market;

(b) abonus issue of 1-for-5 from share premium;

(¢) arights issue of 1-for-13 at £1.80 each, and

(d) a revaluation of land from its cost of £70,000 to market value
of £120,000.
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CHAPTER 9 17

ACCOUNTING STANDARDS

9.1 WHAT IS AN ACCOUNTING STANDARD?
9.1.1 Background

In Chapter 1 we identified various reasons why accounts are prepared for
a company. Those reasons fall into two major groups. These are:

(a) Preparation of detailed accounts for management and financial
advisors to determine how the company has performed, and to make
decisions regarding the future. Such accounts are not available to
shareholders or the general public. They are referred to as ‘internal
or management accounts’.

(b) Preparation of accounts for distribution to shareholders and for
placing on file at Companies House for inspection by the general
public. Such accounts must comply with the requirements of the
various Companies Acts in respect of format and minimum disclosure.
They are referred to as ‘STATUTORY accounts.’

The Companies Acts deal primarily with disclosure. They do not
attempt to deal with the many problems of an accounting treatment
nature. It is generally considered sensible to leave this area for accountants
to sort out themselves.

To this end a committee now called the Accounting Standards Committee
was formed in 1969. It draws representatives from the various professional
bodies, in particular:

Institute of Chartered Accountants in England and Wales
Institute of Chartered Accountants of Scotland

Institute of Chartered Accountants in Ireland

Chartered Association of Certified Accountants
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Institute of Cost and Management Accountants
Chartered Institute of Public Finance and Accountancy.

9.1

.2 Objectives of the Accounting Standards Committee

The Accounting Standards Committee does not attempt to standardise
accounting practice, nor to lay down rigid rules. Rather, its aim is to
narrow the areas of difference and variety in accounting practice by
publishing authoritative statements on best accounting practice. Two
types of statement are issued:

(a)

(®)

Statement of Standard Accounting Practice (SSAP)
These statements deal with areas of fundamental and major import-
ance, and which affect companies generally. An example would be
stock valuation. Members of the various bodies represented on the
Accounting Standards Committee acting as preparers, directors,
company officers or auditors are expected to observe the Standards.
Where there is a departure, for justified reasons, from a Standard,
then that departure should be clearly explained. Failure to comply
with a Standard would be a disciplinary matter between the member
body and the accountant involved. SSAPs are not limited in their
application to companies. They are intended to apply to all accounts
intended to give a true and fair view.
Statement of Recommended Practice (SORP)
These statements are intended to deal with areas which are not of
fundamental or major importance or which do not affect the general-
ity of companies. An example would be the accounts of pension funds.
Compliance with such statements is encouraged, but is not mandatory.
In preparing statements, both SSAP and SORP, the Accounting Stan-

dards Committee will first issue an exposure draft. This sets out the in-
tended statement, and invites public comment which may then be taken
into account in the final Statement.

It can thus be seen that there are three levels of accounting requirement.

Recommended Practice
(SORP)

Source Status

Companies Acts Enforced by the Courts (through the
Department of Trade and Industry)

Statements of Standard Enforced by the various Institutes

Accounting Practice represented on the Accounting Standards

(SSAP) Committee

Statements of Voluntary compliance
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9.2 CONCEPTS, BASES AND POLICIES (SSAP 2)
9.2.1 Purpose of the Standard

Due to an accident of history this Standard, which lays down the foun-
dation for all other Standards, became SSAP 2! (SSAP 1, which deals
with associated companies, is considered in Chapter 20.)

The Standard recognises four fundamental concepts, but accepts that
for any given transaction there may be more than one acceptable method
of putting these concepts into practical effect. It therefore requires that
accounts disclose which of the acceptable alternatives have been applied
in those accounts.

9.2.2 Definitions
There are three definitions:

(a) Fundamental accounting concepts
These are broad basic assumptions which underlie the periodic financial
statements of business enterprises. Four such fundamental concepts
are regarded as having general acceptability:

(i) the ‘going-concern’ concept - Balance sheet and Profit and loss
account are drawn up, assuming there is no intention to liquidate
or reduce significantly the scale of operations;

(ii) the ‘accruals’ concept (or matching-up) - revenues and costs related
to a particular transaction are both included in the period when the
transaction occurs rather than the period when cash flow occurs;

(iii) the ‘consistency’ concept - similar transactions are dealt with in a
consistent manner both within any one period, and from one period
to the next;

(iv) the ‘prudence’ concept - profits are not recognised until eventual
cash receipt is reasonably certain, whereas losses are recognised in full
as soon as they are foreseen.

(b) Accounting bases
These are the methods developed for applying fundamental accounting
concepts to financial transactions and items for the purpose of pre-
paring financial accounts, and in particular (i) for deciding the ac-
counting periods in which particular revenues and costs should be
dealt with in the Profit and loss account; and (ii) for deciding the
amounts at which assets and liabilities are stated in the Balance sheet.
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(¢) Accounting policies

These are the specific accounting bases selected and consistently
followed by a business enterprise as being, in the opinion of the
management, appropriate to its circumstances and best suited to
present fairly its results and financial position.

9.2.3 Accounting points and disclosure

The Standard requires that all company accounts include a list of ac-
counting policies. The table below gives an indication of the major areas
upon which an accounting policy will be disclosed, together with an
indication of the matters covered by the policy.

Area

Nature of policy

Turnover (alias sales)

Stocks

Depreciation

Government grants

Research and Development

Foreign currencies

Consolidation and equity
accounting

Deferred tax

Accounting conventions

Goodwill

How computed

Basis of valuation

Methods and rates

Treatment of capital grants

Circumstances when expenditure deferred

Rates of translation

Treatment of acquisitions and disposals,
unrealised profit, indirect holdings

Basis of provision

Use of historic cost, revaluations and
current cost

Whether fully eliminated or depreciated

9.3 STOCK VALUATION (SSAP 9)

9.3.1 Purpose of the Standard

The Standard deals with two distinct areas of stock valuation:

(a) Long-term contracts. This is fully dealt with in Chapter 27.
(b) Valuation of trading stocks, work-in-progress and finished production,
including short-term contracts. This is dealt with in this chapter.

The purpose is to identify methods of achieving acceptable measures
of the cost of stocks held, and to indicate situations where the prudence
concept requires the use of a different measure of stock value called

‘net realisable value’.
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9.3.2 Definitions

(2)

Cost

Cost is defined in relation to the different categories of stocks and
work-in-progress as being that expenditure which has been incurred
in the normal course of business in bringing the product or service to
its present location and condition. This expenditure should include,
in addition to cost of purchase, such costs of conversion as are ap-
propriate to that location and condition.

(b) Cost of purchase

©

Cost of purchase comprises purchase price including import duties,
transport and handling costs and any other directly attributable costs,
less trade discounts, rebates and subsidies.

Cost of conversion

Cost of conversion comprises:

(1) costs which are specifically attributable to units of production, i.e.
direct labour, direct expenses and subcontracted work;

(2) production overheads (as defined);

(3) other overheads, if any, attributable in the particular circumstances
of the business to bringing the product or service to its present
location and condition.

(d) Production overheads

(e)

Production overheads are overheads incurred in respect of materials,
labour or services for production, based on the normal level of activity,
taking one year with another. For this purpose each overhead should
be classified according to function (e.g. production, selling or adminis-
tration) so as to ensure the inclusion in cost of conversion of those
overheads (including depreciation) which relate to production, notwith-
standing that these may accrue wholly or partly on a time basis.

Net realisable value

Net realisable value is the actual or estimated selling price (net of trade,
but before settlement discounts) less:

(1) all further costs to completion; and

(2) all costs to be incurred in marketing, selling and distributing.

9.3.3 Accounting points

(@

Stocks and work-in-progress should be valued at the lower of cost and
net realisable value. The comparison of cost and net realisable
value should be applied to separate items or groups of similar items
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®)

®
(i)

©

and then aggregated. It should never be a comparison of total cost
and total net realisable value.

The use of cost is a direct application of the matching-up concept.
The cost of items purchased or manufactured in the current period,
but sold in a future period, is carried forward for matching with the
sales revenue when the sale occurs.

The use of the lower net realisable value is an application of the
prudence concept, which takes priority over all other concepts when
there is a conflict. Where stock value has fallen due to physical de-
terioration, obsolescence or market changes, or where stock cannot
be sold at current selling prices due to errors in production or pur-
chasing, then any loss arising is recognised immediately.

Acceptable alternatives to actual cost
Two methods other than actual costs are considered acceptable.
These are:

Selling price less an estimated profit margin. This is used in retail
situations where stock records may be maintained at selling prices.
Standard cost. Where a manufacturing business operates a standard
costing system, then the stock valuation will be an automatic by-
product of that system.

In both cases it is necessary that the result gives a close approxi-
mation to actual cost, and it would be necessary for the management
to justify their assumptions periodically.

The use of the latest purchase price per unit applied to all units is
not considered an acceptable approximation to actual cost.
Identification of units to be valued
Items (stock or fixed assets) which are indistinguishable one from
another are referred to as fungible assets! Where a business buys and
sells or uses identical units of stock, then they will need to make an
assumption concerning which of the items purchased have been used,
and which remain in stock. The commonly used methods are ex-
plained below, and an example of the various calculations is given.

Certain methods are not accepted in SSAP 9 since they are con-
sidered not to give a close approximation to actual cost or they are
not realistic assumptions as to physical movements. However, these
methods are found in use by a few businesses, who will be required
to quantify the effect of not using an acceptable method.
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Method

Accepted
by SSAP 9

Not accepted by
SSAP 9, but used
in practice

Unit cost - Stock units are
identifiable (e.g. by a reference
number) and each unit is separately
valued at actual cost.

First-in-first-out (FIFO) - It is
assumed that the oldest stock is used
first, and that stock in hand represents
the latest purchases. This is a

sensible assumption of what may have
occurred physically.

Average cost - The total cost over a
period is divided by the number of
units purchased in that period. The
calculation may be made each time a
purchase occurs. This is called a
‘moving average’. It assumes that
new purchases are mixed with older
stock and usage is random.

Last-in-first-out (LIFO) - It is
assumed that the most recent pur-
chases are the first to be used and
that stock in hand represents earlier
purchases. In physical terms it
assumes that the new stock is added
to the top of a pile, and that sales
are made from the top of the same
pile. Unless there is heavy usage
without replacement, the items at
the bottom of the pile would never
be used. This does seem an un-
realistic assumption. However, it

is claimed to be a prudent method,
since the cost of the most recent
purchases are charged in the
Trading account, reducing profits
available for distribution. The
profit retained is then available to
meet the higher cost of replacing
stock.

Base stock - A predetermined

volume of stock is treated as the

base stock, and valued at a historic
cost which may remain constant, or be
revalued from time to time. Any

YES

YES

YES

NO

YES (particularly
in the United
States of
America)
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additional stock would be valued on
some other basis. The method is
used in continuous processing
industries where there is always a
volume of stock tied up inside the
process. The process cannot
function without that volume,
although physically it changes as

the process continues. The NO YES
business will always require that (particularly
volume of stock within the sugar-refining
process, and are valuing it as if businesses)

it were part of the plant itself
(although it is disclosed under

‘Stocks’).

Replacement cost - Stock in hand

is valued at the notional cost of NO Basis of current
replacement. It is sometimes cost accounting

called ‘next-in-first-out’.

Example 1

The following purchases and sales of identical stock units occurred in
the month of January. There was no opening stock.

Units Per unit
£
1Jan Purchases 100 10
10Jan Sales (65)
15 Jan Purchases 70 12
23 Jan Sales (45)
31Jan Stock in hand 60

Required:
The cost of the 60 units of closing stock on the alternative bases of:

(i) First-in-first out (FIFO)
(ii) Last-in-first-out (LIFO)
(iii) Moving average cost.
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(i) and (ii)
FIFO LIFO
Units Per unit £ Units Per unit £
£ £
1 Jan Purchase 100 10 1,000 100 10 1,000
10Jan Costofsales  (65) 10 (650) (65) 10 (650)
Stock 35 350 35 350
15 Jan Purchase 70 12 840 70 12 840
23 Jan Cost of sales  (35) 10
(10) 12 (470) (45) 12 (540)
31Jan Stockinhand 60 £720 60 £650

Under the FIFO basis the 60 units of stock represent units at £12 each.
Under the LIFO basis the 60 units of stock represent 35 units at £10, and
25 units at £12.

(iii) Moving average cost

Units Per unit
£ £
1Jan Purchase 100 10 1,000
10Jan Cost of sales (65) 10 (650)
35 - 350
15 Jan Purchase 70 12 840
Total 105 11.33* 1,190
23 Jan Cost of sales 45) 11.33%* (510)
31Jan Stock £60 £680

* The average calculation takes place each time there is a purchase. The average
cost per unit of £11.33 marked * was found by dividing the total units 105 into the
aggregate cost £1,190.

9.3.4 Disclosure

(a) Accounting policies regarding cost and net realisable value.

(b) The Balance sheet should show stock subdivided into main categories.
These are not defined. It is worth noting that the Companies Acts
require a specific classification into:
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(i) raw materials and consumables
(ii) work-in-progress
(iii) finished goods
(iv) payments made to suppliers on account.

9.4 FIXED ASSETS - DEPRECIATION (SSAP 12)
9.4.1 Purpose of the standard

Prior to the issue of this standard in 1977 the charging of depreciation
within accounts was normal practice, but there had never been a formal
definition of depreciation written down. Views expressed include ‘the
setting aside of funds towards replacement’ to ‘the simple allocation
of cost to accounting periods’. The Standard includes a definition of
depreciation. It also deals with various areas of change which arise in
a period affecting depreciation, and the thorny problem of depreciating
freehold buildings. It was common practice at that time to view such
depreciation as unnecessary, since freehold property prices were increasing.
This latter problem was not fully resolved until the issue of SSAP 19
dealing with investment properties. This is dealt with in Section 9.5
below.

9.4.2 Definition

Depreciation is the measure of the wearing out, or consumption of a fixed
asset whether arising from use, effluxion of time or obsolescence through
technology and market changes.

9.4.3 Accounting points

(a) Depreciation is necessary for all assets with a finite useful life (with
the exception of investment properties). In particular, this includes
freehold buildings.

(b) Depreciation should be provided by allocating the cost (or revalued
amount) less the estimated residual value of fixed assets as fairly as
possible to the periods expected to benefit from their use. No indi-
cation is given of which method of depreciation should be used in a
particular situation. However, the ‘as fairly as possible’ requirement
would be met in the following instances:
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Method Typical example

Straight-line Leasehold property and freehold buildings,

Reducing-balance Motor-vehicles since the value of the asset

Usage (hourly, mileage) Assets which are hired out since the charge

Extraction Quarry or mine, since the asset is consumed

since usage is spread evenly over useful life

will fall steeply in the earliest years, and
less in the later years when repair costs will
be higher

will match the revenue earned

and revenue earned as material is extracted

©)

@

e

()

Revaluation of an asset during a period. Depreciation should continue
to be allocated, and based on the revalued amount, since the asset’s
life has not changed.

Change in the method of depreciation in order to allocate more fairly
the cost or revalued amount. No alteration to past-period provisions
should be made. The net book value brought forward from the previous
period will be depreciated on the new method beginning in the current
period.

Revision in the estimate of useful life. No alteration to past-period
provisions should be made, since it is accepted that accounting esti-
mates may require periodic revision. The rate of depreciation is
simply increased or decreased in the future, beginning in the current
period.

Where the recoverable amount of an asset falls below its net book
value, then there should be an immediate write down to recoverable
amount. This amount is then depreciated over the remaining life.

9.4.4 Disclosure

(2
(b)

©
@

Accounting policies regarding methods and rates or useful lives for
each major class of depreciable asset;

Total depreciation allocated, gross depreciable amount (cost or
revaluation) and accumulated depreciation for each major class of
depreciable asset;

Effect of a revaluation in the period on that period’s result;

Effect of a change in method of depreciation in the period on that
period’s results.
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9.5 FIXED ASSETS - INVESTMENT PROPERTIES (SSAP 19)
9.5.1 Purpose of the Standard

As indicated in subsection 9.4.1 above, it was common practice prior to
1977 not to depreciate freehold property. While SSAP 12 required depreci-
ation of assets with a finite life, which includes the buildings element
of freehold property occupied by a business, this later standard attempted
to identify situations where property could justifiably avoid depreciation,
and to indicate alternative procedures.

9.5.2 Definition
Investment property is an interest in land and/or buildings:

(a) in respect of which construction work and development have been
completed; and

(b) which is held for its investment potential, any rental income being
negotiated at arm’s length.

The following are exceptions from the definition:

(a) A property which is owned and occupied by a company for its own
purposes is not an investment property.

(b) A property let to and occupied by another group company is not an
investment property for the purposes of its own accounts or the
group accounts.

9.5.3 Accounting points

(a) No depreciation should be allocated.

(b) Investment properties should be stated in the Balance sheet at open
market value.

(c) Surpluses and deficits on revaluation should be taken directly to
an investment property revaluation reserve without passing through
the Profit and loss account.

9.5.4 Disclosure

(a) Investment properties should be separated from other assets.

(b) Investment revaluation reserve should be disclosed, together with
movements.

(c) Names or qualifications of the persons making the valuation.
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(d) Basis of valuation.
(e) Indicate if the valuer is an employee or officer of the company.

9.6 FIXED ASSETS - GOVERNMENT GRANTS (SSAP 4)
9.6.1 Purpose of the standard

The Standard distinguishes between grants related to assets which are
used over a number of periods (capital) and those relating to a single
period (revenue). In relation to capital grants it excludes ‘two treatments
on the grounds of failure to match-up. These two treatments are im-
mediate credit to Profit and loss account and credit to a non-distributable
reserve.

9.6.2 Definitions

(a) Capital-based grants

Grants which relate to fixed assets.
(b) Revenue-based grants

Any other grants.

9.6.3 Accounting points

(a) Capital-based grants should be credited to revenue over the expected
useful life of the asset. Two techniques are possible:

(i) Deduct the grant from the assets cost, or
(i) Credit the grant to a separate deferred Credit account, which is
released to the Profit and loss account over the assets life.

Example 2
Deduct Deferred
from cost credit
£ £
Asset at gross cost 1,000 1,000
Grant (150) (150)

Net cost included in fixed assets £850
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Depreciation (say 10%) 85 100
Grant released to Profit and loss

account (also 10%) - (15)
Net effect on profit £85 £85

The depreciation charge will be disclosed at differing amounts. The grant

credited in the Profit and loss account need not be disclosed.

(b) Revenue-based grants should be included in the Profit and loss account
in the period when the related expenditure is charged.

9.6.4 Disclosure

(a) The treatment adopted for capital-based grants.

(b) The amount of deferred credit (where that option was selected),
which should be separate and never be included in capital or re-
serves.

9.7 EXTRAORDINARY ITEMS, EXCEPTIONAL ITEMS AND PRIOR-
YEAR ADJUSTMENTS (SSAP 6)

9.7.1 Purpose of the Standard

Prior to the issue of this Standard in 1974, companies would frequently
write-off large items directly to reserves without disclosure in the Profit
and loss account. This treatment could be used to mask embarrassing
items of loss. The Standard requires that all items of profit or loss be
disclosed in the Profit and loss account, but draws a distinction between
those arising from ordinary events and those from extraordinary events.

9.7.2 Definitions

(a) Extraordinary items are those items which derive from activities of
the business and which are both material and expected not to recur
frequently or regularly. They do not include items which, though
exceptional on account of size and incidence (and which may there-
fore require separate disclosure), derive from the ordinary activities
of the business. Neither do they include prior-year items merely because
they relate to a prior year.

(b) Prior-year adjustments are those material adjustments applicable to
prior years arising from changes in accounting policies and from the
correction of fundamental errors. They do not include the normal
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recurring corrections and adjustments of accounting estimates made

in prior years.

9.7.3 Examples of extraordinary and exceptional items

Extraordinary

Exceptional

(a) Discontinuance of a significant (a) Ration